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Section : General Ability1

Q.1 If BRAIN is coded as 4-20-3-11-16, then what is the code for CLERK?
Ans X" A 3-12-5-18-11

/X B.4-13-6-19-12
75 C.6-15-8-21-14

o D.514-7:2013

,C“ . Question ID : 2752285642

N
Q.2 Select the option that is related to the third term on the same basis %econd term is
related to the first term. Q
Cricket : 11 :: Football : ? 6(0
Ans  of A 11 \2\(0

/X B.12 $
/5 c.10 \$
75 D.14 $

Question ID : 2752285638

Q.3 If A@ B means A is the father of B, A + B means A is the wife of B and A - B means A is the
mother of B, then what does P + Q @ R - S mean?

Ans X A Pis the wife of S
J B. P is the grandmother of S
75 C.Pisthesisterof S

Z< D.Pisthe mother of S

Question ID : 2752285646
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Q.4 Out of the given options, three are similar in a certain manner. However, one option is NOT
like the other three. Select the option which is different from the rest.

Ans X A VSY

75 B.KHN
/X c.pms
o D.UVE

Question ID : 2752285637

Q.5 In a certain code language,
bi zi si mi means let's wait for her,
fi li zi means come wait here,
mi di bi ti means let's play with her,
what is the code for 'for'?

Ans X A bi

Question ID : 2752285645

Q.6 Find the missing term in the following series:

RPT, , ZXB, DBF, HFJ
Ans X" A USY

/X B.VSZ
o c.vTx
75 D.URP

Question ID : 2752285632

Q.7 Select the pair that is related on the same basis to the pair given in the question.

PDN:SAQ:?
Ans  of A SHB:VEE

75 B.TPA:VNB
/5 C.KMC: MJE
#< D.LSR:0QW

Question ID : 2752285640
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Q.8 39 ST T Tg R St et # &) 1S S @ 99 uhR @ Sefdd g1
wafr: FR:?
Ans X A dar:wd
/< B.Rar: =g
/X C. TR ed
o D. ot

Question ID : 2752285641

Q.9 Arrange the given words in the sequence in which they occur in the dictionary.

1. HACKLED
2. HACKER
3. HABITAT
4. HALOGEN
5. HALFWAY

Ans X" A 3,1,2,4,5
< B.21,345
/K C.1,2453
o D.32154

P

v \\

G)§ Question ID : 2752285631

3

-

Q.10 Select the option that is related to the third term on the same basis as}§::second termis
related to the first term. (\

,06

OVY:SZC: FRW:?
Ans  of A JvA

/< B.GUZ .
X C.Kvy $$$
75 D.HVY

Question ID : 2752285639

Q.11 Manisha and Sanjana are good in Geography and Hindi. Akansha and Manisha are good in
Hindi and Chemistry. Akansha, Preksha and Naman are good in Chemistry and English.
Naman and Akansha are good in Chemistry and Maths. Preksha and Sanjana are good in
English and Geography. Who among the following is good in Chemistry, English and Maths
but not in Hindi?

Ans X A. Manisha
x B. Akansha

J C. Naman

x D. Preksha

Question ID : 2752285649
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Q.12 fu 7y fAaeredt & &, A7 ver AfYa a8 @ gur &1 greiifer, Tar fAerea 3=y 9 & a=vg =& 21
39 farehe &1 w09 &2 St =T @ 31T 81

Ans B A e R
#< B. TSl : URTeRATT
X C.HRd e
o D. gt ey

Question ID : 2752285636

Q.13 Out of the given options, three are similar in a certain manner. However, one option is NOT
like the other three. Select the option which is different from the rest.

Ans X" A ND:RB
of B WH:ZE
/< c.ps:TQ
<5 D.FN:JL

Question ID : 2752285635

Q.14 Choose the wrong term in the following series:

CEZ, DGY, EIX, FKW, GNV QO

Ans N\

W A GNy \Q%,

75 B.DGY SO

75 c.Cez Q(b

75 D.FKW 6(0

o4
$ . Question ID : 2752285633

N
Q.15 If MEAN = 32, FLAKE = 50, ANIMAL = 72, then@at is the code for SCENARIO?

Ans XA 72
/X B.64
of c 128
K D112

Question ID : 2752285643

Q.16 feu 7y faeredl & &, A ver AfYa T8S @ Tu= &1 greiifer, Ter fereu 3= 9 & a=g =& 21
39 faereq &1 99 R S 3T I I 21

Ans X A IR

/< B

/X C. i
o 0. g

Question ID : 2752285634
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Q.17 Find the wrong term in the following series:

S0, GK, BF, WA

Ans  of A SO
75 B.WA
/X C.BF
75 D.GK

Question ID : 2752285630

Q.18 In a queue, Manish is 5th from the left and Sachin is 7th from the right. Both of them
interchange their positions and now Manish becomes 12th from the left. How many people
were there in the queue?

Ans XA 16
< B.19
W c s
75 D24

Question ID : 2752285648

Q.19 Lalita is shorter than Gagan but taller than Prerna. Binita is taller than Gagan but shorter
than Danish. Who is the shortest of all?

Ans X" A Danish 60
/X< B. Lalita (03

« C. Prerna ,b(\
x D. Gagan 6

$ : Question ID : 2752285647

Q.20 If DRONE is coded as FUSSK, then what is the c§de for FLASH?
Ans X" A HNCUJ

75 B.HODYM

o C.HOEXN

75 D.HPDYO

Question ID : 2752285644

Section : General Ability2
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Q.1 Which of the following Venn diagrams best represents the relationship between reptile,
snake and rat ?

S

/< B

QOO

o

x

Question ID : 2752285660

Q.2 Which two numbers should be interchanged to make the below equation mathéh&cally

correct? ‘Q%
62+6x 105 + 3 - 25 = 247 30
Ans XA 62,25 (\(b
/X B.62,6 6{0

of 6105 \2\(0
75 D.6,25 $
&

Question ID : 2752285654
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Q.3 Which of the following answer figure completes the series of the question figure?

ololo
(&)
J¢ O\.J

< O 1O
/i AR o
AL 7

Ans

SOA

<
)
7

(A

Vo

o L5
ver—&

<
s A
A

Question ID : 2752285664

Q.4 In the question a statement is given, followed by two arguments, | and Il. You have to
consider the statements to be true even if it seems to be at variance from commonly known
facts. You have to decide which of the given conclusions, if any, follows from the given
statement.

Statement: Should India support all the decisions and policies made by Pakistan.
Arguments:
I. Yes, as this is the only way to maintain peace among both the nations.

Il. No, as India should have it's own opinion on the decisions and policies made by Pakistan
as some may be correct and some may be incorrect.

Ans X A. Either argument | or argument Il is strong
( B. Only argument Il is strong
X C. Only argument | is strong

X D. Neither argument | nor argument Il is strong

Question ID : 2752285650
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Q.5 Which of the following answer figure patterns can be combined to make the question
figure?

2SN

N
17

Question ID : 2752285667
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Q.6 In the question two statements are given, followed by two conclusions, | and Il. You have to
consider the statements to be true even if it seems to be at variance from commonly known
facts. You have to decide which of the given conclusions, if any, follows from the given
statements.

Statement 1 : Some schools are colleges.
Statement 2 : Some colleges are universities.

Conclusion | : Some schools are universities.
Conclusion Il : No university is school.

Ans ( A. Either conclusion | or Il follows
X B. Only conclusion Il follows
X C. Only conclusion | follows

X D. Both conclusions | and Il follows

Question ID : 2752285651

Q.7 The given Venn diagram shows the number of students in a class who likes 5 star, Perk and
Munch. There are 100 students in the class. How many of these students do not like any of
them?

Perk Munch

5 - Star

Ans 3" A 10
W B 11
S co2
S D5

Question ID : 2752285661
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Q.8 In the following figure, triangle represents animals, rectangle represents four legged, circle

Ans

represents herbivorous. Which area represents four legged animals who are herbivorous?

&OAF
o BE
& C.G
/5 D.D

Question ID : 2752285659
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Q.9 Select the option that is related to the third image on the same basis as the second image is

Ans

related to the first image.

W D

PNRREE

Question ID : 2752285663

Q.10 Find the wrong number in the following number series:

Ans

0.0384, 0.192, 0.96, 4.6, 24

of Ad6
< B.0.96
< C.0.192
< D.0.0384

Question ID : 2752285657
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Q.11 In the question one statement is given, followed by two reasons, | and Il. You have to
consider the statements to be true even if it seems to be at variance from commonly known
facts. You have to decide which of the given reasons, if any, follows from the given
statement.

Statement : The prices of food grains in the last quarter have increased substantially.

Reason | : There was a shortage of supply because of poor rainfall during the last quarter.
Reason Il : Farmers have become greedy and they want more money.

Ans X A. Both conclusions | and Il follows
« B. Only reason | follows
X C. Neither conclusion I nor Il follows

X D. Only reason Il follows

Question ID : 2752285653

Q.12 The given Venn diagram shows the number of children who love Pineapple, Apple and
Mango. How many of these children only like any one fruit?

Pineapple Mango

A
(SN

Apple

Ans X' A 37
25 B.25
/< cos
W D.53

Question ID : 2752285658

Q.13 If 16$8 = 36; 1783 = 30; 2284 = 39; then find the value of 32$6 = ?

Ans  of A 57
< B.54
< c.76
5 D.38

Question ID : 2752285655
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Q.14 In the question one statement is given, followed by two conclusions, | and Il. You have to
consider the statements to be true even if it seems to be at variance from commonly known
facts. You have to decide which of the given conclusions, if any, follows from the given
statement.

Statement : Aman is shortlisted for the interview process based on his application for the
post of Investment Analyst at BCD Firm.

Conclusion | : Aman will be selected as the Investment Analyst at BCD Firm.
Conclusion Il : Aman will not be selected as the Investment Analyst at BCD Firm.

Ans X A. Only conclusion Il follows
\f B. Either conclusion | or Il follows
X C. Only conclusion | follows

X D. Neither conclusion | nor Il follows

Question ID : 2752285652

Q.15 If a mirror is placed on the line MN, then which of the answer figures is the right image of
the given figure?

Ans

Question ID : 2752285668




Join Telegram Group "HaryanadJobs.in"

Q.16 Out of the given options, three are similar in a certain manner. However, one option is NOT
like the other three. Select the option which is different from the rest.

Ans  off A 14182

/5 B.16272

25 C.22-506

/5 D. 18342

Question ID : 2752285656

Q.17 Out of the given options, three are similar in a certain manner. However, one option is NOT
like the other three. Select the option which is different from the rest.

Ans

Question ID : 2752285665
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Q.18 Find the missing figure in the following matrix.

17 | 19 | 23

24 | 36 | 48

25 ? |39

Ans X" A 17
/< B.37
W C.31
25 D.55

Question ID : 2752285662

Q.19 Which of the following cube in the answer figure can be made based on the unfolded cube
in the question figure?

Ans : ...'-
Q_,A. . .
xofE
5 c :‘:'.-.
KDl o Yo,

Question ID : 2752285666
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Q.20 How many circles are there in the given question figure?

Question ID : 2752285669

*
Section : General Awareness1 %

=~

Q.1 Which among the following components is added to the Gross Dome%b roduct to arrive at

the Net National Product? (\
Ans X A. Tax payments *{0
x B. Depreciation (&

J C. Income from Abroad $ .
x D. Transfer payments $$

Question ID : 2752285675

Q.2 Ferns belongs to which of the following divisions of the plant kingdom?

Ans X" A Gymnosperms
X B. Thallophyta
x C. Angiosperms

J D. Pteridophyta

Question ID : 2752285681

Q.3 The Indian Ocean is boundedby _________in the east.
Ans X' A Antarctica

J B. Australia

x C. Africa
X D. Iran

Question ID : 2752285685
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Q.4 Nepal shares it's borders with which of the following Indian states?
Ans I A. West Bengal

x B. Punjab

x C. Rajasthan

x D. Mizoram

Question ID : 2752285684

Q.5 The Marfa music is associated with which of the following cities?
Ans X A Kolkata

x B. Nagpur
X C. Bangalore
f D. Hyderabad

Question ID : 2752285671

Q.6 Which among the following banks is not a public sector bank?
Ans X" A United Bank of India
x B. Syndicate Bank

$

x C. Central Bank of India 23

« D. Lakshmi Vilas Bank 560
&

(50 Question ID : 2752285674

P

N
Q.7 As announced in the Budget 2020, Jan Aushadhi Kend% me has been introduced to
t

offer 2000 medicines and 300 surgicals in all district e year
Ans X" A 2023 \$$
/X B.2025 @
75 C.2022
o D.2024

Question ID : 2752285678

Q.8 fa=fafEa d @ &+ Sigd Aoft 1 I o1 TR 22
Ans fA.?iﬁﬁ

/< B. geufear e

X c.emg

/X D.gdar

Question ID : 2752285680
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Q.9 Who among the following was the founder of the Kalachuri Dynasty?
Ans X" A Ashoka

“ B. Kokalla |

x C. Gangeyadeva
75 D.Kokalla Il

Question ID : 2752285688

Q.10 Eravimala, which is the highest peak located in the Anamalai Hills in the Western Ghats, is
located in which of the following states?

Ans X' A Karnataka

X B. Tamil Nadu

I C. Kerala

X D. Maharashtra

Question ID : 2752285687

Q.11 When was the Sadharan Brahmo Samaj of Calcutta founded?
Ans X" A 1884

of 81878 &
< c.1892 o

AS)
#< D.1866 @50

>

Question ID : 2752285689

,36

Q.12 When was the Small Industries Development Bank of R@ established?
Ans X" A 1984 \$$ ‘

o B.1990 $

#X €.1995

75 D.1998

Question ID : 2752285676

Q.13 Which among the following rivers is also known as 'Gorakhpur's Sorrow'?
Ans x A. West Kosi

x B. West Jhelum
75 C. West Gandak

f D. West Rapti

Question ID : 2752285686
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Q.14 Which among the following laws states that the current passing through a conductor
between two points is directly proportional to the potential difference across the two points
provided the physical state and temperature etc. of the conductor does not change?

Ans X" A Coulomb's Law
X B. Pascal’s Law
f C. Ohm's Law

X D. Avogadro's Law

Question ID : 2752285682

Q.15 Dhol Cholom, a drum dance, is one of the dances performed during which of the following
festivals in Manipur?

Ans " A Navratri

o B Holi

x C. Ganesh Chaturthi

75 D.Diwali

Question ID : 2752285673

Q.16 The Shalimar Garden of Jammu and Kashmir was built by which of the following Mughal

emperor? . Q
Ans " A Aurangzeb %§

x B. Babur
“ C. Jahangir 0(03
X D. Shah Jahan *(b

\

\2\ Question ID : 2752285670

.

Q.17 Which among the following is not an exhausti@'gsource?

Ans X" A Petroleum

x B. Natural gas
X C. Coal
J D. Biogas

Question ID : 2752285679

Q.18 As announced in the Budget 2020, basic customs duty on imports of news print and light-
weight coated paper has been reduced from 10 percent to

Ans X' A 6 percent

x B. 4 percent
X C. 7 percent

J D. 5 percent

Question ID : 2752285677
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Q.19 Karma is a harvest festival which is held on the 11th day of a Purnima of the Hindu month of

Ans JA. Bhado

75 B. Chaith

x C. Phagun

75 D. Kartik

Question ID : 2752285672

Q.20 Swachh Vidyalaya is the national campaign driving
Ans X" A Ek kadam Swachh Vidyalaya ki aur

x B. Clean Schools - The Future of India
J C. Clean India: Clean Schools

x D. Schools and Cleanliness

Question ID : 2752285683

Section : General Awareness2

O\
NS
Q.1 Apart from India, which of the following countries is unlikely to be hit by the %b\l
recession as analysed by the United Nations in March 2020?

Ans X A. United Kingdom (0360

X B. United States (b‘Q
x C. France 6

o
« D. China \2\
$ B

§ Question ID : 2752285700

Q.2 The Under-17 Women’s World Cup which was scheduled to be playedin____ 2020,
has been postponed by the Federation Internationale de Football Association (FIFA) or the
International Federation of Association Football .

Ans « A. November
x B. October
X C. December
x D. September

Question ID : 2752285708

Q.3 Who among the following was known as the "Young Turk"?

Ans J A. Chandra Shekhar
x B. Ashutosh Mukheriji
X C. Jawaharlal Nehru

x D. Bal Gangadhar Tilak

Question ID : 2752285694
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Q.4 The 2021 World Games that was scheduled to be held in Birmingham, Alabama is
postponed to .

Ans X" A 2025

/X B.2023
/< C.2024
o D.2022

Question ID : 2752285706

Q.5 When was the Akali movement started?
Ans X" A 1925

75 B.1935
o c.1920
#5 D.1930

Question ID : 2752285692

Q.6 The quorum for the meeting of the Rajya Sabha is fixed at of the total members.
Ans x A. one-seventh

J B. one-tenth ~®
x C. one-ninth \06 ’
. O
x D. one-sixth
@5

>

Question ID : 2752285701

,36

Q.7 Which among the following is a low-cost energy efﬁcieh(v\entilator made by the Rail Coach
Factory, Kapurthala? ‘

Ans X' A Praan &&

I B. Jeevan
x C. Zindagi
75 D.Life

Question ID : 2752285698

Q.8 Which among the following books is not written by Chetan Bhagat?
Ans " A One Indian Girl

75 B. Revolution 2020
X C. What Young India Wants

f D. Sons and Lovers

Question ID : 2752285695
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Q.9 Who among the following is the Governor of the Reserve Bank of India as of April 2020?
Ans X" A Raghuram Rajan

J B. Shaktikanta Das
x C. Nirmala Sitharaman

#5 D. Urjit Patel

Question ID : 2752285696

Q.10 Which among the following awards are famously known as 'Oscars'?
Ans J A. Academy Awards

x B. Grammy Awards
x C. Golden Globe Awards

x D. Emmy Awards

Question ID : 2752285693

Q.11 Which among the following Parts of the Indian Constitution is related with the special
provisions relating to certain classes?

Ans XA XV
o B xvi Q&
K C.XIv ‘Q%‘
25 DX BO
o

>

Question ID : 2752285704

,36

Q.12 Which among the following is the first country that has won 5 men's and 6 women's world
cup titles in cricket till April 2020? $ ‘

Ans J A. Australia &&

x B. England
X C. India

x D. New Zealand

Question ID : 2752285709

Q.13 Which among the following movements was also known as the August Movement?
Ans X" A Dandi March

f B. Quit India Movement
X C. Khilafat Movement

x D. Simon Go Back Movement

Question ID : 2752285691
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Q.14 Which among the following teams won the first edition of the ICC Women's T20 World Cup
in 2009?

Ans X A India

J B. England

x C. Australia

X D. New Zealand

Question ID : 2752285707

Q.15 Who was the chairman of the States Committee of the Constituent Assembly?
Ans x A. B.R. Ambedkar

J B. Jawaharlal Nehru
x C. Rajendra Prasad

x D. Gopinath Bardoloi

Question ID : 2752285702

Q.16 Which among the following Governments has launched “Mo Prativa” programme in
collaboration with UNICEF (United Nations Children’s Funds)?

Ans X" A West Bengal

x B. Maharashtra %.
x C. Karnataka 3

I D. Odisha
,b(\

6 Question ID : 2752285699

N\
Q.17 Which among the following institutions launched tI-@A‘FE scheme in March 2020?

Ans X" A RBI $

75 B.NABARD

o c.sioBi
75 D.SEBI

Question ID : 2752285697

Q.18 When did the Khilafat movement start?
Ans X" A 1935

/< B.1928
of c.1919
75 D.1892

Question ID : 2752285690
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Q.19 Who among the following Indian Football players has been chosen for the FIFA Campaign to
spread awareness for COVID 19?

Ans X" A Manpreet Singh
x B. Harmanpreet Singh
X C. Gurinder Singh
o D. Sunil Chhetri

Question ID : 2752285705

Q.20 Which among the following Amendment Bills is known as the ‘Women Reservation Bill’ ?
Ans X" A 105

/< B.110
o C 108
/< D.102

Question ID : 2752285703

Section : Arithmetic Ability1
O\

S
Q.1 180 percent of a number is 972. What will be 240 percent of that number? %3

Ans X" A 1386 60

o B.129 @3
25 c.1080 ﬁfb(\
75 D.540 \2\"&

§ Question ID : 2752285718

~
Q.2 A merchant agrees to give a discount of 10 percent on cost price of wheat but gives away
only 800 gm for every 1 Kg weight of wheat. What is his profit percent?

Ans X" A 8.5 percent
X B. 10 percent
« C. 12.5 percent

X D. 11.5 percent

Question ID : 2752285716

Q.3 Kabir and Anushka sells some articles for Rs. 12000 each. Kabir calculates his profit
percent on his cost price and Anushka calculates her profit percent wrongly on selling price.
What is the difference in their profits if both claim to have a profit of 50 percent?

Ans X" A Rs. 4000
75 B.Rs. 6000
75 C.Rs. 1000

o D. Rs. 2000

Question ID : 2752285722
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Q.4 The difference between two numbers is 1500. 6 percent of a number is 8 percent of the
other number. What is the ratio between the two numbers?

Ans A 7:4
W43
K Co6:
K D.5:3

Question ID : 2752285719

Q.5 The average of 6 terms is 35 and the sixth term is half of the remaining terms. What will be
the sixth term?

Ans X' A 60

/< B.105
/5 c.85
W D.70

Question ID : 2752285714

Q.6 @\ # ufar avf ufer goIR 510 & 35 8, STafes afguae gg & ufa af ofa go= 13 g1 ufaa &
fa af s gfg F el A qg gfe wam @7

Ans X A 4.3 ufeE \(\
75 B.5ufa ‘Q%
30
/X C.2ufeE >

o D.22ufrE

(0 Question ID : 2752285720

\ .

Q.7 The ratio between girls and boys in a college is 3:2:If 25 percent of girls and 20 percent of
boys are scholarship holders, then what perc e of the total students do not get
scholarship?

Ans X" A 64 percent
X B. 75 percent
x C. 80 percent

« D. 77 percent

[ Question ID : 2752285725

Q.8 What is the largest 5-digits number divisible by 8, 12 and 22?
Ans X" A 99999

o B.99792

75 C.99978
/< D. 99888

Question ID : 2752285710
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Q.9 In athree digit number, the digit at one's place is thrice the digit at ten's place and double
the digit at hundred's place. What is the number, if the sum of the digits is 11?

Ans X" A 231
75 B. 462

of C 326
75 D.163

Question ID : 2752285712

Q.10 In a horse race, there are four horses P, Q, R and S. The payoff at P is 2:5, at Q is 4:7, at R is
5:9 and at S is 6:11. Amit bets Rs. 3465 on a horse which would fetch maximum amount.
Luckily his horse has won. What is the total amount won by him?

Ans X" A Rs. 5355
75 B.Rs. 4851
< C.Rs. 5390

o D.Rs. 5445

Question ID : 2752285727

Q.11 Three cats X, Y and Z move in such a way that when X takes 6 steps, Y takes 7 steps and Z
takes 8 steps in the same time. 3 steps of X are equal to 4 steps of Y and 5 steps-of Z. What

is the ratio of their speeds? \)
Ans  of A 40:3532 ‘Q% ’
X B. 678 (bbo
< c.31:27:32 (0'(\
< D.3:4:5 {b\A
Q>
$ ’ Question ID : 2752285726

=

Q.12 The marked price of the washing machine is Rs. 2000 more than the money Arpit has. The
shopkeeper offers two successive discounts of 8 percent and 5 percent respectively. Now
Arpit still has Rs. 3040 left after buying the washing machine. What is the marked price of
the washing machine?

Ans 3" A Rs. 50000
75 B.Rs. 48000
o C. Rs. 40000
#< D.Rs. 38000

Question ID : 2752285715

Q.13 The difference between compound interest and simple interest on a certain sum of money
at 4 percent per annum for 2 years is Rs. 80. What is the principal if interest is compounded
annually?

Ans X" A Rs.40000
< B.Rs. 38000
< C.Rs. 45000

o D.Rs. 50000

Question ID : 2752285729
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Q.14 AfAa 30 ufdera fi ge uR g avg S=ar g iR 39 a¥q uR 40 ufaRrd o1 A1 ifSfa awan &1 asg
Y ANT Fo UR Aichd foha=T gim?

Ans X A 50 ufdera
o B.100 ufe
7< . 300 vz
75 D. 200 fdzra

Question ID : 2752285723

Q.15 An amount is to be divided between Ram, Tanish and Veer in the ratio 3 : 8 : 9 respectively.
If Veer gets Rs. 1620 then, what is the share of Ram?

Ans X" A Rs. 1280

75 B.Rs. 980
o C.Rs.540

75 D.Rs. 1440

Question ID : 2752285724

Q.16 A student has to secure 45 percent marks to pass. He gets 294 marks and fails by 66
marks. What are the maximum marks?

Ans 3" A 600 \(\

/5 B.1000 6()
o c.800 ,03
75 D.900

(0 Question ID : 2752285717

\ .

Q.17 The numerator of a rational number is 5 less th: denominator. If the numerator is
increased by 5 and denominator is decreased , then it becomes 3. What was the rational
number?

Ans XA 6/11

B2
/K C.9/14
/< D.8/13

[ Question ID : 2752285711

Q.18 If a pen is sold at 10 percent gain instead of 10 percent loss, then the seller gets Rs. 2
more. What is the cost price of that pen?

Ans X" A Rs.12

/< B.Rs.15
o C.Rs 10
75 D.Rs.5

Question ID : 2752285721
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Q.19 What is the highest common factor of the fractions (4/3), (14/27) and (16/9)?
Ans X' A 16/27

/< B.4/9
/X C.2/9
o D.2/27

Question ID : 2752285713

Q.20 Abhiraj took a loan of Rs. 100000 from a bank at the rate of 9.8 percent p.a. simple interest.
He had to pay Rs. 68600 as interest. What is the time period?

Ans &' A 5years

x B. 2 years
« C. 7 years
x D. 3 years

Question ID : 2752285728

Section : Arithmetic Ability2

O\
NS
Q.1 If 512 identical small spheres are made out of a big sphere of diameter 32 c%t}en what is
the surface area of each small sphere?

Ans « A.16msqcm 360
x B. 14msq cm (OQ@
X C.12rtsqcm 6

o
XD.10nsqcm \2\
&.

§ Question ID : 2752285740

Q.2 P and Q can do aworkin 10 and 15 days respectively. They worked together for 2 days and
then P left. In how many days Q can finish the remaining work?

Ans « A. 10 days

x B. 15 days
X C. 12 days
x D. 8 days

Question ID : 2752285737
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Q.3 The following line graph shows the income (in lakh rupees) of two water purifier
manufacturing companies P and Q over 5 years. What would be the ratio of total income of
these 5 years of Company P to that of Company Q?

——Company P —=Company Q

Income (in lakhs)

2001 2002 2003 2004 2005
Year

Ans X" A 2:3

K B.24:25 \(\
o C.76:71 )

Q
. O
F SR )

(\
2

Question ID : 2752285749

(9
Q.4 A and B can do a work in 120 hours, B and C in 150 homg}nd Cand Ain 100 hours. If A, B
and C worked together then, in how much time they will complete the work?

Ans X" A 5days $$
J B. 3 days and 8 hours
x C. 4 days and 10 hours
x D. 1 day and 16 hours

Question ID : 2752285736

Q.5 Ashita can do a work in 'a’ days and Suman can do the same work in 2a’ days. To finish the
work together they take 10 days. What is the value of 'a'?

Ans " A 12
5 B.10
Wecis
< D16

Question ID : 2752285735
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Q.6 The following table shows the population of India in various years. What is the percentage
increase in population from 1991 to 2011?

— Population
{in crores)
1931 70
1991 81.4
2001 90.5
2011 110.6

Ans X" A 37.59 percent
X B. 40.12 percent
( C. 35.87 percent
X D. 24.69 percent

Question ID : 2752285745

Q.7 Aright circular cone is 6 cm high and the radius is 12 cm. It is melted and recast into a
sphere. What is the diameter of the sphere?

Ans X" A 16cm
XBASCm
< c.10em
W D.12cm

Question ID : 2752285741

Q.8 Abhishek rides a bicycle around a circular path of radius‘100'm. The radius of the wheel of
the bicycle is 150 cm. The bicycle comes to the starting‘point for the first time in 1 hour 40
minutes. What is the number of revolutions of the wheel' in 45 minutes?

Ans (" A 45

W B.30
5 c.40
25 D.35

Question ID : 2752285733
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Q.9 The following line graph shows the average temperature of a city in different months of a
year. What is the decrease percentage of the temperature from May to June?

45 - 42
a0 - 1
CEELE 32
£ 30 - -
& 25
=
E_ 15 o 12
2
IE 10
5 | 3
]
lanuary February March  April May June July
Month
Ans x A. (500/21) percent
Z7< B.(300/17) percent
x C. (200/7) percent
J D. (100/7) percent
<
O o
\Q Question ID : 2752285747
N\
~F

Q.10 A man rides his bike 5 Km at an average speed of 30 Km/hr and tr. a further 10 Km at
an average speed of 20 Km/hr. What is the average speed for th tire trip?

S

\
#% B.25.5kmph \2\{0

25 C.23kmph \$$ ‘
o D.22.5kmph N\

Ans X" A 28.5kmph

Question ID : 2752285734

Q.11 8 men can do a piece of work in 8 days while 16 women can do a piece of work in 5 days. In
how many days 4 men and 5 women together can do this work?

Ans X" A 10 days

« B. 8 days

X C. 14 days

X D. 6 days

Question ID : 2752285738
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Q.12 The following pie chart shows the breakup in degrees the cost of construction of a building.

Ans

Cost of construction of a building
Other

Engineer 15°

20°

x A. 60 percent
X B. 15 percent
J C. 25 percent
X D. 90 percent

The total cost of construction is Rs. 54000000. How much percentage of total amount is
spent on bricks?

QO]

Question ID : 2752285743

Q.13 A car financier claims to be lending money at simple intz

Ans

every six months for calculating principal. If he is chargi
what is the effective rate of interest? $ A

X A. 14 percent $
Q@

X B. 15.19 percent
J C. 14.49 percent

X D. 14.25 percent

(b t he includes the interest
an interest of 14 percent then,

Question ID : 2752285730
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Q.14 The following pie-chart shows the details of 2000 employees of a company in various
scales. How many employees are working on scale I11?

Details of employees

Ans X" A 240
25 B. 500
< c.200
o D. 280

Question ID : 2752285742

Q.15 The following histogram shows the production of wheat from the yearﬁﬁ -2012 to 2017-
2018. By how much percent the production in 2016-2017 increase&@mpared to the
production in 2011-2012? %

PR

600 - \2{0‘ '

Production of wheat (in tonnes)

2011-2012 2012-2013 2013-2014 2014-2015 2015-2016 2016-2017 2017-2018

Years

Ans « A. 100 percent
K B. 200 percent
X C. 128 percent

K D. 80 percent

Question ID : 2752285748
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Q.16 Arpit borrows some money at the rate of 4 percent p.a. for the first three years. He borrows
the money at the rate of 8 percent p.a. for the next 4 years and at the rate of 12 percent p. a.
for the next 5 years. If he pays a total simple interest of Rs. 8320 at the end of 12 years
then, how much money did he borrow?

Ans  of A Rs 8000
75 B.Rs.8300
/5 C.Rs.7320
#5 D.Rs. 6000

Question ID : 2752285731

Q.17 The following bar diagram shows the percentage of two communities- Community X and
Community Y in a state during the years from 1991 to 1997. What was the ratio between
community X and community Y in the year 1995?

o B Community X = Community Y
B gy
= 80
g il 70
£ 40 | 68
E o 58
9 60 55 i
g 50 - a3 a2 =
H oo 38
k-] 32 30
§ 2] » :
E 7 4
g 10 %
g o
1991 1992 1993 1934 1995 1997
Year OS\

Ans X' A 517 Q\(b\ﬂ'
W B0 Q
75 C.25:23 $$
/X D.75:76

Question ID : 2752285746

Q.18 Aditi had to walk a certain distance. She walked one-fourth distance at a speed of 3 Km/hr
and the remaining distance at a speed of 6 Km/hr. If the total time taken was 10 hours, then
what was the total distance?

Ans X" A 50 Kms

o B 48Kms

x C. 40 Kms

75 D.36Kms

Question ID : 2752285732
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Q.19 The following table shows the sales, expenses and capital of a company from 2005 to 2008.
In which year was the ratio of expenses and capital is highest?

Years Sales Expenses Capital
2005 400 200 300
2006 600 200 400
2007 500 300 700
2008 700 300 700
Ans X" A 2008
o B.2005
< C.2006
5 D.2007

Question ID : 2752285744

Q.20 A cylindrical drainage pipe is 70 cm long. The inside and outside diameters are 20 cm and
32 cm respectively. What is the volume of the pipe?

Ans ( A. 34320 cu cm
X B. 28630 cucm
< C.13728 cucm

X D. 24240 cucm

Question ID : 2752285739

Section : General English1

Q.1 Select the word that is closest in meaning (SYNONYM) to the word given below.

REPUGNANT
Ans X" A LIKEABLE

/< B. AGREEABLE

o/ C. ABOMINABLE

5 D. RECREANT

Question ID : 2752285768
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Q.2 Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the
option that gives the correct sequence in which these parts can be rearranged to form a
meaningful and grammatically correct sentence.

Distillation may result

P: that increases the

Q: in essentially complete separation,
R: concentration of selected

S: or it may be a partial separation

components in the mixture.
Ans " A RPSQ

/< B.RPQS

< C.QSRP

o D.QspPr

Question ID : 2752285764

Q.3 Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully. Select the option 'no correction required' if the
sentence is correct as given.

Detailed knowledge of fission and fusion weapons is (proliferated) to some degree in
virtually every industrialized nation.

Ans « A. classified »§\
X B. privileged %
- o
X C. mocked 3
#5 D. No Correction Required (b’(\

\2{0‘ Question ID : 2752285755

Q.4 Select the word that is the opposite meaning (A@M) to the word given below.

VEHEMENT $
Ans 3" A ARDENT

o B.GENTLE
2% C.FERVENT

#% D.POTENT

Question ID : 2752285767

Q.5 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

The servicing and government sectors, where output (1)/ per hour and productivity growth

is low, last saw increases in their shares of the (2)/ economy and employment during the
1990s. (3)/ No Error (4)

Ans X" A No Error
« B. The servicing and government sectors, where output
X C. economy and employment during the 1990s.

X D. per hour and productivity growth is low, last saw increases in their shares of the

Question ID : 2752285753
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Q.6 Select the word that is closest in meaning (SYNONYM) to the word given below.

ACUMEN
Ans " A IGNORANCE

< B. ELICITATION
o C.INGENUITY

< D. MISINTERPRETATION

Question ID : 2752285769

Q.7 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

Not having clear legal title to properly limits (1)/ its potential to be used as collateral to (2)/
secure loans, depriving many poor countries. (3)/ No Error (4)

Ans X A. No Error
« B. Not having clear legal title to properly limits
K C. secure loans, depriving many poor countries.

X D. its potential to be used as collateral to

Question ID : 2752285752

P
S8

R

Q.8 Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. @bt the
option that gives the correct sequence in which these parts can be rearr@d to forma
meaningful and grammatically correct sentence.

The first is that the objective (b»g\

P: to the home, on the justified premise \
Q: that one's religion is a personal matter and is not {b
R: determined effort to restrict religious practices \2\

S: will not be reached unless there is a .

conducive to mass assertiveness. §
Ans X" A SRQP

o B.SrPQ

/5 C.QPSR
/< D.QPRS

Question ID : 2752285763

Q.9 Fill in the blank with the appropriate word.

Human population control is the practice of the rate of growth of a human

population.
Ans " A stagnating

« B. altering
K C. destroying
X D. preserving

Question ID : 2752285759
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Q.10 Some parts of a passage have been jumbled up, and labelled P, Q, R and S. Select the option
that gives the correct sequence in which these parts can be rearranged to form a
meaningful passage.

Glassblowing is a glass-forming technique that involves inflating molten glass into a bubble
with the aid of a blowpipe.

P. Mold-blowing is an alternative glassblowing method that came after the invention of free-
blowing.

Q. A lampworker is also a glassblower but manipulates glass with the use of a torchon a
smaller scale.

R. A person who blows glass is called a glassbhlower, glassmith, or gaffer.

S. It is a tube through which a stream of air or gas is forced into a flame to concentrate and
increase its heating action.

There are two types of mold, namely single-piece molds and multi-piece molds, are
frequently used to produce mold-blown vessels.

Ans  of A SRQP
25 B.QPRS
/< C.RPQS
/< D.PRQS

Question ID : 2752285765

Q.11 Fill in the blank with the appropriate word.

The British East India Company, by the 18th century, had entered the Indian political
and established its dominance over other European powers.

Ans 3" A languor

« B. theatre

X C. lineament

Z5 D.inaction

Question ID : 2752285762

Q.12 Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully. Select the option 'no correction required' if the
sentence is correct as given.

Standpoint theory's most important concept is that an individual's own (speculates) are
shaped by his or her social and political experiences.

Ans X" A perseverance
X B. perception
« C. perspectives
X D. No Correction Required

Question ID : 2752285757
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Q.13 Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully. Select the option 'no correction required' if the
sentence is correct as given.

The words "opacity” and "opaque" are often used as (sequential) terms for objects or media.
However, there is also a specific, quantitative definition of "opacity", used in astronomy,
plasma physics, and other fields.

Ans 3" A demographical

« B. colloquial

7% C. metaphorical

X D. No Correction Required

Question ID : 2752285758

Q.14 Some parts of a passage have been jumbled up, and labelled P, Q, R and S. Select the option
that gives the correct sequence in which these parts can be rearranged to form a
meaningful passage.

A supernova is a powerful and luminous stellar explosion.

P: A black hole as mentioned above is expected to form when very massive stars collapse
at the end of their life cycle; it is region of spacetime where gravity is so strong that nothing
—no particles or even electromagnetic radiation such as light—can escape from it.

Q: This transient astronomical event occurs during the last evolutionary stages of a massive
star or when a white dwarf is triggered into runaway nuclear fusion.

R: The peak optical luminosity of a supernova can be comparable to that of an entire galaxy,
before fading over several weeks or months.

S: The original form of the white dwarf, called the progenitor, either collapses'tora neutron
star or black hole, or it is completely destroyed.

The theory of general relativity predicts that a sufficiently compact mass can deform
spacetime to form a black hole.

Ans X" A RSPQ
/< B.SPRQ
75 C.PQRS
of D.QsrP

Question ID : 2752285766

Q.15 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

A country's level of human capital is (1)/ difficult to be measure since it is created (2)/ at
home, at school, and on the job. (3)/ No Error (4)

Ans X A. A country's level of human capital is
X B. at home, at school, and on the job.
X C. No Error

{ D. difficult to be measure since it is created

Question ID : 2752285751
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Q.16 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

In line with the predictions of the Malthusian theory, a cross-country analysis (1)/ finds a

significant positive affect of the technical level on population density (2)/ and insignificant
effect on income per significantly over the years. (3)/ No Error (4)

Ans x A. No Error
« B. finds a significant positive affect of the technical level on population density
x C. In line with the predictions of the Malthusian theory, a cross-country analysis

x D. and insignificant effect on income per significantly over the years.

Question ID : 2752285754

Q.17 Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully. Select the option 'no correction required' if the
sentence is correct as given.

Heating or electricity is one of the most (considered) costs in the operation of greenhouses
across the globe, especially in colder climates.

Ans X" A consideration
X B. No Correction Required

J C. considerable

X D. considering .
N

\e?4
\BQ Question ID : 2752285756

4

Q.18 Fill in the blank with the appropriate word. (\

The rich religious literature unwritten secular literature pass@own from one generation to
anotherintheformof _______ chants.

Ans x A. swarthy $ .
« B. sacerdotal $
N

x C. atheistical

x D. notonectal

Question ID : 2752285760

Q.19 Fill in the blank with the appropriate word.

The Satavahanas are known for their _________ of Hinduism and Buddhism, which resulted in
the construction of Buddhist monuments from Ellora to Amaravati.

Ans « A. patronage
x B. partitioning
X C. antagonism

x D. obstruction

Question ID : 2752285761
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Q.20 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error'.

Living standards very widely from country to country, and (1)/ furthermore the change in
living standards over time varies (2)/ widely from country to country. (3)/ No Error (4)

Ans J A. Living standards very widely from country to country, and

x B. No Error

X C. furthermore the change in living standards over time varies

x D. widely from country to country.

Question ID : 2752285750

Section : General English2

Q.1 Four words are given, out of which only one word is spelt correctly. Choose the correctly
spelt word.

Ans X" A GIMICKEY
75 B. GIMMICKEY

o C.GIMMICKY

75 D. GIMICKY
$

\Q% Question ID : 2752285776

A\

J
Q.2 Four words are given, out of which only one word is spelt correctlyciaose the correctly
spelt word.

Ans X A IGNOMINI 6(0
75 B.IGNONIMINY °
o C.IGNOMINY $$
#< D.IGNONIMINI $

Question ID : 2752285773

Q.3 Select the most appropriate ‘one word' for the expressions given below.

A small portion or limited quantity
Ans  off A Modicum

X B. Onerous

x C. Munificent

X D. Entirety

Question ID : 2752285784




Join Telegram Group "HaryanaJobs.in"

Q.4 Select the most appropriate meaning of the given idiom.

“Back against the wall”

Ans X A. To be forced into doing something wrong.
I B. Be in a difficult situation from where escape is difficult.
X C. Being in an intimate position.

x D. To run away from the truth.

Question ID : 2752285778

Q.5 Select the most appropriate ‘one word' for the expressions given below.

To impart or suggest in an artful or indirect way
Ans X" A Withhold

X B. Conceal

75 C. With draw

J D. Insinuate

Question ID : 2752285781

Q.6 Select the word that is closest in meaning (SYNONYM) to the word given below. Q
CHURLISH S°
Ans X" A RELIGIOUS \
o B.SULLEN Q(b
#< C.EXORBITANT 6(0
75 D. REFINED \2\(0

&.

Q) Question D : 2752285770

)

Q.7 Four words are given, out of which only one word is spelt correctly. Choose the correctly
spelt word.

Ans X" A BELVEDER
/< B.BEVELDERE
#< C.BEVELDER

o D. BELVEDERE

Question ID : 2752285772

Q.8 Select the word that is the opposite meaning (ANTONYM) to the word given below.

TEMPESTUOUS
Ans o A APATHETIC

#< B.FURIOUS
75 C.NEFARIOUS

#5 D. IMPASSIONED

Question ID : 2752285771
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Q.9 Select the most appropriate meaning of the given idiom.

“Head over heels”

Ans x A. A stupid person or a person with low IQ.
x B. Wrongly understanding something.
X C. In a precarious position.

J D. Being completely in love.

Question ID : 2752285777

Q.10 Select the most appropriate meaning of the given idiom.

“Bend over backwards”

Ans X A. To take a step back to avoid the situation.
x B. Being very physically fit, active and agile.
J C. To try to please or accommodate someone to an unusual degree.

x D. Taking steps to simplify a situation or question.

Question ID : 2752285780

Q.11 Select the most appropriate ‘one word' for the expressions given below. ) Q
N\

Something that cannot be denied or not open to question.

Ans x A. Controvertible 3
x B. Variable Q
X C. Disputed *(b
>
“ D. Incontrovertible \2\

$ Question ID : 2752285783

)

Q.12 Select the most appropriate meaning of the given idiom.

“Stir up a hornets’ nest”

Ans X A. Using foul or derogatory language.
X B. Cook a difficult recipe.
f C. Provoke trouble.
x D. Tease a friend.

Question ID : 2752285779

Q.13 Select the most appropriate ‘one word' for the expressions given below.

Extending or existing since beyond the reach of memory, record, or tradition.
Ans X" A Modern

X B. Amenable
J C. Immemorial
X D. Ambivalent

Question ID : 2752285782
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Q.14 Four words are given, out of which only one word is spelt correctly. Choose the correctly
spelt word.

Ans " A CONCENSUS
< B.CONSENCUS
o C. CONSENSUS

< D.CONSENSES

Question ID : 2752285775

Q.15 Four words are given, out of which only one word is spelt correctly. Choose the correctly
spelt word.

Ans  off A NARCISSISM
/5 B.NARCICISSM
25 C.NARSICISM
#5 D. NARCISISM

Question ID : 2752285774

Comprehension:
Read the following information carefully and answer the given questions.

The origins of asceticism lie in man’s attempts to achieve various ultimate goals or ideals:
development of the “whole” person, human creativity, ideas, the “self,” or skills,déemanding
technical proficiency. Among the ancient Greeks, athletes preparing for physical contests
disciplined their bodies by abstaining from various normal pleasures and'by enduring difficult
physical tests. As values other than those concerned with physical proficiency were
developed, the concept expressed by asceticism and its cognategywas applied to other ideals
—e.g., mental facility, moral vitality, and spiritual ability.

Plato believed that it is necessary to suppress bodily desiressso that the soul can be free to
search for knowledge. The Stoics, among whom asceticism Was primarily a discipline to
achieve control over the promptings of the emotions, upheld the dignity of human nature and
the wise man's necessary imperturbability, which they believed would become possible
through the suppression of the affective, or appetitive, part of man.

In all strictly ascetic movements, celibacy has been regarded as the first commandment.
Celibates emerged among the earliest Christian communities and came to occupy a
prominent status. Among the earliest Mesopotamian Christian communities, only the
celibates were accepted as full members of the church, and in some religions only celibates
have been permitted to be priests. Abstinence and fasting are by far the most common of all
ascetic practices. Personal hygiene also fell under condemnation among ascetics.
Psychological forms of asceticism have also been developed. A technique of pain-causing
introspection was used by Buddhist ascetics in connection with their practices for meditation.

SubQuestion No : 16
Q.16 In the past the concept of asceticism have not been applied to:

Ans ( A. Devotional agility.
25 B. Spiritual ability.
X C. Moral vitality.

X D. Mental facility.

Question ID : 2752285787
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Q.17

Ans

Comprehension:

Read the following information carefully and answer the given questions.

The origins of asceticism lie in man’s attempts to achieve various ultimate goals or ideals:
development of the “whole” person, human creativity, ideas, the “self,” or skills demanding
technical proficiency. Among the ancient Greeks, athletes preparing for physical contests
disciplined their bodies by abstaining from various normal pleasures and by enduring difficult
physical tests. As values other than those concerned with physical proficiency were
developed, the concept expressed by asceticism and its cognates was applied to other ideals
—e.g., mental facility, moral vitality, and spiritual ability.

Plato believed that it is necessary to suppress bodily desires so that the soul can be free to
search for knowledge. The Stoics, among whom asceticism was primarily a discipline to
achieve control over the promptings of the emotions, upheld the dignity of human nature and
the wise man'’s necessary imperturbability, which they believed would become possible
through the suppression of the affective, or appetitive, part of man.

In all strictly ascetic movements, celibacy has been regarded as the first commandment.
Celibates emerged among the earliest Christian communities and came to occupy a
prominent status. Among the earliest Mesopotamian Christian communities, only the
celibates were accepted as full members of the church, and in some religions only celibates
have been permitted to be priests. Abstinence and fasting are by far the most common of all
ascetic practices. Personal hygiene also fell under condemnation among ascetics.
Psychological forms of asceticism have also been developed. A technique of pain-causing
introspection was used by Buddhist ascetics in connection with their practices for meditation.

SubQuestion No : 17

Stoic means a person who can endure pain or hardships without showing their feelings or
complaining; Stoicism is a school of Hellenistic philosophy which was founded by Zeno of
Citium, in Athens; Which of the following was not taught to students in Stoicism?

X A. Achieve control over the promptings of the emotions.
/5 B. Being imperturbable using asceticism.
{ C. To be acutely sensitive to emotional disturbance.

x D. Suppression of the affective, or appetitive, part of man.
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Comprehension:

Read the following information carefully and answer the given questions.

The origins of asceticism lie in man’s attempts to achieve various ultimate goals or ideals:
development of the “whole” person, human creativity, ideas, the “self,” or skills demanding
technical proficiency. Among the ancient Greeks, athletes preparing for physical contests
disciplined their bodies by abstaining from various normal pleasures and by enduring difficult
physical tests. As values other than those concerned with physical proficiency were
developed, the concept expressed by asceticism and its cognates was applied to other ideals
—e.g., mental facility, moral vitality, and spiritual ability.

Plato believed that it is necessary to suppress bodily desires so that the soul can be free to
search for knowledge. The Stoics, among whom asceticism was primarily a discipline to
achieve control over the promptings of the emotions, upheld the dignity of human nature and
the wise man'’s necessary imperturbability, which they believed would become possible
through the suppression of the affective, or appetitive, part of man.

In all strictly ascetic movements, celibacy has been regarded as the first commandment.
Celibates emerged among the earliest Christian communities and came to occupy a
prominent status. Among the earliest Mesopotamian Christian communities, only the
celibates were accepted as full members of the church, and in some religions only celibates
have been permitted to be priests. Abstinence and fasting are by far the most common of all
ascetic practices. Personal hygiene also fell under condemnation among ascetics.
Psychological forms of asceticism have also been developed. A technique of pain-causing
introspection was used by Buddhist ascetics in connection with their practices for meditation.

SubQuestion No : 18

Q.18 Which of the following is not an ascetic practice as given in the passage?

Ans

X A. Not maintaining personal hygiene and reduction in movement.
X B. Abstinence and fasting.
X C. Pain causing introspection as part of meditation.

( D. Offering a sacrifice to the almighty to develop a connection.
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Comprehension:

Read the following information carefully and answer the given questions.

The origins of asceticism lie in man’s attempts to achieve various ultimate goals or ideals:
development of the “whole” person, human creativity, ideas, the “self,” or skills demanding
technical proficiency. Among the ancient Greeks, athletes preparing for physical contests
disciplined their bodies by abstaining from various normal pleasures and by enduring difficult
physical tests. As values other than those concerned with physical proficiency were
developed, the concept expressed by asceticism and its cognates was applied to other ideals
—e.g., mental facility, moral vitality, and spiritual ability.

Plato believed that it is necessary to suppress bodily desires so that the soul can be free to
search for knowledge. The Stoics, among whom asceticism was primarily a discipline to
achieve control over the promptings of the emotions, upheld the dignity of human nature and
the wise man’s necessary imperturbability, which they believed would become possible
through the suppression of the affective, or appetitive, part of man.

In all strictly ascetic movements, celibacy has been regarded as the first commandment.
Celibates emerged among the earliest Christian communities and came to occupy a
prominent status. Among the earliest Mesopotamian Christian communities, only the
celibates were accepted as full members of the church, and in some religions only celibates
have been permitted to be priests. Abstinence and fasting are by far the most common of all
ascetic practices. Personal hygiene also fell under condemnation among ascetics.
Psychological forms of asceticism have also been developed. A technique of pain-causing
introspection was used by Buddhist ascetics in connection with their practices for meditation.

SubQuestion No : 19

Q.19 When asceticism originated, it was used by ancient Greeks for:

Ans

x A. Connecting to god on a spiritual level.
X B. Improving relations with partners.
x C. Gaining political stability in the society.

{ D. Preparing for physical contests.
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Comprehension:
Read the following information carefully and answer the given questions.

The origins of asceticism lie in man’s attempts to achieve various ultimate goals or ideals:
development of the “whole” person, human creativity, ideas, the “self,” or skills demanding
technical proficiency. Among the ancient Greeks, athletes preparing for physical contests
disciplined their bodies by abstaining from various normal pleasures and by enduring difficult
physical tests. As values other than those concerned with physical proficiency were
developed, the concept expressed by asceticism and its cognates was applied to other ideals
—e.g., mental facility, moral vitality, and spiritual ability.

Plato believed that it is necessary to suppress bodily desires so that the soul can be free to
search for knowledge. The Stoics, among whom asceticism was primarily a discipline to
achieve control over the promptings of the emotions, upheld the dignity of human nature and
the wise man's necessary imperturbability, which they believed would become possible
through the suppression of the affective, or appetitive, part of man.

In all strictly ascetic movements, celibacy has been regarded as the first commandment.
Celibates emerged among the earliest Christian communities and came to occupy a
prominent status. Among the earliest Mesopotamian Christian communities, only the
celibates were accepted as full members of the church, and in some religions only celibates
have been permitted to be priests. Abstinence and fasting are by far the most common of all
ascetic practices. Personal hygiene also fell under condemnation among ascetics.
Psychological forms of asceticism have also been developed. A technique of pain-causing
introspection was used by Buddhist ascetics in connection with their practices for meditation.

SubQuestion No : 20
Q.20 What is the meaning of the word 'celibate’ as derived from the passage?

Ans X A. A person who can stay without eating or drinking for long durations.
x B. A person who does not believe in humanity.
\_, C. A person who abstains from marriage and sexual relations.

x D. A person who has a lot of respect amongst the people of his ceamunity.
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Q.1 Select the option that is related to the third term on the same basis as the second term is
related to the first term.

Screwdriver : Screw :: Hammer : ?
Ans X A Handle
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e
\1
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Q.2 Out of the given options, three are similar in a certain manner. er, one option is NOT

like the other three. Select the option which is different from t{
Ans X A.QL:MP

X B.KP:GT $$
X C.MC:1G $

& D.DX: GU

Question ID : 2752286041

Q.3 If caris bus, bus is scooter, scooter is bicycle, bicycle is boat, boat is aeroplane, aeroplane is

helicopter, helicopter is bullock cart, then which of the following is a transport that can be
used in water?

Ans X A. helicopter
75 B. boat
«# C. aeroplane
#< D. bullock cart

Question ID : 2752286046
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Q.4 In acertain code language,
2351 means grapes are very sour
4359 means these are the grapes
3851 means grapes are very healthy
what is the code for very?

Ans X A3
o B.1
X c.8
X D.5

Question ID : 2752286049

Q.5 Arrange the following in a logical sequence:

1. Death
2. Toddler
3. Adult
4. Birth

5. Teen

Ans X A.1,5342
X B.4,2,51,3
& C.4,253,1
X D.1,3,542

\(\@ N Question ID : 2752286050

P\
N4
Q.6 Out of the given options, three are similar in a certain manner. Howev%)'le option is NOT
like the other three. Select the option which is different from the re(\

Ans o A Skirt {0
,06

2 B. Shirt
< C. Sweater $ .

25 D. Jacket $$

Question ID : 2752286040

Q.7 Out of the given options, three are similar in a certain manner. However, one option is NOT
like the other three. Select the option which is different from the rest.

Ans X A ECA
«" B.YAC
2 C.JHF
< D.FDB

Question ID : 2752286039

Q.8 Out of the given options, three are similar in a certain manner. However, one option is NOT
like the other three. Select the option which is different from the rest.

Ans  # A Chef: University
#< B. Doctor: Hospital
#< C. Artist : Theatre
75 D. Student : Class

Question ID : 2752286038
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Q.9 Select the pair that is related on the same basis to the pair given in the question.
IRX:KUB :: ?
Ans & A MUD: OXH
2 B.BRK:FUL
< C.HMW : JPZ
< D.QCK: OXM

Question ID : 2752286045

Q.10 Anjali, Bidisha, Charlie and Diksha compare their weights. The total weight of Anjali and
Bidhisha together is equal to the total weight of Charlie and Diksha together. But the total
weight of Bidhisha and Diksha together is more than that of Anjali and Charlie together.
Anjali's weight is more than that of Bidhisha's. Who among all weigh the least?

Ans X A Anjali
#5 B. Bidhisha
75 C.Diksha
" D. Charlie

Question ID : 2752286053

Q.11 Find the missing term in the following series:

DF, HJ,LN, ___, TV S
Ans X A PT

2 B.NQ Q
X c.MP
A

& D.PR \2\(0

Question ID : 2752286035

Q.12 If FLAMINGO is coded as AMFLNGOI, then wha\ls the code for PANDEMIC?
Ans X A. ANDPCMIE

& B. NDPAMICE
2 C. DNPMIECA
2< D. CMIPEDNA

Question ID : 2752286048

Q.13 Find the wrong term in the following series:
ALRV,BE
Ans A B
X B.1
< CP
XDV

Question ID : 2752286034
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Q.14 If MATCH = 42, BELIEF = 56, then what is the code for MUSCULAR?
Ans X A. 81

X B.70
2 C.100

o D. 90

Question ID : 2752286047

Q.15 39 St &1 9a= &1 it Ut & €1 71 St @ 99 UahR @ Sefad g1

aer: e s ?

Ans o A ST
X Bt - g
< C. gpfaar: g
X D. A=A 2R

Question ID : 2752286044

Q.16 Prachi said to Manish, "You are my mother's father's son-in-laws' son." How is Manish related
to Prachi, if Manish's mother has no siblings?

Ans  # A Brother

#< B.Brother-in-law %.Q
25 C. Father 60
2 D.Son ,05

>

6 Question ID : 2752286052

s

Q.17 Aman is shorter than Smriti, but not as short as Mic@}ank is shorter than Sam, but taller

than Smiriti. Who is the shortest of all? $
Ans X A Aman $
«" B. Micky
< C.Sam
< D. Priyank

Question ID : 2752286051

Q.18 Complete the following letter series:
HGF, MLK, RQP, WVU,
Ans X A.CDW
2 B.ACY
«" C.BAZ
X D.DCX

Question ID : 2752286036
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Q.19 Select the option that is related to the third term on the same basis as the second term is
related to the first term.

EHK:ILO:DQW:?
Ans X A GTN
< B.ESB
X C.IvVB
«" D. HUA

Question ID : 2752286042

Q.20 Find the missing term in the following series:

V3X,____, P9R,M120
Ans X A.S6V

2< B.R6U
« C.S6U
< D.Q6V
Question ID : 2752286037
N aN
NN
Section : General Ability2 \0% :

Q.1 Inthe question two statements are given, followed by three conclusio sb and lIl. You have

known facts. You have to decide which of the given conclusions, i , follows from the

to consider the statements to be true even if it seems to be at va;ita;%om commonly
given statements.

Statement 1 : All watchmen are bodyguards. {b
Statement 2 : All trainers are bodyguards. $ A

Conclusion | : Some trainers are watchmen.
Conclusion Il : Some bodyguards are watchm
Conclusion lll : Some bodyguards are trainers

Ans X A. Only conclusion | and Il follows
#< B. Only conclusion | follows
«# C. Only conclusion Il and Ill follows

25 D. All conclusions I, Il and Il follow

Question ID : 2752286056
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Q.2 Inthe question two statements are given, followed by two conclusions, | and II. You have to
consider the statements to be true even if it seems to be at variance from commonly known
facts. You have to decide which of the given conclusions, if any, follows from the given
statements.

Statement 1 : All pencils are pens.
Statement 2 : No pens are books.

Conclusion | : Some books are pencils.
Conclusion Il : Some pencils are pens.

Ans X A. Only conclusion | follows
4" B. Only conclusion Il follows
#5 C. Both conclusions | and Il follow

75 D. Neither conclusion I nor Il follows

Question ID : 2752286055

Q.3 Select the option that is related to the third image on the same basis as the second image is
related to the first image.

Ans X A
X B
X c
« D. .
&
‘QV‘) Question ID : 2752286067
\

N

7,
Q.4 Which two signs should be interchanged to make the given equatix(\,gfrect?

>
18+3+2x10-6=16
,06

Ans X A +and-

< B.+and- $$.
o C.+and x $

25 D.+and x

Question ID : 2752286059

Q.5 Out of the given options, three are similar in a certain manner. However, one option is NOT
like the other three. Select the option which is different from the rest.

Ans X A
X B.
o C.
< D

Question ID : 2752286068
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Q.6 Complete the following number series:
17, 50, 149, 446,

Ans X A 1461

" B.1337

X C.1252

X D.1783

Question ID : 2752286060

Q.7 From the given answer figures, select the one in which the question figure is
hidden/embedded.
Ans o Al
&< B.
&< C.
< D.

Question ID : 2752286072

Q.8 In the following question, four position of the same dice is given. Which number will be at the
face opposite to the face having the 7?
&

Ans X A5
X B.9 560

& C.4 Q
X D8 6{0

\2\ Question ID : 2752286071

=V

Q.9 Inthe question, one statement is given, foIIoweg\by two arguments | and Il. You have to
consider the statement to be true even if it seems to be at variance from commonly known
facts. You have to decide which of the given arguments, if any, supports the given statement.

Statement: Should there be only one type of fashion in the entire country?

Arguments:
l. Yes, it will promote equality among the residents of the country.
1. No, the culture of people staying in different regions of the country is different.

Ans  # A Only argument Il is strong
2% B. Neither argument | nor argument Il is strong
< C. Only argument | is strong

#< D. Both argument | and argument Il is strong

Question ID : 2752286057
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Q.10 Which of the following answer figure completes the series of the question figure?

Ans X A
< B.
< C.
o D.

Question ID : 2752286066

Q.11 Which of the following options is the wrong figure in the series?

Ans o A lmageD
< B.Image A
< C.Image C
< D.Image B

Question ID : 2752286069

Q.12 Complete the following number series:

17,14,19,12, _____
Ans X A 24 .
N

X B.22
o C.21 560

2 D.23
’OQ

(ﬁ Question ID : 2752286061

Q.13 Which of the following Venn diagrams best represe e relationship between lion,
carnivorous and goat? $

Ans X A.
& B.
X C.
o D.

Question ID : 2752286062

Q.14 In the following figure, triangle represents fathers, rectangle represents engineers, circle
represents pilots. How many fathers are pilots only?
Ans X A 16
" B.13
X co
X D.4

Question ID : 2752286064
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Q.15 Select the option that is related to the third term on the same basis as the second term is
related to the first term.

50:7:82:7
Ans X A 18
& B.O
X c.12
X D5

Question ID : 2752286058

Q.16 Which of the following Venn diagrams best represents the relationship between vegetables,
onions and potatoes?

Ans @ A
< B.
&< C.
< D.

Question ID : 2752286065

Q.17 The given Venn diagram shows the number of people who painted their house in red, yellow
and green. How many of these people have painted their house yellow and green only?

Ans X A8 S
X B.5 360
&
« C.6 (bo
X D.14 6
X2
$ . Question ID : 2752286063

e

g
Q.18 Which of the following answer figure patterns @be combined to make the question figure?

Ans X A
o B.
&< C.
X D.

Question ID : 2752286070
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Q.19 In the question one statement is given, followed by two course of actions, | and Il. You have
to consider the statements to be true even if it seems to be at variance from commonly
known facts. You have to decide which of the given course of actions, if any, follows from the
given statements.

Statement: Steps should be taken to develop rural areas in India.

Course of Actions:
| : Each village in the rural area should have access to electricity.
Il : There should be a formal education system in the rural areas.

Ans X A. Only | follows
«" B. Both | and Il follows
< C. Only Il follows
25 D. Neither | nor Il follows

Question ID : 2752286054

Q.20 If a mirror is placed on the line MN, then which of the answer figures is the right image of the

given figure?
Ans X A
< B.
X C.
« D. .
$
‘Q‘O Question ID : 2752286073
\
AN
~F
e
'O
Section : General Awareness1 O@
AN

Q.1 Which of the following banks primarily focuses on the }Qopment of MSME (Micro, Small
and Medium Enterprise) sector?

Ans X A. National Bank For Agriculture & Rural D ment
«# B. Small Industries Development Bank of India
#< C. Reserve Bank of India
< D. State Bank of India

Question ID : 2752286078

Q2 ____ isthe chemical process in which different types of chemical reactions involved in
controlling the living state of the cells in an organism.

Ans X A. Transportation
< B. Reproduction
#5 C. Respiration
# D. Metabolism

Question ID : 2752286083
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Ans

Q.3 Which among the following national parks is located in Manipur?

«" A. Keibul Lamjao National Park
5 B. Coringa Wildlife Sanctuary
#< C. Jim Corbett National Park
25 D. Nagarhole National Park

Question ID : 2752286085

Ans

Q.4 Which among the following soils is formed as a result of high leaching?

< A. Black
X B. Arid
" C. Laterite
25 D.Red

Question ID : 2752286091

Q.5 When was Export-Import Bank of India established?

Ans o A 1982
2 B.1996
2 C.1975 Q&
* D.1970 %3
0
\J Question ID : 2752286080
O

( g
Q.6 The lens focuses light on the back of the eye. The back of thg@k@ known as

Ans o A retina \2\(0
< B.lens $ .
X C.iris §
< D. cornea
Question ID : 2752286084
Q.7 = GDP (Gross Domestic Product) + NFIA (net factor income from abroad).
Ans  # A Gross National Product
#< B. Net national expenditure
75 C. Net Domestic Product
75 D. Net National Product
Question ID : 2752286082
Q.8 Indravati river is the tributary of which of the following rivers?
Ans  # A Godavari
#5 B. Mahanadi
#5 C. Krishna
25 D.Narmada

Question ID : 2752286089
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Q.9 Dhanuyatra is a great mass festival of Odisha which is based on the noble deeds of Lord

Ans X A Ram
75 B. Ganesh
" C.Krishna
#< D. Hanuman

Question ID : 2752286075

Q.10 Ainchaliyan is a type of religious songs often sung to a newly wed bride or to an unmarried
girl, who is expected to get married in near future. It is associated with which of the following

states?
Ans X A. Uttar Pradesh

«# B. Himachal Pradesh
< C.Haryana
< D. Punjab

Question ID : 2752286077

Q.11 Which among the following type of mountains is also known as "Mountains of
Accumulation"?

Ans X A. Residual Mountains .Q
< B. Fold Mountains \Q%’
«” C. Volcanic Mountains SO

2 D. Block Mountains 'Q(b
>

6 Question ID : 2752286090

Q.12 Rickets is caused due to the deficiency of which c@c‘llowing vitamins?
Ans X A.Vitamin C $
" B.Vitamin D

< C. Vitamin E
75 D. Vitamin A

Question ID : 2752286087

Q.13 Which among the following lines separates India and Pakistan?
Ans  # A Radcliffe Line

#< B. Hindenburg Line
#5 C. Durand Line
< D. MacMohan Line

Question ID : 2752286088
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Q.14 Morulem is a traditional folk dance in Goa performed during which of the following festivals?
Ans X A. Carnival

#< B. Lokrang Festival
#< C. Sunburn Festival
«# D. Shigmo Festival

Question ID : 2752286076

Q.15 Rani ki Vav or 'Queen’s Stepwell' is a unique stepwell located in which of the following states?
Ans X A. Maharashtra

2 B. Madhya Pradesh
" C. Gujarat
25 D. Tamil Nadu

Question ID : 2752286074

Q.16 Which among the following taxes is imposed on the bodies that have negative externality?
Ans  # A. Pigouvian tax

25 B. Octroi tax
< C. Smith tax Q
25 D. Tobin tax %3

Question ID : 2752286081

3
O

( g
Q.17 Who among the following holds the record of presenting the @Qumber of financial
budgets as of April 2020?

Ans X A.Pranab Mukherjee \2\
+" B. Morarji Desai §

#5 C. Nirmala Sitharaman $
75 D. Yashwant Sinha

Question ID : 2752286079

Q.18 Who among the following was the founder of the Chalukya Dynasty?
Ans X A. Aditya

" B. Pulakeshin |
< C. Kokalla |
< D. Krishna |

Question ID : 2752286092
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Q.19 The Bengal Sati Regulation which banned the Sati practice in all jurisdictions of British India
was passed in

Ans X A.1850
X B.1792
X C.1838
«" D. 1829

Question ID : 2752286093

Q.20 Parrot belongs to which of the following classes of vertebrates?
Ans & A Aves

< B. Pisces
25 C.Reptilla
25 D. Amphibia

Question ID : 2752286086

Section : General Awareness2

Q.1 Who among the following famous NBA players died in a helicopter crash in Jam@\’zmo?

Ans X' A.Kevin Durant &
" B. Kobe Bryant 360
25 C. Stephen Curry ‘Q(b
25 D. James Harden ﬁrb
\
NS
Question ID : 2752286101

&.

Q.2 Who among the following holds the record of @ the most ATP Masters 1000 singles
titles in tennis as of April 2020?

Ans X A. Andy Murray
< B. Novak Djokovic
+" C. Rafael Nadal
75 D. Roger Federer

Question ID : 2752286110

Q.3 The Surat Split was the splitting of the Indian National Congress into two groups - the
Extremists and the Moderates - at the Surat session in

Ans X A 1885
< B.1932
& C.1907
X D.1918

Question ID : 2752286096
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Q.4 How many teams participated in the 1975 Cricket World Cup?
Ans X A.10

X B.14
X c.12
& D.8

Question ID : 2752286109

Q.5 For which of the following films did Bhanu Athaiya receive an oscar for the best costume
designer?

Ans X A Swades
#< B. Slumdog Millionaire
2 C.Lagaan: Once Upon a Time in India
" D. Gandhi

Question ID : 2752286097

Q.6 Which among the following teams holds the record of the highest team score in the Under 19
Cricket World Cup as of April 2020?

Ans X A. England
B. New Zealand
e ©
" C. Australia sQ% .
< D.India 30

(50 Question ID : 2752286112

f

aJ
Q.7 The Innovation Cell of the Ministry of Human Resourceg%@opment and All India Council

for Technical Education in collaboration with Forge and InnovatioCuris launched a mega
online challengecalled _____to test the ability g&udents to innovate.
Ans  * A. SAMADHAN $
725 B. PARIKSHA
< C.SUVIDHA
25 D. JEEVAN

Question ID : 2752286103

Q.8 Which among the following constitutional amendments incorporated Goa, Daman and Diu in
the Indian Union?

Ans X A.18th
< B. 5th
«" C.12th
2 D.22nd

Question ID : 2752286107




Join Telegram Group "HaryanaJobs.in"

Q.9 Which among the following state’s cabinets passed a resolution to abolish the Legislative
Council on 27th January 2020?

Ans X A. Maharashtra
25 B. Madhya Pradesh
2 C. Tamil Nadu
4" D. Andhra Pradesh

Question ID : 2752286102

Q.10 Which among the following books is written by Salman Rushdie?
Ans  # A. The Enchantress of Florence

#< B. The End of Imagination
25 C. The King of Dark Chamber

75 D. Between the Assassinations

Question ID : 2752286098

Q.11 Where was the first session of United Nations held?
Ans X A. New York

75 B.Paris
& C.London 'Q
25 D. Geneva \06
o
Q7 Question ID : 2752286100

Q.12 The Indian Council Act passed in 1909 was popularly knowpéﬁ
Ans X A. Charter Act

" B. Morley Minto Reforms §

X C. Pitt's India Act $
25 D. Wavell Plan

Question ID : 2752286095

Q.13 Article 29 and 30 of the Indian Constitution deals with the
Ans X A. Right to Equality

«" B. Cultural and Educational Rights
< C. Right Against Exploitation
#< D. Right to Freedom

Question ID : 2752286105

Q.14 The Beighton Cup is associated with which of the following sports?
Ans X A. Cricket

< B. Golf
2 C. Table Tennis
" D. Hockey

Question ID : 2752286113
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Q.15 The concept of "Freedom of trade and commerce" in the Indian Constitution is borrowed from
the constitution of which of the following countries?

Ans  # A Australia

#< B. United States
5 C. Japan

< D. Canada

Question ID : 2752286106

Q.16 In which year did Lord Mountbatten address the Constituent Assembly for the last time?
Ans o A 1947
X B.1945
X C.1946
2 D.1948

Question ID : 2752286108

Q.17 What is the rank of India as per Global Talent Competitive Index (GTCI) 2020 released at the
annual meeting of the World Economic Forum (WEF)?

Ans A 72

< B.63 ’\Q
& C.54 S°

AS)
X D.85 9)
,03

(50 Question ID : 2752286104

S\

Q.18 The Simla Conferenceof ______ was a meeting betw e Viceroy of India Lord Wavell
and the major political leaders of British India at Simlé .

Ans X A.1919 $

o B.1945 $

% C.1928
2 D.1936

Question ID : 2752286094

Q.19 Who among the following Indian women has scored the highest aggregate runs in the
Women's ODI cricket format as of April 2020?

Ans X A. Harmanpreet Kaur
& B. Mithali Raj
#< C. Smriti Mandhana
75 D. Deepti Sharma

Question ID : 2752286111
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Q.20 Who among the following was the first chairman of the ISRO?
Ans X A. A S.Kiran Kumar

75 B. Satish Dhawan
#< C. Shailesh Nayak
«# D. Vikram Sarabhai

Question ID : 2752286099

Section : Arithmetic Ability1

Q.1 In abag there are notes of Rs. 10, Rs. 20 and Rs. 50 in the proportion 3 : 4 : 5. If there are in
all Rs. 1800. What is the number of notes of Rs. 50?

Ans X A.30
o B.25
X C.15
2 D.20

Question ID : 2752286129

Q.2 Three numbers are in the ratio 7 : 2 : 8. Sum of the, difference of first and seconc\@mber and

sum of second and third number is 90. What are the numbers? %
Ans X A.21,6,24 AS)
30

X B.28,8,32 >
o C.42,12,48 (00

X D.14,4,16 6

o
$$ . Question ID : 2752286130

Q.3 Price of gram flour is 20 percent costlier than W§at flour. How much percent is the price of
wheat flour is less than gram flour?

Ans X A. 76.23 percent
< B.25.11 percent
75 C. 83.33 percent
" D. 16.67 percent

[ Question ID : 2752286124

Q.4 A contractor pays Rs. 100 to a worker for each day and the worker forfeits Rs. 40 for each
day if he is idle. At the end of 30 days, the worker gets Rs. 2300. For how many days the
worker was idle?

Ans X A 6days
" B.5days

< C.8days
< D.7days

Question ID : 2752286117
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Q.5 The product of fractions M and N is 9/8. What is the value of fraction N if fraction M is half of
fraction N?

Ans o A 3/2
X B.9/16
X C.9/4
X D.3/4

Question ID : 2752286115

Q.6 For the sale, a shopkeeper first increased the rate of its products by 15 percent and then
offered a discount of 15 percent. What is the change in the rate of products in comparison to
the original?

Ans  # A 2.25 percent
< B. 1.50 percent
25 C. 1 percent
#< D. 2 percent

Question ID : 2752286123

Q.7 What is the least number by which 588 must be multiplied to make it a perfect square?

Ans X A6
XB.2 \(\
X C.o \Q%
30
& D.3 >

@

Question ID : 2752286114

N

Q.8 What should be the least number of years in which th ag;le interest on Rs. 2500 at 4.5
percent p.a. will be an exact number of rupees? §

Ans X A 4 $

X B.3
o C.2
X D.1

Question ID : 2752286132

Q.9 The product of LCM and HCF of two numbers is 216. The difference of the two numbers is 6.
What are the numbers?

Ans X A 2228
X B.1822
X C.2832
& D.1218

Question ID : 2752286116
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Q.10 What is the average of 15,17, 19, 21.....35, 37, 39?
Ans o A 27

% B.23
X cC.25
% D. 21

Question ID : 2752286118

Q.11 In 200 liters of a mixture, milk and water are in the ratio 7 : 3. How much water should now be
added so that the ratio of milk and water becomes 2 : 1?

Ans X A 12 liters
< B. 20 liters
X C.14liters
" D. 10 liters

Question ID : 2752286128

Q.12 A boy bought an old music system for Rs. 1000 and spent Rs. 200 on repairing it. He sold it
for Rs. 1140 to his friend. What is his loss percent?

Ans  # A 5 percent
< B. 20 percent . Q
N\
< C. 16 percent S

#< D. 8 percent 360
&

{5(\ Question ID : 2752286125

f

aJ
Q.13 The students need to get 45 percent to pass an exam. A%&k got 120 marks and fails by
60 marks. What were the maximum marks for the e@.‘

Ans ¥ A 400 $
% B.300 $
2 C.600
2< D. 500

Question ID : 2752286122

Q.14 A dealer makes a profit of 10 percent even after giving a 10 percent discount on the marked
price of a dining set. If he makes a profit of Rs. 900 on the sale of the dining set, what is the

marked price?
Ans ?( A.Rs. 10200

 B.Rs. 8500
o C.Rs. 11000
2< D.Rs. 9000

Question ID : 2752286126
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Q.15 There are two house groups - Red group and Blue group in a school, consisting of 40 and 50
students respectively. If the average weight of red group is 52 Kg and that of Blue group is 45
Kg, then what is the average weight of all group students?

Ans 7 A 4811

X B.45
X C.43

2 D.46.55

Question ID : 2752286120

Q.16 The difference in simple interest and compound interest on a certain sum of money in 2
years at 12 percent p.a. is Rs. 1728. What is the sum?

Ans X A.Rs. 60000
#< B.Rs. 12000
&" C.Rs. 120000
2 D.Rs. 98000

Question ID : 2752286133

Q.17 What is the single equivalent discount of 5 percent, 8 percent and 14 percent?
Ans X A.25.15 percent

" B. 24.836 percent .\Q
% .
O
30
o

< C. 26.32 percent
25 D. 27 percent

@

Question ID : 2752286119

N
Q.18 Present population of a city is 70000. It increases at t X?e of 4 percent per year. What will
be the population after 2 years ?
Ans X A.75752 $\$
X B.72754
X C.73425
«" D.75712

Question ID : 2752286121

Q.19 The ratio of incomes of Sunil and Raju is 5 : 2. The ratio of their savings is 13 : 4. If each of
them spend Rs. 4000 from their incomes. What are the incomes of both?

Ans  «* A Rs. 30000, Rs. 12000
#< B.Rs. 20000, Rs. 8000
#< C.Rs. 6000, Rs.2000
#< D.Rs. 10000, Rs. 4000

Question ID : 2752286131
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Q.20 Shabana offers a discount of 8 percent on a product and still makes a profit of 15 percent,
what is the actual cost of the product if the marked price of that product is Rs. 1200 ?

Ans X A Rs.1080
2 B.Rs. 1104
< C.Rs. 1180
" D.Rs. 960

Question ID : 2752286127

Section : Arithmetic Ability2

Q.1 The pie chart shows the spending of a college on various sports during the year 2010. The
college spends Rs. 400000 on sports. What is the ratio of the amount spent on football,
basketball and swimming to that spent on golf, cricket and tennis?

Ans X A 4:5
K B.3:2

X C.8:9
o D.8:17

\Q Question ID : 2752286149

[
Q.2 Machine A can complete a task in 18 days. Machine B is 50 percent m @Egant. In how
many days will Machine B finishes the same task? (b'

Ans X A. 8days (\
#2< B.15days 6{00
>

< C. 10 days

«# D. 12 days &‘
QO

$ Question ID : 2752286139

Q.3 Two friends Kim and Joy jog the same distance every morning with speeds of 2 km/hr and 3
km/hr respectively. Joy always starts jogging 15 min late and finishes 15 min earlier than
Kim. How much distance each covers while jogging every morning?

Ans X A.6Km
X B.5Km
o C.3Km
2 D.10Km

Question ID : 2752286137

Q.4 A survey was conducted to find out the popularity of graphical representation. How much
percent of total students like bar graph?

Ans X A.50 percent
" B. 30 percent
75 C. 20 percent
5 D. 45 percent

Question ID : 2752286151
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Q.5 Ankit and Dharesh start from a point and go in opposite directions with speeds of 3.5 km/hr
and 10.5 km/hr respectively. After how much time will they be 77 km apart from each other?

Ans  * A.5hours 30 minutes
#< B. 3 hours 15 minutes
< C. 11 hours 10 minutes
< D. 6 hours 15 minutes

Question ID : 2752286136

Q.6 From a local bus stand, buses leave after every 6 minutes with an average speed of 40 km/hr.
A person coming from opposite direction meets the buses after every 5 minutes. What is the
speed of the person?

Ans X A. 10 Km/hr
« B.8 Km/hr
% C.4Km/hr
2 D.15Km/hr

Question ID : 2752286138

Q.7 A survey was carried out among 1000 people to find who they want as the captain of the one-
day cricket team of India. How many people wanted Sehwag as the captain?

Ans X A 250 A
&
 B.350 60
o C.150 ,05
X D.120 {0‘(\
S
Question ID : 2752286146

\ .

Q.8 On a sum of money, the simple interest for 2 yea GX;RS. 200, while the compound interest is
Rs. 205, the rate of interest is same in both ca What is the rate of interest?

Ans X A. 4 percent
#5< B. 10 percent
" C. 5 percent
#2< D. 8 percent

Question ID : 2752286134

Q.9 Three pipes of different diameters takes 40, 30 and 24 minutes respectively to fill a tank. If all
these three pipes opened together, then in how many minutes will the tank get filled?

Ans X A.18 minutes
" B. 10 minutes
725 C. 16 minutes
75 D. 8 minutes

Question ID : 2752286140
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Q.10 The following table shows the expenditure (in rupees) of a company per annum over the
years. What is the average amount (in rupees) of the tax which the company had to pay
during the period?

Ans X A 96.5lakhs

25 B.98.2 lakhs
# C.91.6 lakhs

2 D. 84 lakhs

Question ID : 2752286148

Q.11 A‘task can be completed by 12 men and 10 women in 3 days, or by 6 men and 8 women in 5
days. If 3 men and 5 women work together, then in how many days they will finish the task?

Ans X A 24days
< B.18 days
« C. 9 days
25 D. 14 days

Question ID : 2752286142

Q.12 Two friends Saurabh and Harshit can complete a work in 3 and 6 days separately. In how
many days will they finish the work if Saurabh begins and they work on alternate @s?
N\

Ans X A.15days A
75 B.10days 606
o C. 4 days (0‘3
< D. 8 days {0(\

S

(b Question ID : 2752286141
\ *
Q.13 The following table shows the exports of coal, b and iron (in thousands of tonnes) over
a six month period. What was the average val coal exported over the 6 month period?

Ans A 20.16
X B.20.33
2 C.2433
X D.22.16

Question ID : 2752286147

Q.14 A sum of Rs. 50000 is lent out at the rate of 6 percent p.a. compounded annually. What will
be the amount after 3 years?

Ans X A Rs.58570.25
2 B.Rs. 55050.50
& C.Rs. 59550.80
2 D. Rs. 60000

Question ID : 2752286135
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Q.15 A sphere of radius 4.2 cm is cut into two equal parts. What is the total surface area of each
part?
Ans  # A 166.32sqcm

< B.189.36 sqcm
25 C.282sqcm
25 D.332.64sqcm

Question ID : 2752286145

Q.16 The following histogram shows the number of students with the corresponding percentage
scored in the entrance exam for a college. If the college decided to admit only students who
had scored above 60 percent in the exam. How many students got admission in the college ?

Ans X A 180

X B.90
X c.70
« D.100

Question ID : 2752286150

Q.17 What is the volume of a cone whose diameter is 12.6 cm and height is 4.9 cm?

Ans X A.404.126 cucm . Q
& B.203.742 cucm \06‘
% C.254.236 cucm 30

< D.104.652 cucm (b
,0(\

6 Question ID : 2752286143

Q.18 The following bar graph shows the production of p des (|n kg) by a company (in
thousands) over the years. What was the perc increase in production of pesticides in
2009 compared to that in 2003?
Ans & A 100 percent
< B. 80 percent
25 C. 120 percent

2 D. 60 percent

Question ID : 2752286152

Q.19 The following frequency polygon displays the weekly income of laborers of a factory. If
laborers got Rs. 100 as diwali bonus then, how many laborers got Rs. 350 or more as their
weekly income (including bonus) on diwali week?

Ans X A 180

< B.200
X C.150

o D.185

Question ID : 2752286153
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Q.20 A solid cylinder has a hemisphere at its bottom and a cone at its top. The radius of the solid
is 3.5 m, height of the cone is 2 m and height of the cylinder is 7 m. What is the volume of the
resultant solid shape? Radii of all three are same.

Ans o A.385cum
& B.545cum
25 C.495¢cum
25 D.595¢cum

Question ID : 2752286144

Section : General English1

Q.1 Fill in the blank with appropriate word.

Ans X A. empathetic
# B. empirical
25 C. epiphanic

2 D.imminent

The scientists have providednumerous _____ researches, to prove their hypothesis.

\Q Question ID : 2752286166

blink of an eye.
Ans  # A RQPS

< B.RPSQ
#< C.RPQS
2 D.PSQP

o=

Q.2 Some parts of a sentence have been jumbled up, and labelled P, Q,R a lect the option

that gives the correct sequence in which these parts can be rearrange ‘orm a meaningful

and grammatically correct sentence. (\

The employees of the restaurant 6(0

P. they were given leave without an {b’

Q. and if something urgent cropped up A

R. were well paid, well fed, well rested, well clothed

S. eyebrow raised and in the §

Question ID : 2752286169

Q.3 Select the word that is closest in meaning (SYNONYM) to the word given below
Subterranean
Ans & A Underground
25 B. Subcutaneous
< C. Terrestrial
25 D. Overt

Question ID : 2752286173
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Q.4 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error'.

The newly introduced stringently policies on income tax filing and collection (1)/ will certainly
bring about a substantial increase (2)/ in revenue generated from income tax. (3)/ No Error

@
Ans X A.No error

< B. will certainly bring about a substantial increase
#< C.in revenue generated from income tax.

«" D. The newly introduced stringently policies on income tax filing and collection

Question ID : 2752286154

Q.5 Fill in the blank with appropriate word.

Their relationship had reached a point where it was
Ans X A.communicable

«# B.irreconcilable
< C.sociable
5 D. insatiable

Question ID : 2752286164

o ol A\

\\
Q.6 Select the word segment that substitutes (replaces) the bracketed word segn@t correctly
and completes the sentence meaningfully. Select the option 'no correctio@.ured' if the

sentence is correct as given. 3
Gandhi completed his studies in England and became a lawyer, (fi ractised law in South
Africa) as he was racially discriminated in England. fb»

Ans X A but he practice law in South Africa {06

#< B. as, he practiced law in South Africa
25 C. No corrections required §

4" D. but he practised law in South Africa $

Question ID : 2752286159

Q.7 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error'.

Everyone were absolutely perplexed (1)/ by his decision to not participate (2)/ in the
upcoming assembly elections. (3)/ No Error (4)

Ans X A.inthe upcoming assembly elections.
25 B. No error
#5 C. by his decision to not participate

«" D. Everyone were absolutely perplexed

Question ID : 2752286157
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Q.8 Select the word that is opposite in meaning (ANTONYM) to the word given below

Polygamy
Ans X A. Endogamy

< B. Homogamy
" C. Monogamy
< D. Misogamy

Question ID : 2752286172

Q.9 Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully. Select the option 'no correction required' if the
sentence is correct as given.

(The latest edition of the Official Highway Code includes), new drug driving laws, HGV speed
limit changes on single and dual carriageways.

Ans X A. The latest edition of the Official Highway Code is included
+" B. No corrections required
< C. The latest edition of the Official Highway Code include
< D. The latest edition of the Official Highway Code included

Question ID : 2752286162

Al

\\
Q.10 Find the part of the given sentence that has an error in it. If there is no error, chyase ‘No

error. 60

In his memoirs, he has been quoted been saying that, (1)/ “It is my fai }ased on experience,
that if one's heart is pure, (2)/ calamity brings in its trained men a asures to fight it.” (3)
No Error (4)

Ans X A.No error (b\%‘ﬁ.
25 B. calamity brings in its trained men and measures ghtit”
< C. “Itis my faith, based on experience, that ifg r;eart is pure,
" D. In his memoirs, he has been quoted be@saying that,

Question ID : 2752286156

Q.11 Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option
that gives the correct sequence in which these parts can be rearranged to form a meaningful
and grammatically correct sentence.

The cacophony of deafening noises

P. memories | have from
Q. is one of the more vivid
R. my timel

S. served in the

pre-lraq war.
Ans X A. QPSR

X B.QPSP
« C.QPRS
 D.QSPR

Question ID : 2752286168
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Q.12 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

The government has acknowledged its fault in the plummeting economy today; (1)/ owing to
its various egregious and farfetched policies (2)/ which were assured to never yield any
results. (3)/ No Error (4)

Ans  # A. The government has acknowledged its fault in the plummeting economy today;
#< B. owing to its various egregious and farfetched policies
25 C. No error

25 D. which were assured to never yield any results.

Question ID : 2752286158

Q.13 The question below consist of a set of labelled sentences. Out of four options given, select
the most logical order of the sentences which form a paragraph.

Google's history began in 1995 when Larry Page met Sergey Brin.

P. At the time Larry Page was a Ph.D. student at Stanford University, and Sergey was
considering studying there.

Q. In 1996 Larry and Sergey began working on a search engine called BackRub.

R. This engine worked on the Stanford servers for more than a year which eventually clogged
up the bandwidth and hence Google.com was registered on September 15th, 1997.

S. The name came from the algorithms ranking for how many "back-links" a page has.

Google, is a play on words of "googol" which is a mathematical term for the number 1
followed by 100 zeros. It is rumoured that this reflects the founders' mission to organize the
infinite amount of information on the internet.

Ans X A.PRSQ
«" B. PQSR
< C.PQRS
25 D.PSQR

Question ID : 2752286170

Q.14 Select the word that is closest in meaning (SYNONYM) to the word given below
Subversive
Ans X A.Obedient
< B. Legitimate
" C. Insurgent
25 D. Admissible

Question ID : 2752286171

Q.15 Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully. Select the option 'no correction required' if the
sentence is correct as given.

His (malicious intent could have been seen) when he decided to murder his entire family.

Ans  # A malicious intent was seen
#< B. No corrections required
25 C. malicious intent should be seen

25 D. malicious intent would have been seen

Question ID : 2752286160
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Q.16 The question below consist of a set of labelled sentences. Out of four options given, select
the most logical order of the sentences which form a paragraph.

The pivotal engineering and scientific success of the Twentieth century was the Manhattan
Project.

P. The only cloud hanging over the impressive achievement of the atomic researchers and
engineers is what their success truly meant; hundreds of thousands of innocent lives
obliterated.

Q. The Manhattan Project assimilated concepts and leaders from all scientific fields and
engineering disciplines to construct the first two atomic bombs.

R. The presence of communication amid scientific minds was equally important to the
success of the Manhattan Project as scientific intellect was.

S. From the study of nuclear physics and chemistry to the practical engineering and
processing of uranium 235 and plutonium 239 and the final construction of the weapons,
scientific knowledge grew at an exponential rate to critical levels.

Yet this grave definition of success cannot diminish the impressive collaboration and
efficiency of the Manhattan Project.

Ans X A QPRS
& B.QSRP
25 C.QSPR
< D.QPSR

Question ID : 2752286167

Q.17 Fillin the blank with appropriate word.

Youcantjust_____ thatkind of data from these results.
Ans X A exalt

75 B. exudate
75 C. expedite

" D. extrapolate

Question ID : 2752286163

Q.18 Fill in the blank with appropriate word.

The massages were quite pleasantly
Ans X A.enumerating

< B. facilitating
< C. endowing

« D. rejuvenating

Question ID : 2752286165

Q.19 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

The mission Chandrayaan 2 could be a success, (1)/ had it not lost contact with the ISRO (2)/
in its final moments of descent. (3)/ No Error (4)

Ans  # A. The mission Chandrayaan 2 could be a success,
5 B. had it not lost contact with the ISRO
25 C. No error

75 D.inits final moments of descent.

Question ID : 2752286155
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Q.20 Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully. Select the option 'no correction required' if the

sentence is correct as given.

(As the country copes from the aftermath of the horrors of Mumbai), the hard work of
reconstruction, of rebuilding and of reimagining our country has begun.

Ans  # A. As the country copes with the aftermath of the horrors of Mumbai
75 B. As the country copes within the aftermath of the horrors of Mumbai
75 C. As the country copes in the aftermath of the horrors of Mumbai

75 D. No corrections required

Question ID : 2752286161

Section : General English2

Q.1 Select the word that is opposite in meaning (ANTONYM) to the word given below
Besiege
Ans  # A Defend
X B. Skirt
25 C. Smother
< D. Palisade \Q

.

60 Question ID : 2752286174

Q.2 Select the most appropriate meaning of the given idiom {0’(\
The thin end of the wedge. (ﬁ
Ans X A. Watching all actions closely

4" B. Beginning of something bad which seems less in
the present but is likely to become worse in futy

25 C. Someone who is against the religion

25 D. To admit something readily

Question ID : 2752286184

Q.3 Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt
word.

Ans X A. Consaguinity
25 B. Consanuity
" C. Consanguinity
< D. Consagnuity

Question ID : 2752286180
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Q.4 Select the most appropriate ‘one word' for the expressions given below

A person who is dissatisfied and rebellious.
Ans  * A Malcontent
< B. Interregnum
25 C. Synod

#< D. Monomaniac

Question ID : 2752286188

Q.5 Select the most appropriate meaning of the given idiom
Gird up one's loins
Ans & A Getready for the job
< B. With one's own efforts
#< C. The end part of something

#< D. Not having a prepared action before time

Question ID : 2752286183

Q.6 Select the most appropriate ‘one word' for the expressions given below

A remark or statement, especially one with a moral content, that has been used\&ften to
be interesting or thoughtful. ()

Ans ¢ A Platitude 60
#< B. Solitude

o
>

75 C. Finitude
75 D. Habitude \2\(OKA

QX Question ID : 2752286187

S

Q.7 Four words are given, out of which only one wo\ré is spelt correctly. Choose the correctly spelt
word.

Ans  # A Alliteration
25 B. Alliterasion
X C. Aliteretion
#< D. Aliteration

Question ID : 2752286178

Q.8 Select the word that is closest in meaning (SYNONYM) to the word given below
Equestrian
Ans X A. Pedantic
#< B. Callisthenics
X C.Pleasant
" D. Horseman

Question ID : 2752286175
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Q.9 Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt
word.

Ans X A. Asthete
25 B. Acsthete
X C. Ascthete
" D. Aesthete

Question ID : 2752286177

Q.10 Select the most appropriate ‘one word' for the expressions given below

The joint control of a state's affairs by other states.
Ans  # A. Condominium

25 B. Biennium
25 C. Dominium
#< D. Meconium

Question ID : 2752286186

Q.11 Select the most appropriate meaning of the given idiom

A skeleton in the cupboard Q
Ans X A. A secret which is revealed by someone.

4" B. A past event which is kept secret, something embarrassing or shéaul
#< C. Shared secrets between family members (b

< D. A secret of someone which is kept hidden from everyone{§in the family.

(b Question ID : 2752286182

\ .

word.
Ans  # A Convalescence

Q.12 Four words are given, out of which only one w@peh correctly. Choose the correctly spelt

#< B. Convalesence
#< C. Convelence

25 D. Convalascence

Question ID : 2752286179

Q.13 Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt
word.

Ans  # A Palatable
75 B. Paletable
75 C. Palateble
< D. Peletable

Question ID : 2752286176
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Q.14 Select the most appropriate ‘one word' for the expressions given below

Impossible to stop or prevent.
Ans  # A.Inexorable
< B.Exorable
5 C. Deplorable
< D. Uninsurable

Question ID : 2752286185

Q.15 Select the most appropriate meaning of the given idiom

Feet of clay
Ans X A. Tobe agood dancer

< B. To drive rashly
" C. A fundamental flaw or weakness in a person otherwise revered.

#< D. Advance in harmony

Question ID : 2752286181

Comprehension:
Read the following information carefully and answer the given questions.

The New Yorker article, "A Star in a Bottle" explained the ambitious project upon/which, world-
wide physicists and engineers are embarking on: the creation of an artificial "star", which
humanity hopes to use for its energy to power our civilization. This "artificial star" is
essentially a controlled fusion reaction which, when successful, releases a massive amount
of energy (gamma rays, in compliance with E=m02) that they canthen harness as electricity.
The current machine (work in progress) is the International Thermonuclear Experimental
Reactor (ITER). This is an international project, which China,the U.S., Russia, and several
European countries are participating in. The collaborators.at4TER hope to use the machine to
solve a major problem humanity faces as a civilization: the pollution in the atmosphere
created by the burning of fossil fuels. The ITER project began during the Cold War in the mid-
21st century. Apart from the obvious economic and-environmental assets of such a machine,
the curiosity of American physicists in the 21st century also acted as a major catalyst. In the
early 1980's the Argentinian president, Juan Peron, incorrectly announced that his scientists
had successfully constructed a fusion machine of such sorts. Americans, despite the fact
that Peron's claim was a fraud, began to ponder and wonder that a thermonuclear fusion
machine would look like. At that point, the U.S. government began to pour large amounts of
money into the project, and was constantly disrupted by numerous set-backs and obstacles.
One of the major problems the entire international collaboration faced was the issue of cost
and each country's economic devotion to the project. The author claimed that as science and
its frontier continued to advance, both the cost and complexity of further exploration sky
rockets as well, which the ITER project clearly portrays.

SubQuestion No : 16

Q.16 According to the passage, which of the following given statements is incorrect?

Ans X A ITERis an international project, and its participants are China, the U.S., Russia, and
several European countries.
5 B. International Thermonuclear Experimental Reactor is the name of the machine which
is under development for harnessing the thermonuclear energy.
«" C. Artificial star' is essentially a controlled fission reaction, similar to a nuclear bomb.

25 D. In the early 1980's the Argentinian president, Juan Peron, incorrectly announced that
his scientists had successfully constructed a thermonuclear fusion machine.

Question ID : 2752286193
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Q.17
Ans

Comprehension:
Read the following information carefully and answer the given questions.

The New Yorker article, "A Star in a Bottle" explained the ambitious project upon which, world-
wide physicists and engineers are embarking on: the creation of an artificial "star", which
humanity hopes to use for its energy to power our civilization. This "artificial star" is
essentially a controlled fusion reaction which, when successful, releases a massive amount
of energy (gamma rays, in compliance with E:mcz) that they can then harness as electricity.
The current machine (work in progress) is the International Thermonuclear Experimental
Reactor (ITER). This is an international project, which China, the U.S., Russia, and several
European countries are participating in. The collaborators at ITER hope to use the machine to
solve a major problem humanity faces as a civilization- the pollution in the atmosphere
created by the burning of fossil fuels. The ITER project began during the Cold War in the mid-
21st century. Apart from the obvious economic and environmental assets of such a machine,
the curiosity of American physicists in the 21st century also acted as a major catalyst. In the
early 1980's the Argentinian president, Juan Peron, incorrectly announced that his scientists
had successfully constructed a fusion machine of such sorts. Americans, despite the fact
that Peron's claim was a fraud, began to ponder and wonder that a thermonuclear fusion
machine would look like. At that point, the U.S. government began to pour large amounts of
money into the project, and was constantly disrupted by numerous set-backs and obstacles.
One of the major problems the entire international collaboration faced was the issue of cost
and each country's economic devotion to the project. The author claimed that as science and
its frontier continued to advance, both the cost and complexity of further exploration sky
rockets as well, which the ITER project clearly portrays.

SubQuestion No : 17
When did the project ITER begin?
25 A.In the middle of First World War

< B. At the start of 21st century
25 C. During the Second World War
" D. In the middle of 21st century

Question ID : 2752286192




Join Telegram Group "HaryanadJobs.in"

Q.18

Ans

Comprehension:
Read the following information carefully and answer the given questions.

The New Yorker article, "A Star in a Bottle" explained the ambitious project upon which, world-
wide physicists and engineers are embarking on: the creation of an artificial "star", which
humanity hopes to use for its energy to power our civilization. This "artificial star" is
essentially a controlled fusion reaction which, when successful, releases a massive amount
of energy (gamma rays, in compliance with E=mcz) that they can then harness as electricity.
The current machine (work in progress) is the International Thermonuclear Experimental
Reactor (ITER). This is an international project, which China, the U.S., Russia, and several
European countries are participating in. The collaborators at ITER hope to use the machine to
solve a major problem humanity faces as a civilization- the pollution in the atmosphere
created by the burning of fossil fuels. The ITER project began during the Cold War in the mid-
21st century. Apart from the obvious economic and environmental assets of such a machine,
the curiosity of American physicists in the 21st century also acted as a major catalyst. In the
early 1980’s the Argentinian president, Juan Peron, incorrectly announced that his scientists
had successfully constructed a fusion machine of such sorts. Americans, despite the fact
that Peron's claim was a fraud, began to ponder and wonder that a thermonuclear fusion
machine would look like. At that point, the U.S. government began to pour large amounts of
money into the project, and was constantly disrupted by numerous set-backs and obstacles.
One of the major problems the entire international collaboration faced was the issue of cost
and each country's economic devotion to the project. The author claimed that as science and
its frontier continued to advance, both the cost and complexity of further exploration sky
rockets as well, which the ITER project clearly portrays.

SubQuestion No : 18

According to which country’s fraudulent claim did America become curious about a
thermonuclear fusion?

25 A The UK.
/< B.China

25 C.Russia
" D. Argentina

Question ID : 2752286191
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Q.19
Ans

Comprehension:
Read the following information carefully and answer the given questions.

The New Yorker article, "A Star in a Bottle" explained the ambitious project upon which, world-
wide physicists and engineers are embarking on: the creation of an artificial "star", which
humanity hopes to use for its energy to power our civilization. This "artificial star" is
essentially a controlled fusion reaction which, when successful, releases a massive amount
of energy (gamma rays, in compliance with E=mcz) that they can then harness as electricity.
The current machine (work in progress) is the International Thermonuclear Experimental
Reactor (ITER). This is an international project, which China, the U.S., Russia, and several
European countries are participating in. The collaborators at ITER hope to use the machine to
solve a major problem humanity faces as a civilization- the pollution in the atmosphere
created by the burning of fossil fuels. The ITER project began during the Cold War in the mid-
21st century. Apart from the obvious economic and environmental assets of such a machine,
the curiosity of American physicists in the 21st century also acted as a major catalyst. In the
early 1980's the Argentinian president, Juan Peron, incorrectly announced that his scientists
had successfully constructed a fusion machine of such sorts. Americans, despite the fact
that Peron's claim was a fraud, began to ponder and wonder that a thermonuclear fusion
machine would look like. At that point, the U.S. government began to pour large amounts of
money into the project, and was constantly disrupted by numerous set-backs and obstacles.
One of the major problems the entire international collaboration faced was the issue of cost
and each country's economic devotion to the project. The author claimed that as science and
its frontier continued to advance, both the cost and complexity of further exploration sky
rockets as well, which the ITER project clearly portrays.

SubQuestion No : 19
According to the passage, what is major problem which the project ITER hopes to solve?

25 A. Reduction in the stress put on renewable resources
5 B. Solving the electricity crisis
5 C. Cost efficiency and energy saving

4" D. Reduction in pollution caused by the usage of fossil fuels

Question ID : 2752286190
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Comprehension:
Read the following information carefully and answer the given questions.

The New Yorker article, "A Star in a Bottle" explained the ambitious project upon which, world-
wide physicists and engineers are embarking on: the creation of an artificial "star", which
humanity hopes to use for its energy to power our civilization. This "artificial star" is
essentially a controlled fusion reaction which, when successful, releases a massive amount
of energy (gamma rays, in compliance with E=mc2) that they can then harness as electricity.
The current machine (work in progress) is the International Thermonuclear Experimental
Reactor (ITER). This is an international project, which China, the U.S., Russia, and several
European countries are participating in. The collaborators at ITER hope to use the machine to
solve a major problem humanity faces as a civilization- the pollution in the atmosphere
created by the burning of fossil fuels. The ITER project began during the Cold War in the mid-
21st century. Apart from the obvious economic and environmental assets of such a machine,
the curiosity of American physicists in the 21st century also acted as a major catalyst. In the
early 1980’s the Argentinian president, Juan Peron, incorrectly announced that his scientists
had successfully constructed a fusion machine of such sorts. Americans, despite the fact
that Peron's claim was a fraud, began to ponder and wonder that a thermonuclear fusion
machine would look like. At that point, the U.S. government began to pour large amounts of
money into the project, and was constantly disrupted by numerous set-backs and obstacles.
One of the major problems the entire international collaboration faced was the issue of cost
and each country's economic devotion to the project. The author claimed that as science and
its frontier continued to advance, both the cost and complexity of further exploration sky
rockets as well, which the ITER project clearly portrays.

SubQuestion No : 20

Q.20 According to the passage, out of the numerous problems which the ITER project faced, which
is the one mentioned in the passage.

Ans  &# A. The cost of such a project and receiving the economic aid from the collaborators.
& B. The impracticality of the existence of such a machine.
< C. The security threats which accompanies while harnessing nuclear energy.

< D. The complexity of the programme.

[ Question ID : 2752286194

Section : General Hindi1

Q.1 f=fafRd s §, ar Rt § §, 39 ey o1 =g+ & Sit 9ea Sifel =0 arer e g1

Ans . A TR
5 B. gz
X C. e
& D. ufgan
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Q.2 fF=ffEd vy d, ar Reedl d |, 39 Rieheq &1 9 R Sit Y5 AsE 1 9t e 81
Ans X A AR

" B.3AFER

X C.ga=r

< D. gAMRR
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Q.3 fr=fafEa us &, 9r Rl J @, 39 98 fadheu o1 9o o 5t Reh I & g Suges e &1
gl e g1

_ wrwaHergargl
Ans X A g
X B.@&f&A
& C.Tdy

25 D.sH

Question ID : 2752286207

Q.4 fA=fafae v |, ar Rereul | 9, 39 9 fAeneu &1 a1 &2 it arerian & fore ger 2reg &
farereT gt

Rer @ gi_aren
Ans o A EICa
X B.gwe&y
X Cc. g
X D.ag
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Q.5 ﬁwﬁ@au&rﬁ,mﬁmﬁﬁ,wﬁmmmaﬁwﬁtalﬁamaﬂaiﬁlwla’n
Ans X A @IS 60
< B. ofka (b)

o C.SaR
X b it Q

$ ’ Question ID : 2752286200
Q

Q.6 ﬁwﬁ@au&rﬁ,mﬁwﬁﬂﬁ,wﬁmm\%ﬂaﬁa}ﬁqwamﬁ;@mwaﬂm
st faerea 21

Rz

Ans o A FIfsTT
< B. Rfsarsi
X C. it
X D.fer
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Q.7 fafaf@da us d, ar Rl & 9, 39 98 e o1 =09 &2 St Ry 70 wreg-g7a & oref &1 adt
farea gt

“ffY sz +ivft
Ans X A. YR 3R A5k
X B. g SR 3T
< C. e iR TR
o D. R SR AgR

Question ID : 2752286211




Join Telegram Group "HaryanaJobs.in"

Q.8 fr=fafAa ust &, ar fRereul & A, 39 frareu o1 Ta= R St Y 1Y 2Ueg a1 9097 9 gt

g5

Ans X A gF
< B. ofif
< C.@hy
o D. o8t

Question ID : 2752286202

Q.9 f=fafE@d uw &, 9r faeeal & |, 39 ferea o1 ag= & ot fovar & e aren |gt fered g
Eiueh @R Wt 4TI
Ans X' A TR foRar
X B. URumefeh fomar
2 C. amarg forar
o D. gdaferes fomam
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Q.10 FA=fafaa ust d, ¥R fereut & @, 39 frereu @1 o= &3 it R2Y 717 21 & o oreg @t
frarea gt 81 \Q
e sQ@’
Ans X' A =g SO
« B.Um
,00
X C.&= 6
X D. % \2\(0

&.

\$ Question ID : 2752286210

N

Q.11 F=fafad ust #, 9r faeedl d @, 39 faerey &1 994 &R ot Hhige 7 Ry 79 2res & Srgar
farwor & W< Tt faeRea gl

TARE I (FAReHY) T aga ufdg 81
Ans  F A TUTATEh
#< B. st ufwmor arees
X C. grd=ifen
X D. fAfga S=amemas
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Q.12 fA=faf@a ust §, 9R fRereul & @, 39 frereu @1 o= 3 Sit faeiy 21 &1 9a@ et s g1
TR
Ans X' A 3ed
" B. Id
5 C. amH

< D. 3z
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Q.13 Pr=fafda uer &, ar fraedt § 9, 39 Rierea & 9 & ot Ry 79 e & fog w8 agsiife
Ty & farg &1 R gt

THIA
Ans o A =iz @ Rige A
75 B. ¥TeTT & St dgAr
< C. ¥z gH 1T
o D. 9T R 92 & s

Question ID : 2752286201

Q.14 Pr=afafle us 8, 9 Reeal § @, 39 Rieea o1 999 & 5t Hige | Ry T ae & Jgar seag
& g o1t fasea gh
& (rfafe) g 81
Ans X A Teediec srd
< B. Gg=agdtye g
X C. Rromfeetes s
o D. fharfasivor sre
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2N
Q.15 ﬁwﬁr@auﬂﬁ,mﬁmﬁﬁﬁ,wﬁmmmaﬁﬁmdmm@%aﬁél

Ans X' A goordr 360
< B.TEa (b
¥ C.3 Q}Q
25 D.gHEt 6

\2\"0

§ ’ Question ID : 2752286197

Q16 ﬁwﬁl?%fa;ﬂﬂ.mﬁaﬁvﬁﬁﬂ,wfﬁmaﬂ%aﬁa}ﬁqﬂqam%wﬁmﬁhﬂammﬁ
|aa7m I

gsi=g

Ans g A TR
2 B. kg
< C.Sieie
75 D.afg
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Q.17 ﬁwﬁrlgauﬂﬂ‘,wﬁmﬁﬁﬂ,wmﬁﬁmmmaﬁsﬁﬁqmam&mﬁmfmaﬁa
forerea gt

aq
Ans X A @eH

< B.3u™
& C.@MeH
o DI
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Q.18 F=faf@d ust &, R el d @, 39 faared &1 797 R St i | Ry 1Y 2reg & Srgar aegs
QY dTeeh YdATH ol a9t 3=aT faahed &1

Ans X A (%) fRroid 9 SR ugan &l
25 B. (@) 7 g 21
#5 C. (I8) T IamT =1gd ol
o D. (I7) g 37T 71 T 81

Question ID : 2752286214

Q.19 f=fafad ust #, 9rR et d @, 39 fRevey o1 999 &R 5t fhige § Y 719 2rez & SIgar
T & A 1 Tt femeu gh

@ A (o) dt @Rl 81
Ans X A fFsarad
o B. 3ifgp ara
X C. Oy I

< D. usdrdeh
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Q.20 Ao us d, arR Rt 7 @, 39 fseq @1 oa+ St g 202 &1 9l AT &1

Ans X A St \
% *
X B. Sy 60
X C. gamer ,03
o D. Jomd A(b‘Q
\
\2\(0 Question ID : 2752286208
\ 2.
O
N‘
Ay

Section : General Hindi2

Q.1 fFafafad us §, ar el § 9, 39 feea &1 =a= & St g 7g ggrer =1 adh sref aren
farea g1

Fehd-RT THET
Ans X A «fRhgH
X B.agafimern
2 C.gg e
o D. T8 1 SR AT
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Q.2 fr=fafaa us &, R Raeat § |, 39 Riareq o aa 2 ot Ry 7g arem & g uer & W &
@ 3r=a1 fAeeu g1

==t foReAT 31T iy Us &R 3@ &
Ans X A SR¥ENde
2 B. gofarenas
< C. wrfdenadh
o D. TIqweltas
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Q.3 Prafafla us &, ar el § @, 39 Rerca o1 997 & i G 9T T TG) =T e 31
ANS o A TH T HM HA 812

#< B. TH T &M &l &7

< C. g RT i hd 87

X D. A 1 1T § haT?
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Q.4 fr=faf@a us &, 9r Raeat § @, 39 Riereg o o= &2 ot Ry 7g areg & fag gfa & A @
@ 3r=a1 fAeheu g1

R 7 e oredt oft T v 21 %\Q
Ans X A wereef 360
X B. faemf Q
25 C. @grd @Q
o D. Frspnef \b(éﬁ*
§$ Question ID : 2752286216

Q.5 gw%@auwﬁ,mﬁwﬁﬂﬂ,wﬁmméﬂaﬁa}ﬁqmm#mmaﬂﬁm
I

of @ f@ereh at & @
Ans X' A I Wi
2 B. fere gduahTe
o C. oqoT< T
X D. A e
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Q.6 ﬁwﬁ?auwﬁ.mﬁm?ﬁﬂ.wﬁmmmaﬁﬁﬁnﬁaﬁﬂ%maﬂaﬁm
farea g1

Qe 6t TRl & Hareht glepl
Ans X' A T TTY 3 B AT
« B. BIE-T2 &1 & A @1
X C.ushdr A s e
< D. T S gifor arat
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Q.7 f=faf@d vy 3, IR faereul & @, 39 fAeea &1 == &2 it &) 71 Atenifr &1 9@ aref arar
faerea 81

FHAGH I &R GeAT &
Ans X A &f&Tsal @ s
< B. ¥ & g A 8T B
X C. B gefad A ge o 9t geftaa & g
& D. <1 W 9+t &t SRR glat §
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Q.8 fA=fafad us &, ar el & Q, 39 faaea &1 99+ &R St Gl arem 9 1 faehed gl
TIER a1 dY T ST a1 aR Wi
Ans X A fgra
< B. UHdrah a1y
o C. 9g<h arery
X D. I At
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Q.9 fA=fafEd us 7, IR faereul & @, 39 e &1 =g &2 St &) 71 Alenifs &1 T8
faerea 81 S
A Q)
R Rreeht @ A2 30
Ans X A. S 99 S T Qo)
,b(\

< B. aRem &1 g off ol 7 e
N

X C. AgTa foreft &Y ary famelt afR et \2\(0
o D. 31U Srtherar R &g $

&
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Q.10 fFA=fafae us d, 9R fereal 7 9, 39 frerea o1 o= & Sit favrr Rig g area @ 9@ fawea
gl
Ans X A JdTd A UBT Y ...? g-ioTd T SIfeR R g =iy

#< B. 3aTe 7 4T, Y e o YRR R g A1y
o C.3ara A U@l, "HY ...?" g o IR &l g1 a1fgy?
25 D. I 7 UBT hdt G-iord o SR R g1 A1feg
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Q.11 fFA=fafae us d, IR Rt 7 @, 39 fasea @1 7a+ o it 9 araa A< &1 fawe g
I8 39 gt =g & foh S A aredff g
Ans X A Od areRa
Z< B. fauraree arer
X C.dg<harl
" D. A a
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Q.12 fAfafad s §, TR Rt 7 9, 39 Ry &1 o= 2 5t g 7 gerer & agl oref aren
faerea 21
T & g AT
Ans o A 9gd gE! T RAH g
< B. 9gd WA AT
75 C. P ulksm sz
25 D. Igd Y 3T

Question ID : 2752286226

Q.13 R=faf@d a8, ar Rl & &, 39 e o1 9= & it form Rig g arera &1 98 fiemea
Gl

Ans X A 3Tl dict e Siiet ARAT STt IHET € at AR & ofrar §
o B. 3 Tat-U gleme ate, "HRAT SreesT wErdlt § o W F S gl
X C. 3 ot diet glens et "HRAT 31T Wt & df iR A Sirar gl
< D. & AT gl aiiet, AT STesT SRS & df 7R & ST g
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Q.14 A=l s A, ar faereut 7 @, 39 forereq a1 o @ Sit Y 710 ggrer o1 a8l oref aren
el \Q
HE! T I&Te AT \Q
Ans X' A sHTETA fe@m O
 B. S a1 st STl e g (00
#< C. guHETg U gl (&%
X . aga R @ e
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Q.15 f=fafad s d, TR Rt § Q, 39 e &1 o= = sit form Rig g e &1 98 e
gl

Ans X A TT 3 7Td @ gl T 7 o et 3T ¢l eI, 9gd 3T e €
o B. T 3 7d T g, el ! o St sresT TEl g, 9gd g3 el 2l
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Comprehension:

ffafea merisr @ eamgde fey ofk fig g g & W sl

fermTo chetr o aoft & Safay o @1 8, 3T gt wiarsy & farg ofik oft 3idm &1 ehrar & Qg 1 arel
& <1 e, famm, 9%pfa ofk w1fecy gkt haet famTom et & forg € IuilT 3 st 39 o ot oft

S ehefl & folq ST WIHT IUANT Bl ¢ | aga-at fRA&70r TRy § STt Aiverdes dersil & s am g1
S0t it o 3 ciRgen] i Pl ATl BTN, AT IT 59 ARG o A1 o fohe! 3R ATl &l TR

3 & wenIfAa giem e Sft &t fedra STt o U TR B o1 thof STaT R 61 § TR S aret i H
Tg hell, &1 e T ¢ et | faenfdal ot farsyfemera & Seria mgicaa wR St i3t & sraf, 3

gt i # BUT - ‘STuehY 18T & IUTNT BT Teh BY AT 8, ITST &1 SITd-fafa ot et uRe Hifeg|
o gefto & forg faf@g )’ &3 g snfaser T AT gRenerar gan Zefifasm W S 3@ 39 avg Fde
AT} TG hed §Y Bleh UFAdT ¢ foh R U chl HiheTdT &l ART 91 39 ShU-T &l 6, Hifeh 351 b

TiedTe 3R IRom & #7 39 e & shed sgrn o)

SubQuestion No : 16
Q.16 3rgede & fasmo= & wfe wifrsa & farg @ s saré 7€ 82
Ans X' A. IO ol STI U ek STTQT
75 B. fagmom o1 IuaiT fR-g &=t & &) fovar smgmm
o C. 91 85 31U 70 35T Bisahe faf 9= Iaaral o1 fasma= e FoR et

< D. fasTu= &1 g8~ & gt SIe

Question ID : 2752286231

Comprehension:
ffafea meris @ eamgde fey ofk fig g gt & s gl

faToe et S doht © Safd e @) 8, U9 gt Wfaw & forg iR of siden &1 Tl e OuT i o1 arelr
& <Ta fem, famm, 9%l ofk w1fecy gkt dhaet faTom ahetr & forg & IuilT 3 S| 39 o airet oft

9 ehefl & foTQ ST WIHT IUANT Bl 6| aga-&t fRA&T01 TR § ST AivrerhehHemsi & o= am 81
SOt Uit o ohg caehl Y il AT SIS, TS IT 59 d<E o A1H,.oh fohdl 3R AT chl TR

fAf T R gtene are Sft Y fiea a1t & ufd TR 819 ol thut-31aT e W8T & TR o7 aret i &
Tg hell, &1 e 3T e Sieelt | faenfat ol frsyfemera & Serid Gtcaa wR St et & sah, 3

et i A BUT W@ ‘STuehY 18T & IUTNT BT Ueh gY AT 8, SISl g Sid-fafa o et uRe Hifeg)
o A o g ff@g 1’ 8% 1Y SfashR a1 I8t JEemar- g3t et IR ST o 39 a¥g ae
AT} TG hed gY Bifeeh TFAdT ¢ foh R U chl Hlheld! &l ART 91 39 hU-T &l 6, HRiTeh 3o

e 3R IRUM & #7 39 {2 & sed sgran |

SubQuestion No : 17
Q.17 39 ITedE & AT & @k T g1 TTgeT 87
Ans X A HMg Siiad g fammue et e e 98l o Iaha

o B. fA5T0 Set A A= & e St @l gemfad forar @
X C.agw fagma fr dgar @ wiet R @
2< D. o= o 7gsg & e & hiS Hea e @
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Comprehension:

frffad e ot eryde ey ik g e weit & SR &Sl

T et o Aot @ Safa o 2 8, 399 g8t wifasy & forg ofi oft siem &1 owrar & 9w T o1 aren
& STa fvem, famm, S5pfa ok Aifecy et haet famToe et & forg € IuihT 3@ S| 39 o ot oft

S Thell & foTq SIeT @I SUANT BiaT &1 aga-2it fRieror Sward & it aivertie dwrsi & = 7 &1
ST UIET & e TIRaeh ch il ATl BT, FIHATS AT 39 ARG oh ATH o fehdl! 3R ATl Y TR

AT & yeRIfId giene are Sit i feaTd 1T & Ufd TR §19 ol thof S1aT ohe 8T & FTR ST atet g &
Tg T, &l SheH ST ¢ wireett | et et fayfaenera & Seria agicag R s 3Rt & srdeh, s

et w9 & SuT |- ‘STuchY AT & IUTRT T Teh &t AT 8, 31T 8t SMaTd-fafa o1 dem grY fifSl
7o et & forg foifRg 1 6% g onfarenr a1 g1 TRt go 2efifaem W Sta g 39 a¥s R
HIT-"! T Dhed §Q sliedh THAdT & foh AR Hac i HheldT T TRT 4 39 U1 ol &, 11h 3761 &

UicaTe SR IR § & 39 feam & shen agrr |

SubQuestion No : 18
Q.18 adwuT # fAreror sl H = R_Afg a7 1 &2

Ans X A oEidENaTEe
o B. 3 Tiveriies Gerail & farsmoe A ave 3§ T 8
75 C. giuciiae Garsil & 91 Skl his dae g1 &
X D.gh I T §
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Comprehension:
fferea erier et eargdes ufeq ok 5T T usif & SR S|

= et S it & Iafd o 1 8, 3T Hgt s & forg ofiR off oidam 81 are T4 i 31 are
& ST fer, fasm, dwpfa ofk anfecy s+ent Shaet fasTa et o forg 8t o 28 STQem | 3 ot arreT ot

T hefl & foTq STeT QT IUANT Bl &1 Tga-2t fRieror Swamd & it Siverieh@wrst & s 7 81
ST UIET 3 e TIRaeh h il ATl BT, FHATS AT 39 ARG h ATH. o fehdll SR AT T TR

AT & R glene are Sit i feeTa 1T & Ufc TR §19 ol thet-31aT e @1 & TR ST aret g &
g hell, & Shed 3T g STge | fenfiat @t ey & Serid Geicaa w i fEfiaf & srdh, S0

et 9 & SuT |- ‘STUchY AR & IUTNT T Ueh &t AT 8, S{ToT 6 STATd-fafd o1 e grRY hifSl
o A o g ff@g 1’ 8= 1Y SnifashR a1 et a3 Seftfaet 0 ST o 9 a<g Haed
AT TE e g Bifceh UadT & foh TR U hl UheldT ol IRT 94 39 o1 i 8, Tifh S8 &

UicTe SR IRon § &+ 39 feam & sher agrr |

SubQuestion No : 19
Q.19 39 3¢ & IS IJugh 2fefan:
Ans X A fagmoe & gedt g

< B. 37T o famma=
o C. fomu= <t srgeit =)
& D. "Ag<agi fasmae
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Q.20
Ans

Comprehension:

frffad e Y eryde ufey ofk gy weit & SR &Sl

T et oy Aot @ Safa o 2 8, IU g8t wifasy & forg ofi oft aiem &1 wwrar & 9 i o1 aren
& <Ta e, famm, Spfar ofk Aifecy ikt Shaet famToe et & forg &1 IuahT 3@ S| 39 o ot oft

59 Thell & oTQ SIeT @I IUINT BiaT &1 aga-2it fRieror Sward & it diverties dwrsi & s #m 81
St il o hg Saehl Y HiaT AT BT, TSI IT 39 a<g o 1 S fohedt 7R 1eT hl TR

AT & TemTfId Sl ATl Sit <hl frdTTel STTeHT 3 Ui TR B 3T Thof 1T I T@1 & TR S aTel i1 H
Tg T, &l Shed S J¢ wirgett | faenfat et fayfaenera & Seria agicaa R s 3Rt & srdeh, s

et ol & Bur BT ‘Smuhl Y81 & IUTNT T ek &) AT &, 31T &t Srmard-ata bt e uRe hifSiul
Tt ot & forg fofRg 1’ = T onfarenr ot AT el gorm 2efifaer w SaR g 36 a¥E fae
HIT-3! TG Dhed §Q Bliadh TEHAdT & foh AR HTc i HuheldT I TRT 14 39 U1t i &, 1fh 3761 &

UicTe SR IR ¥ &+ 39 fGam & sher agrr |

SubQuestion No : 20

38 @ I - T UeE TR h1 TATgaTH A g 87
< A ferh
< B. g
X C.wfafg

o D. &I
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Section : General Ability1

Q.1 Select the option that is related to the third term on the same basis as the second term is
related to the first term.

NSX:KPU: RHQ:?
Ans X A.MGO
< B. OGN
& C.OEN

% D.NDP \Q
el

A~
N4
N Question ID : 2752286245

q),)

-\
Q.2 Aisthe father of B and C. B is the son of A but C is not the son &(b\How is C related to A?
Ans X A. Brother (&

#< B. Nephew
$ B

< C. Niece $

«" D. Daughter $

Question ID : 2752286252

Q.3 Out of the given options, three are similar in a certain manner. However, one option is NOT
like the other three. Select the option which is different from the rest.

Ans o A HIN
X B.KMP
X c.oqQr
X D.WYB
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Q.4 Arrange the following in a logical sequence:

1. Foot
2. Eyes
3. Legs
4. Neck
5. Stomach

Ans A 1,3,54,2
2% B.54,21,3
2 C.31,24,5
X D.2,54,1,3

Question ID : 2752286253

Q.5 If SMALL =57, MUST = 73, then what is the code for FINGER?
Ans X A 48

2 B.50
& C.59
X D.62

Question ID : 2752286250

Q.6 Out of the given options, three are similar in a certain manner. However, one optl&?% NOT
like the other three. Select the option which is different from the rest. ()

Ans X A.Buy:Sell 3O
75 B. Bow : Arrow (b

« C. Profit : Earnings @Q

N

#< D. Chair : Table \2\(0

QX Question ID : 2752286243

S

Q.7 Inaclass, Manisha's rank is 29th in the class and Nisha is 8 ranks ahead of Manisha. If Nisha
ranks 32nd from the last, then how many students are there in the class?

Ans X A 51
X B.53
X C.54
o D.52

Question ID : 2752286255

Q.8 Out of the given options, three are similar in a certain manner. However, one option is NOT
like the other three. Select the option which is different from the rest.

Ans X A Bus

< B.Car
4" C. Boat

2 D.Cycle

Question ID : 2752286241
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Q.9 Complete the following letter series:

BCQ, DER, FGS,
X A.GKT
X B.HJS
X c.6Ju

o D.HIT

Ans

Question ID : 2752286238

Q.10 In a certain code language,
zin min tin lin means she loves rock music
gin zin yin tin means she has big rock
fin gin sin tin means she has smart watch
what is the code for big?

25 A lin
< B.zin
«” C.yin
2 D.tin

Ans

Question ID : 2752286251

Q.11 If Violet is Indigo, Indigo is Blue, Blue is Green, Green is Yellow, Yellow is Orange,

Red, Red is White, White is Black, then which of the following is the color of sI@p.

Ans  # A Black
725 B. White
725 C. Yellow

< D.Red

@)
0‘9
>
Q
\2\"0

geis

&.

Question ID : 2752286248

S

Q.12 Find the wrong term in the following series:

BKT, HQZ, NWF, TCL, ZHR
X A TCL

X B.HQZ
X C.NWF

Ans

& D.ZHR

N

Question ID : 2752286239

Q.13 In a certain code language, Q=T, K=N and A=D, then how will MOVE be coded as?

Ans  # A PRYH
25 B.sQxl
#< C.RSZU

X D.oqQul

Question ID : 2752286249
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Q.14 Select the pair that is related on the same basis to the pair given in the question.
GPF:I0H ::?
Ans X A.DMK:FPN
2< B.XRH : ZUG
X C.RJC:TKE
«" D. VUG : XTI

Question ID : 2752286247

Q.15 Ritika, Esha, Nisha, Vishal, Darsh and Faiz are sitting around a round table facing the centre.
Ritika is opposite Nisha, who is to the right of Faiz, who is not opposite Esha, Ritika is next to
Vishal. If Esha is opposite Vishal, then who is to the right of Darsh?

Ans X A Faiz
< B. Vishal
< C.Darsh
« D. Ritika

Question ID : 2752286254

Q.16 Out of the given options, three are similar in a certain manner. However, one option is NOT

like the other three. Select the option which is different from the rest. Q
Ans o A KQZ:ENR %3
 B.OVB:SZF 60
25 C.FIL:JMP (03

@

2< D. GMT : KQX

(0 Question ID : 2752286242

S~

Q.17 Select the pair that is related on the same basis$ pair given in the question.
Taka : Bangladesh :: ?
Ans  # A Rial:lran
#< B.Yen: China
25 C. Kuwait : Dirham
#< D. Drachma : South Africa

Question ID : 2752286246

Q.18 Select the option that is related to the third term on the same basis as the second term is
related to the first term.

Hammer : Tool :: Lizard : ?
Ans X A Mammal
" B. Reptile
75 C. Rodent
#5< D. Amphibian

Question ID : 2752286244
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Q.19 Find the missing term in the following series:
P4-Pqq-qapr-q
Ans o A qpq
X B.paq
< C.agp
< D.qaq

Question ID : 2752286237

Q.20 In the following question, one of the option cannot be formed by the word, given in the
question. Find that word.

ENCYCLOPEDIA
Ans X A PLACID
«" B. LINKED
< C.PoOLICY
75 D. COINED
Question ID : 2752286236
N aN
NN
Section : General Ability2 \0% :

Q.1 uwﬁwm&mmﬁ,mma’raﬂ;lWIIMwﬁlmwa%H?ﬁwm%,
uﬁ:ﬂugm:mawﬂﬁﬁmﬁaghamaﬁngﬁvhﬁm% Y ekl & & <Rl 9T,
T & g, 9t R 7g s o1 IgERor et g1

o mmmﬂ@ﬂmmﬁaﬁm@@. gt afre?

?‘E&'
I.ﬁ,mmﬁ@@mmﬁﬁﬂ%@ﬂtaﬁﬁaﬁﬁﬁmaﬁm
fa=rih

II. 7, ag =afwral Y Miufaar st arfdq e ik safog ag sRa g 21

Ans X A & | 3iRah Il S Gaa &
< B. haa deh |l gaeT @
& C.Fad ad | gaal &
XK DAdFIMRIN I T g

Question ID : 2752286258

Q.2 Find the least number which when divided by 7, 14 and 35 leaves a remainder 8 in each case.
Ans X A.70

o B.78
X C.100

< D.45

Question ID : 2752286263
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Q.3 A cube is painted Red on two adjacent faces, Blue on other two adjacent faces and Green on
the last two adjacent faces. This cube is cut into 125 smaller cubes. How many of these
smaller cubes will have only three faces painted or no paint on any of its faces?

Ans X A .36
X B.25
X C.24
& D.35

Question ID : 2752286272

Q.4 The given Venn diagram shows the number of students who are a member of quiz, dance and
debate Club. How many of these students are a member of dance club?

Ans X A.20
X B.18
X C.26
o D.34

Question ID : 2752286267

Q.5 The given Venn diagram shows the number of people in a colony who are teachers, writers
and singers. There are 100 people in the colony. How many of these people are none of the
above? N\

Ans X A.10

X B.16 (\,03
X c.
C.24 6{0

o D.20 \z\(b

QX Question ID : 2752286264
Q

Q.6 Select the option that is related to the third term“on the same basis as the second term is
related to the first term.

24:60::64:?
Ans X A 120
o B. 160
X C.128
X D.146

Question ID : 2752286260

Q.7 Which of the following answer figure completes the series of the question figure?

Ans A
&< B.
< C.
< D.

Question ID : 2752286271




Join Telegram Group "HaryanaJobs.in"

Q.8 Which of the following Venn diagrams best represents the relationship between animals,
amphibians, reptiles?

Ans o A
&< B.
& C.
< D.

Question ID : 2752286266

Q.9 Out of the given options, three are similar in a certain manner. However, one option is NOT
like the other three. Select the option which is different from the rest.

Ans X A
< B.
o« C.
< D.

Question ID : 2752286270

Q.10 If a mirror is placed on the line MN, then which of the answer figures is the right image of the
given figure?

Ans X A \Q

& B
< C 360
X D.

,00

(ﬁ Question ID : 2752286275

Q.11 Select the option that is related to the third image ol ‘same basis as the second image is
related to the first image. $

Ans X A
X B.
« C.
< D.

Question ID : 2752286268
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Q.12 In the question two statements are given, followed by three conclusions, |, Il and lil. You have
to consider the statements to be true even if it seems to be at variance from commonly
known facts. You have to decide which of the given conclusions, if any, follows from the
given statements.

Statement 1 : Some forks are plates.
Statement 2 : All plates are spoon.

Conclusion | : Some plates are forks.
Conclusion Il : Some spoon are forks.
Conclusion lll : All forks are spoon.

Ans X A. Only conclusion | and Il follows
%" B. Only conclusion | and Il follows
25 C. All conclusions |, Il and Il follow

25 D. Only conclusion | follows

Question ID : 2752286259

Q.13 Which of the following answer figure patterns can be combined to make the question figure?

Ans X A
< B.
« C.
< D.

Question ID : 2752286274

Q.14 w1 9 Qe sy far man g, e are Rars & &1 & | iR || 2y g &) siueht 39 &yl ot 9
AT 8, ¥ &) U8 QTH=ad: I1d 921 @ 199 udia gt enuent ag Rofa o= & a6 Ry 1y sardars &
e & @ i <, af i &, At g g e T srgeRoT et g

Y et IX B # 80 ufdera o oo sifaw udian d a1

HIRATS <hl ShH:

I: et IX B & fAerer Ster @ 781 vt @ &, sufeg.32 e far s=m =nfgwl

1: =7 fAeror Fep-itenl ot @R fkam st =nfR <7t s i sraurone &l dgar aditd 9 gagA |
g st

Ans X A had | SER0T AT §
" B. 3had || STER0I deaT §
2 C. 71 3R AEH I SeRoT shear &
X D. 1 3R || T SrgERoT e &

Question ID : 2752286256

Q.15 In the following figure, triangle represents Indians, rectangle represents cooks, circle
represents footballers. How many Indian footballers are cook?

Ans X A.15
# B.20

& C.10
X D.18

Question ID : 2752286265
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Q.16 In the question two statements are given, followed by two conclusions, | and Il. You have to
consider the statements to be true even if it seems to be at variance from commonly known
facts. You have to decide which of the given conclusions, if any, follows from the given
statements.

Statement 1 : All fish are tadpoles.
Statement 2 : All tadpoles are frogs.

Conclusion | : All frogs are tadpoles.
Conclusion Il : All tadpoles are fish.

Ans X' A.Only conclusion | follows
#< B. Both I and Il follows
#5 C. Only conclusion Il follows

«# D. Neither I nor Il follows

Question ID : 2752286257

Q.17 Find the missing number in the following series:

3,624, ,1152
Ans X A 156

% B.120
X C.9

D. 144
v $

‘QV‘) Question ID : 2752286261

(
Q.18 If15#17=48,17#13=45,18 @ 14=48,then16 @ 22="? (\0

Ans  # A 57 6

X B.38 \2(0
X C.114 $

X D.76
&

Question ID : 2752286262

Q.19 Which of the following cube in the answer figure cannot be made based on the unfolded cube
in the question figure?
Ans o A
&< B.
&< C.
& D.

Question ID : 2752286273
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Q.20 Which of the following options is the wrong figure in the series?

Ans X A ImageC
/5 B.Image B
2 C.Image A
" D.ImageD

Question ID : 2752286269

Section : General Awareness1

Q.1 As per the Indus Waters Treaty between India and Pakistan, India has been allowed the usage
of which of the following rivers?

Ans X A.Indus, Jhelum, Chenab
#< B. Ravi, Indus, Chenab
«" C. Beas, Ravi, Sutlej
75 D. Chenab, Jhelum, Ravi

Question ID : 2752286293

83 !‘
Q.2 Sugar has the ability to absorb moisture from the surrounding it is exposed toé%of the
following terms that describes this is known as .

Ans  # A. Hygroscopy 360
#5 B. Condensation 'Q(b
>

X C. Eroding *
< D. Activation \2\(&

§ Question ID : 2752286286

ra

Q.3 Which one of the following describes the term "hypochondria"?
Ans X A.Daytime sleeping

75 B. Excessive snoring
75 C. Sleep with hallucinations
" D. Anxiety about state of health

[ Question ID : 2752286289

Q.4 Which one of the following is the venue of the Kumbh Mela in 2021?
Ans X A Ujjain

«# B. Haridwar
25 C. Nashik

2 D. Prayagraj

Question ID : 2752286278
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Q.5 Jhulta Minar is located in which one of the following states of India?
Ans  # A Gujarat

#< B. Uttar Pradesh
#< C. Andhra Pradesh
25 D. Rajasthan

Question ID : 2752286279

Q.6 Amongst the following, which river was earlier known as the "Sorrow of Bengal"?
Ans  # A Damodar

< B.Teesta
25 C. Subarnarekha
25 D. Kosi

Question ID : 2752286290

Q.7 The concepts of work and energy share which one of the following units of measurement?
Ans X A Watt

«" B. Joule
725 C. Ampere
. Q
0
\J Question ID : 2752286285
0
( g

Q.8 Amongst the following, who presents the Union Budget of Ind'a.)g@arliament?
Ans X A. Chief Economic Advisor o)

#< B. Finance Secretary $ .

25 C. Prime Minister $
Q@

«” D. Finance Minister

Question ID : 2752286280

Q.9 Amongst the following, who became the first Chairman of the Planning Commission in 1950?
Ans X A. Morarji Desai

" B. Jawaharlal Nehru
5 C. Indira Gandhi
#< D. Sardar Vallabhbhai Patel

Question ID : 2752286281

Q.10 Which one of the following should not be added to convert waste to compost in a compost
pit?
Ans X A. Microorganisms

25 B. Water
X C.Leaves
4" D. Plastic items

Question ID : 2752286288




Join Telegram Group "HaryanaJobs.in"

Q.11 Amongst the following, who is known as the author of Arthashastra?
Ans X A. Kalidasa

75 B. Aryabhatta
" C. Kautilya
25 D. Varahamihira

Question ID : 2752286294

Q.12 Law of diminishing marginal utility, means the first unit of consumption of a good yields
than the second unit.

Ans X A less utility
«” B. more utility
75 C. less price
< D. more price

Question ID : 2752286283

Q.13 Mrinalini Sarabhai was trained in which one of the following dance forms?
Ans X A Lavani

X B.Bihu
& C. Bharatnatyam 'Q
2 D. Gotipua 6’@
d Question ID : 2752286276
X

Q.14 Which one of the following kings of the Vijayanagara empirggenmed to the Tuluva dynasty?
Ans X A. Hariharal

#< B. Sriranga | $$ ‘

«” C. Krishnadevaraya $
25 D. Thimma Bhupala

Question ID : 2752286295

Q.15 One of the following is classified as a flowering plant. Name it.
Ans X A. Mosses

« B. Grasses
#< C. Conifers
< D. Ferns

Question ID : 2752286287
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Q.16 Ason April 2020, GSTongoldasagoodis_________ percent, while in case of gold jewellery
an additional 5 percent GST is applicable on the making charges of the gold ornaments.

Ans X A2
& B.3
X C.25
X D15

Question ID : 2752286284

Q.17 Amongst the following, the market value of share is described by
Ans X A. future values of all earnings on the share

75 B. IPO value of the share
«# C. buying or selling value of share
< D. book value of share

Question ID : 2752286282

Q.18 Amongst the following, Annapurna Devi was a notable performer of which musical

instrument?
Ans X A.Pakhawaj
#< B. Sarangi )
N
" C. Surbahar %~

#5< D. Ghatam 360
&

(bo Question ID : 2752286277

f

aJ
Q.19 Which one of the following is not a Himalayan pass? \2\(0
Ans & A. Palghat pass $ .

#< B.ZojiLa $$

#< C.Banihal pass
< D.Korala

Question ID : 2752286291

Q.20 As of April 2020, which state produces the maximum quantity of coffee in India?
Ans X A. Tamil Nadu

75 B. Kerala
X C.Odisha
«" D. Karnataka

Question ID : 2752286292

Section : General Awareness2
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Q.1 As of April 2020, which one of the following teams has never won the Indian Premier League
(IPL)?

Ans X A. MumbaiIndians
«" B. Royal Challengers Bangalore
& C. Kolkata Knight Riders
#< D. Rajasthan Royals

Question ID : 2752286312

Q.2 WRA #, 3l 2020 deh, A=faf@a & @ @i 91 < S 3R TS 1 TRl uR AT SIer 8?
Ans X A. IS ek

X B. TR Yo (3ilehgis)

< C. g 1 g[een

& D. 35 7d qaraw

Question ID : 2752286309

Q.3 As of April 2020, which one of the following is not mentioned in the Preamble to the
Constitution of India?

Ans X A Liberty
" B. Peace .
N

75 C. Justice ()
25 D. Equality 360
O

(bo Question ID : 2752286307

4
~=
Q.4 Which one of the following was the venue for Mahatm i's Quit India speech in 1942?

Ans X A. Cellular Jail $

4" B. Gowalia Tank Maidan §
25 C.Red Fort
2% D. Sabarmati Ashram

Question ID : 2752286298

Q.5 Which one of the following was the venue for the first edition of the Commonwealth Games
in 19307

Ans  # A Hamilton, Canada
25 B. Kuala Lumpur, Malaysia
75 C. Sydney, Australia
#< D. London, England

Question ID : 2752286313
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Q.6 As of April 2020, the membership of the Rajya Sabha contains a provision for how many
nominated members?

Ans X A .20
X B.18
X C.16
& D.12

Question ID : 2752286308

Q.7 In April 2020, which country announced a relief package of $2.9 million to India as relief for
the coronavirus pandemic?

Ans X' A. United Kingdom
#< B.China
725 C. Australia
«# D. United States of America

Question ID : 2752286305

Q.8 Amongst the following, name India's highest military honour for distinguished valour during

wartime.
Ans  # A Param Vir Chakra
< B. Kirti Chakra \(\
2 C. Ashok Chakra \()6
#< D. Maha Vir Chakra (OSO

@

Question ID : 2752286300

2

Q.9 Amongst the following, who created the "You Said It'gﬁstrip featured in the The Times of

India?
Ans  # A RK. Laxman $$
75 B. Satish Acharya
< C. Abu Abraham
25 D. Sudhir Tailang

Question ID : 2752286299

Q.10 Which one of the following Sikh gurus standardized and popularized the Gurmukhi script?
Ans X A. Guru Gobind Singh

«# B. Guru Angad
#< C. Guru Tegh Bahadur
< D. Guru Nanak

Question ID : 2752286296
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Ans

Q.11 In which year did the Bastar rebellion take place?

X A. 1907
< B.1905
2< C.1900
& D.1910

Question ID : 2752286297

Ans

" A. Kabaddi
25 B. Hockey

2 C. Wrestling
#< D. Volleyball

Q.12 In which of the following games a player can also be called a raider?

Question ID : 2752286314

Q.13 Which one of the following is not a literary work by Munshi Premchand?

< B. Sanskrit && ‘
X C.sindhi @

725 D. Urdu

Ans X A.Nirmala

#< B. Gaban

#5 C. Shatranj ke Khiladi

¥ D. Anamdas ka Potha 6.

AS)
\,,) Question ID : 2752286301
Y
( g
Q.14 As of April 2020, which one of the following languages is not &Q of the Eighth Schedule to
the Constitution of India? (b

Ans o A Tulu \2\

Question ID : 2752286310

Ans

hydroxychloroquine.
25 A. anti-viral

#< B. anti-fungal
25 C. anti-bacterial

4" D. anti-malarial

Q.15 As on 7th April 2020, India had announced limited exports of popular

drug

Question ID : 2752286303
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Q.16 As of April 2020, who is the highest wicket-taker in one day international in women's cricket?
Ans X A.Marizanne Kapp

< B. Catherine Fitzpatrick
" C. Jhulan Goswami
25 D. Ellyse Perry

Question ID : 2752286311

Q.17 On April 7 2020, which state/union territory adopted the 5T (testing, tracing, treatment,
teamwork, and tracking) method for curbing the coronavirus pandemic?

Ans X A. Chandigarh
« B.Delhi
X C.Rajasthan
#< D. Uttar Pradesh

Question ID : 2752286306

Q.18 What was the code name for India's first nuclear test conducted at Pokhran in 1974?
Ans & A. Smiling Buddha

75 B. Operation Shakti
Z< C. Operation Bandar ’\Q
75 D. Peaceful Buddha 6’@

&l Question ID : 2752286302
O)Q

e

Q.19 Amongst the following, who was the first person to score a%m'y for India in Test cricket?
Ans X A. Sunil Gavaskar

#< B. Dilip Vengsarkar $$ ‘

4 C. Lala Amarnath @
25 D. Lalchand Rajput

Question ID : 2752286315

Q.20 As of April 2020, which airline operated India's first cargo-on-seat flight for carrying crucial
supplies in the wake of the coronavirus pandemic?

Ans X A. Vistara
" B. SpiceJet

725 C. Indigo
725 D. GoAir

Question ID : 2752286304

Section : Arithmetic Ability1
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Q.1 An article bought for Rs. 500 is sold at a profit of 20 percent. Find its selling price.
Ans X A.Rs. 400

o B.Rs. 600
2< C.Rs. 300
2< D.Rs. 500

Question ID : 2752286327

Q.2 You have Rs. 3600 in your account and the interest rate is 5 percent per annum. After how
many years would you earn Rs. 360 as simple interest?

Ans X A. 3year
< B. 4year
25 C.1year
o D. 2 year

Question ID : 2752286334

Q.3 Inthe school library, the ratio of Science books to Social studies books is the same as the
ratio of Social studies books to Math books. If there are 900 books of Science and 600 books
of Social studies, find the number of books on Math?

Ans X A. 300
& B. 400 \(\
2 C.100 \Q%
< D.200 30
&

@

Question ID : 2752286331

2

Q.4 The marked price of a ceiling fan is Rs. 960. During of ;gg;on, if it is sold for Rs. 816, then
the discount is Rs.

Ans X A. 150 $$

o B.144
2 C.124
< D.156

Question ID : 2752286320

Q.5 If arectangular courtyard is 20 m 2 cm long and 26 m 18 cm broad and it is to be furnished
with square tiles of the same size, then the least possible number of tiles is

Ans X A. 345
& B.221
X C.632

X D. 481

Question ID : 2752286319
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Q.6 A gets 5times as much money as B gets, B gets only Rs. 25 more than what C gets. The
three get Rs. 675 in all. Find the share of B?

Ans X A Rs.140
2< B.Rs. 200
< C.Rs. 120
«” D.Rs. 100

Question ID : 2752286332

Q.7 Inaclass of 50 students 30 percent are boys. 80 percent of girl students passed an exam
conducted for the whole class. What is the number of female students who passed the
exam?

Ans X A 25
o B.28
< C.31
X D.35

Question ID : 2752286325

Q.8 The greatest number of four digits which is divisible by 24, 36 and 50 is
Ans X A 8964

% B. 9560 N

o C. 9000 \Q%

< D. 8400 30

ﬁfb Question ID : 2752286316
2
&

Q.9 Which of the following two ratios is not in proportion? \{\
Ans X A.13:39and25:75 §

o B.24:28and 36:48 @

X C.1:5and3:15
2 D.4:12and9:27

Question ID : 2752286333

Q.10 If the product of two numbers is 3000 and their LCM is 300, then the HCF is .
Ans X A.100

2 B.50
& C.10
2% D.40

Question ID : 2752286317
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Q.11 Simplify: 120 +[18-{20-3x(19-15)}]=
Ans A 12
X B.8
X C.16
X D.14

Question ID : 2752286318

Q.12 If 40 percent of a = b, then b percent of 40 is the same as
Ans X A 4percentofa

< B. 14 percentof a
< C.8percentofa
«# D. 16 percent of a

Question ID : 2752286323

Q.13 If a number is increased by 30 percent and then decreased by 20 percent, then the net

increase or decrease percent is____ percent.
Ans A4
X B2
xc.3 N
% D.1 60%’

Question ID : 2752286326

N

Q.14 The marked price on a bicycle was Rs. 4000 but the shopk 3ffered a double discount of
20 percent and 15 percent. How much did he finally sell.t cycle for?

Ans X A.Rs. 2300 $ .

2 B.Rs. 3600 $\$
& C.Rs. 2720
2 D.Rs. 5700

Question ID : 2752286322

Q.15 David borrows Rs. 9500 from a bank. Find the amount to be paid by him at the end of 4 years
at the rate of 7 percent per annum simple interest.

Ans X A.Rs.12170
& B.Rs. 12160
< C.Rs. 1217
X D.Rs.1216

Question ID : 2752286335
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Q.16 If the mean of 20 observations is 40 and that of another 30 observation is 32. Then the mean
of all 50 observations is

Ans  # A 352
X B.31.3
X C.348
X D.33.6

Question ID : 2752286321

Q.17 The third proportional to 0.16 and 0.4 is
Ans X A 055

X B.2

& C.1
X D.0.85

Question ID : 2752286330

Q.18 A man sold a fan for Rs. 430. Find the cost price if he incurred a loss of 14 percent.
Ans X A Rs.200

* B.Rs. 300
« C.Rs. 500 -
% D. Rs. 400 sQ%
®)
d Question ID : 2752286328
.O)Q

sold it to his friend Roshan for Rs. 27720. How much p: did Soham gain or lose?
Ans X A.2.14 percent loss $ .

«" B. 3.24 percent gain $$

75 C. 3.27 percent gain

Q.19 Soham purchased an old scooter for Rs. 24000 and spent @%0 on its repairs. Then, he

75 D. 4.18 percent loss

Question ID : 2752286329

Q.20 How much is 30 percent of 50 greater than 20 percent of 30?
Ans X A1

X B.4
& C.9
X D.5

Question ID : 2752286324

Section : Arithmetic Ability2
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Q.1 The given histogram represents the marks scored by a group of students in a Math test. How

many students scored 70 marks or more?

Ans X A.8
o B.9
K C7
X D6

Question ID : 2752286355

Q.2 The compound interest on principal amount of Rs. 20000 for 2 years at 11 percent per annum

compounded annually is Rs.
Ans X A. 4842

X B.4142
X C.4442
& D. 4642

Question ID : 2752286337

Q.3 The simple interest on Rs. 6660 at 7 % percent per annum for 8 months is Rs.
Ans X A 444

X B.555 \(\

X Cc.222 6()% )
& D.333 ,03

@

Question ID : 2752286336

2

Q.4 If a factory produces 24 bicycles in a day, how many bi ;ﬁ;s will be produced in 4 days?

Ans X A4
o B.96 $$

X cC.24
X D.6

Question ID : 2752286341

Q.5 The given frequency polygon shows the lifetime of neon lamps. Observe the given frequency
polygon and answer the following question. What is the range of the lifetime of neon lamps?

Ans o A 350
2 B.500
X C.650
2 D. 850

Question ID : 2752286354
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Q.6 If Sonam travelled at 28 km/hr instead of 20 km/hr, she would have travelled 40 km more in
the same time. The actual distance travelled by her is

Ans X A 470 km
2< B.900 km
& C.100 km
2< D. 540 km

Question ID : 2752286338

Q.7 A carrunning at 55 km/hr takes one hour to cover a certain distance. If the speed is
increased by 25 km/hr then in how much time it will cover the distance?

Ans X A. 40 mins
< B. 44 mins
« C.41.25 mins
< D. 42.25 mins

Question ID : 2752286339

Q.8 A survey was conducted to find what genre of movies people liked the most. The result of the
survey is shown in the given pie chart. If 66 people liked romantic movies, how many people

were surveyed?
Ans X A.100 §Q
&

X B. 400 60
& C. 300 ,05

X D.200 {0’(\

&
Question ID : 2752286349

\ .

Q.9 The favourite flavours of ice-cream for the childr a locality are given in percentage in the
given pie chart.
Observe the pie chart and answer the following question:

What will be the central angle in degrees of the sector corresponding to vanilla?

Ans X A.110
2 B.120
o C.108
X D.130

Question ID : 2752286351

Q.10 The given graph shows the monthly budget of a person in rupees. Expenses on food is more
than the expensesonrentby ____ percent.

Ans X A 250
< B.200
& C. 500
X D.80

Question ID : 2752286353
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Q.11 The given histogram shows the amount spent on auto fare daily by the employees of a
certain company. Observe the given histogram and answer the following question. How many
employees spent more than or equal to Rs 90 per day on auto fare?

Ans X A.90

2 B.130

X C.20

" D.110

Question ID : 2752286352

Q.12 An open cylindrical tank is to be painted from inside and outside. The diameter of the
container is 42 cm and its height is 60 cm. What is the area that is to be painted?

Ans  # A 18612 cubic unit
< B. 16854 cubic unit
< C. 16782 square unit
25 D. 12564 square unit

Question ID : 2752286345

Q.13 Suhana packs gifts in 10 cubical boxes. The dimension of each cubical box is (20 cm x 20
cm x 20 cm). These boxes are to be covered with glossy paper. If the cost of glossy paper is
Rs 5 per square metre, then what is the total cost (in rupees) of covering the bof(e\ ith
glossy paper? (Assume no overlap and no wastage.) \06 .

O

Ans o ALT2
D

X B.14 Q
,0(\

Xc.s8
Q

X D.10 \2\(0

QX Question ID : 2752286347

S

Q.14 If a polyhedron has 4 faces and 8 edges, then tﬁe number of vertices of that polyhedron is:
Ans X A 4

X B.8

> c.10

o D.6

Question ID : 2752286346

Q.15 Aistwice as fast as B and B is thrice as fast as C. The journey covered by C in 48 minutes
will be covered by A in

Ans  # A.8min
2 B.4min
< C.6min
25 D.2min

Question ID : 2752286340
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Q.16 The pie chart given below shows the time taken in 7 different processes A1, A2, A3, A4, A5,
A6 and A7 in making a car as a percentage of total time taken. The total time taken in making
one car is 1100 hours. What is the difference between the time taken in processes A3 and
A4?

Ans X A.72hours

< B. 123 hours
< C. 96 hours

# D. 132 hours

Question ID : 2752286350

Q.17 If A, B and C together can complete a work in 40 minutes and if A and B together can
complete the same work in 60 minutes, then how long will C take working alone to complete
that work?

Ans  # A 120 minutes
< B. 240 minutes
< C. 60 minutes
25 D. 180 minutes

Question ID : 2752286343

Q.18 Ram can do a piece of work in 12 days and Laxman can do it in 6 days. In how m@days

they will be do the same work together? ()
Ans o A4 60
2 B.10 (03
X C.6 ﬁfb(\
XD.8 \2\(0\

QX Question ID : 2752286344

S

Q.19 Use the data in the given table to find the diffe%ce between the mode and mean of the
data? 'f' is frequency and ‘X' is value.

Ans X A 048

X B.0A4
X cC.05
& D.0.52

Question ID : 2752286348

Q.20 If 15 men take 50 days to complete a job, then in how many days can 25 men complete the
job?

Ans X A 60
% B.750
X C.75
o D.30

Question ID : 2752286342
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Section : General English1

Q.1 Select the word that is opposite in meaning (ANTONYM) to the word given below
Aggravate
Ans  # A. Conciliate
725 B.Incense
< C. Pique
< D. Rankle

Question ID : 2752286374

Q.2 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

The recession had brought (1)/ in many to the streets in protest (2)/ against the authoritarian
government. (3)/ No Error (4)

Ans X' A. The recession had brought
#< B. against the authoritarian government.
" C.in many to the streets in protest

25 D. No error

\Q Question ID : 2752286360
3

Q.3 Find the part of the given sentence that has an error in it. If there is no eg@goose ‘No

error’.
@

The Large Hadron Collider (1)/ is the worlds' largest and (2)/ most.powerful particle

accelerator. (3)/ No Error (4) 6
Ans X A. most powerful particle accelerator. (0
#< B. The Large Hadron Collider $ .

#< C.No error $
N

4" D. is the worlds' largest and

Question ID : 2752286356

Q.4 Fill in the blank with appropriate word.

Ina order, he listed down all the events which led to the series finale.

Ans X A prelogical
< B. liturgical
Z< C. analogical
+" D. chronological

Question ID : 2752286366
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Q.5 Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully. Select the option 'no correction required' if the
sentence is correct as given.

(An absurd ridiculous idea troubled him everywhere); the thought of restarting his life from
scratch, moving away and not leaving a trace behind was a battle he was fighting with
himself.

Ans  # A. Anabsurdly ridiculous idea troubled him everywhere
25 B. An absurdly and ridiculously idea troubled him everywhere
< C. An absurdly ridiculous idea trouble him everywhere

#< D. No corrections required

Question ID : 2752286361

Q.6 Fill in the blank with appropriate word.

He is further called an epic poet by Kabirdas, and three epigrams in the Indian
are assigned to him.

Ans X A haul
" B. anthology

25 C. bevy
25 D. caucus

Question ID : 2752286367

Q.7 Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option
that gives the correct sequence in which these parts can be rearranged to form a meaningful
and grammatically correct sentence.

Dr. Freud believes that people with

P. the mirror conclusively proving their

Q. schizophrenia cannot identify themselves

R. in the mirror and try to reach on the other side of
S. inability to distinguish themselves

from their reflection.
Ans X A QPSR
< B.QRSP
«” C.QRPS
#< D.QPRS

Question ID : 2752286370

Q.8 Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully. Select the option 'no correction required' if the
sentence is correct as given.

He found it extremely hilarious, (a honest man’s controversial mistake).
Ans & A the honest man'’s controversial mistake

< B. No corrections required
#< C. an honest mans’ controversial mistake

75 D. the honest mans’ controversial mistake

Question ID : 2752286363
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Q.9 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

Despite being a hard worker, (1)/ his erroneous nature mostly (2)/ yielded non fruitful results.
(3)/ No Error (4)

Ans X A. Despite being a hard worker,
«# B. yielded non fruitful results.
25 C. No error

#< D. his erroneous nature mostly

Question ID : 2752286358

Q.10 Fill in the blank with appropriate word.

He is trying to be the heavy metal guitarist by wearing black clothes,
having unkempt hair and getting lots of tattoos.

Ans  # A. quintessential

< B. sesquipedalian
< C. quinquennial
25 D. parricide

Question ID : 2752286368

Al

\\
Q.11 Find the part of the given sentence that has an error in it. If there is no error, c@se ‘No

error’.

O
The Judiciary system of India upheld (1)/ its integrity and the constitutional values (2)/ time
and time again. (3)/ No Error (4)

Ans & A. The Judiciary system of India upheld 6{0’
Z< B. its integrity and the constitutional values \2{0
25 C. No error $ .

#< D. time and time again. §

Question ID : 2752286359

Q.12 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

In spite of belonging (1)/ from a opportunity laden environment, (2)/ he could barely make a
name for himself. (3)/ No Error (4)

Ans X A. he could barely make a name for himself.
75 B. In spite of belonging
5 C. No error

4" D. from a opportunity laden environment,

Question ID : 2752286357
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Q.13 Select the word that is closest in meaning (SYNONYM) to the word given below
Emissary
Ans  # A Representative
25 B. Callous
25 C. Solecism
2 D. Nihilist

Question ID : 2752286373

Q.14 The question below consist of a set of labelled sentences. Out of four options given, select
the most logical order of the sentences which form a paragraph.

Ravindra Kaushik also known as “Tiger” was born into a modest family on 11th April 1952 in
Sri Ganganagar, Rajasthan.

P. Once while performing during his college days, he was approached by a RAW agent who
offered him a chance to serve his country by joining RAW and becoming an intelligence
agent.

Q. He took up the opportunity and joined Raw as soon as he finished his college and started
working as an Undercover Agent in Pakistan providing valuable and confidential information
to India.

R. Growing up, he witnessed the Indo-Pak war between 1965 and 1971 and this lit a patriotic
fire in his heart to serve for his country.

S. He finished his schooling from a government college in Ganganagar and attended a private
college, where he picked up his knack for acting; subsequently becoming famous for his
acting.

He was eventually caught by the Pakistani Army and was tragically incarcerated by Pakistani
government.

Ans X A.RSQP
 B.RQSP
«" C.RSPQ
< D.SPQR

Question ID : 2752286369

Q.15 Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option
that gives the correct sequence in which these parts can be rearranged to form a meaningful
and grammatically correct sentence.

Given that the Indian armed forces

P. have an overwhelming dependence on the Russian defence
Q. equipment, the news that Russia has grounded its

R. entire fleet of MiG 29 aircrafts due to structural

S. defects and subsequently found a large

percentage unsafe to fly, is ominous.
Ans X A.PQSR

& B.PQRS
X C.PSQR
X D.PRSQ

Question ID : 2752286371
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Q.16 Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully. Select the option 'no correction required' if the
sentence is correct as given.

(Embryonic stem cell studies are controversial because) the embryos are discarded once the
cells are extracted from them.

Ans X A. Embryonic stem cell studies are controversial for
#< B. Embryonic stem cell studies are controversial over
< C. Embryonic stem cell studies are controversial with

+" D. No corrections required

Question ID : 2752286362

Q.17 Select the word that is closest in meaning (SYNONYM) to the word given below

Juxtapose
Ans X A.Resemblance

X B. Parasol
< C. Exult
«" D. Collocate
Question ID : 2752286375
Al
\\
Q.18 Fill in the blank with appropriate word. 6 .
NarendraModi's___ as Prime Minister was the ex Financ!bé?ster Dr.
Manmohan Singh. (b,

Ans X A. viability {0(\
#< B. successor A
>

< C.ruminate

«# D. predecessor && ‘

Q

Question ID : 2752286365
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Q.19 The question below consist of a set of labelled sentences. Out of four options given, select
the most logical order of the sentences which form a paragraph.

The global equilibrium, which had allowed the United States to grow and prosper in virtual
isolation since 1815 was gone forever as the result of a short but shattering war.

P. Notable amongst these possessions was Puerto Rico, the Philippines, and the small island
of Guam.

Q. The 1898 Treaty of Paris ending the war gave Cuba its independence and also ceded
important Spanish possessions to the United States.

R. In 1898, U.S. domestic support for the independence of Cuba enmeshed the United States
in a struggle with Spain over the fate of the island nation.

S. The decision to aid the Cuban resistance was a major departure from the traditional
American practice of liberal nationalism, and the results of that decision had far-reaching
consequences.

With such authority and command, United States was suddenly a colonial power with
overseas dependencies.

Ans X A.RSPQ
X B.RPSQ
# C.RQSP
«" D. RSQP

Question ID : 2752286372

Q.20 Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully. Select the option 'no correction required'.if the
sentence is correct as given.

(He barely broke a cold sweat even in) that insanely intense workout regime:
Ans X A.He barely broke a cold sweat even with

#< B. He had barely broken a cold sweat even in
25 C. No corrections required

«" D. He barely broke a sweat even with

Question ID : 2752286364

Section : General English2

Q.1 Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt
word.

Ans X A.lIncoperal
< B. Incoporeal
< C. Incorpreal
«" D. Incorporeal

Question ID : 2752286380
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Q.2 Select the most appropriate ‘one word' for the expressions given below

A rich fabric woven with a raised pattern, typically with gold or silver thread.
Ans X A. Couvade

75 B. Cascade
25 C. Aubade
«” D. Brocade

Question ID : 2752286390

Q.3 Select the most appropriate meaning of the given idiom

To have a hollow leg.
Ans X A.To have a pirate lineage

#< B. To have a faint memory
4" C. To have a large appetite
#< D. Under the influence of liquor

Question ID : 2752286386

Q.4 Select the word that is closest in meaning (SYNONYM) to the word given below

Bibulous 'Q
Ans  #* A Inebriated \Q%‘
2< B. Cantankerous BO

X C. Godly (OQ
< D. Sober 6

\2\ Question ID : 2752286377

&.

ra

=V
Q.5 Four words are given, out of which only one wa@\s spelt correctly. Choose the correctly spelt
word.

Ans X A. Concieted
< B. Conceitied
< C. Concetied
«# D. Conceited

Question ID : 2752286378

Q.6 Select the most appropriate ‘one word' for the expressions given below

Lasting only for a short time.
Ans X A. Sycophant

" B. Transient
75 C. Denegation
#5 D. Inscrutable

Question ID : 2752286387
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Q.7 Select the most appropriate meaning of the given idiom

Bring down the house
Ans X' A.Yield in a difficult situation
#< B. Burn down the house
" C. Receive applause
#5 D. Confession with no holds barred

Question ID : 2752286384

Q.8 Select the most appropriate ‘one word' for the expressions given below

Treat a sacred place or thing with violent disrespect.
Ans X' A. Confederacy

#< B. Digress
«# C. Desecrate
75 D. Peculation

Question ID : 2752286388

Q.9 Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt

word.
<&

Ans  # A. Plenipotentiary

Z5 B. Plentpoteniary 60
2 C. Plenpoteniary ‘03

S

75 D. Plenpotentiary

(b Question ID : 2752286382

\ .

Q.10 Select the word that is opposite in meaning (Ag@{M) to the word given below

Destitute
Ans X' A. Penurious

< B. Precarious
«" C. Prosperous
75 D. Deficient

Question ID : 2752286376

Q.11 Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt
word.

Ans X A. Infammation
< B. Infalmmation
" C. Inflammation

2 D. Inflamattion

Question ID : 2752286381
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Q.12 Select the most appropriate meaning of the given idiom

Chip off the old block
Ans X A. To show impudent contempt

4" B. Resembling one's parents in habit
25 C. Complete failure
X D. Persistent in struggle

Question ID : 2752286383

Q.13 Select the most appropriate ‘one word' for the expressions given below

Whole body of wage earners.
Ans  # A. Proletariat

2 B. Nobility
X C.Dotage
< D. Aristocracy

Question ID : 2752286389

Q.14 Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt

word.
Ans X A.Viviporous Q

" B. Viviparous 360
#< C. Vivipareous (b

25 D. Viviporeous

\2\(0 Question ID : 2752286379

Q.15 Select the most appropriate meaning of the gi\g@om

Give the devil his due
Ans X A. To prepare for hard work

5 B. To deal with the matter straight
#< C. To do something thoroughly

" D. To acknowledge a person's good qualities who is disliked

Question ID : 2752286385
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Comprehension:
Read the following information carefully and answer the given questions.

This past decade has witnessed a surge in wildlife tourism that has doubled and tripled the
tourist load in several of the more accessible national parks and reserves. But serious
infrastructural shortcomings have brought us precariously close to a breakdown of the
ecosystem'’s capacity to absorb this load. The result is an unsatisfactory tourist experience
(and an opportunity to impart conservation values lost), overworked, pressurized and
confused wildlife staff, and occasional man-animal confrontation crises such as man-killing
by tigers. Not to speak of the ecosystem that is being battered by humans.

An important function of wildlife refuges is to encourage tourism. Recognizing that it forms
an ideal —hands-on method of orienting, educating and winning the hearts and minds of the
general public to follow conservation values and concepts. This can only be achieved by
communicating with tourists before and during their visits to a wildlife refuge.

This is referred to as —interpretation. Interpretations is properly done by having an
interpretation centre which consists of photographic, written and audio-visual exhibits
supplemented by free or priced literature and a person on hand to answer the queries of
visitors. Tourists should be routed through this facility while their entry permits are being
prepared. The general message should be the history of the wildlife refuge as a conservation
microcosm, interesting facts of some of the species it supports, and an explanation of the
mechanics of an ecosystem and its relevance to man, plus codes of conduct specific to the
area and wildlife and jungles in general. This should be backed up by a cadre of trained
naturalist guides, preferably from the local population, who should accompany the tourists in
the refuge. In some of our wildlife refuge, very poor interpretation centres exist while in most,
none exists at all. The result is tourist traffic, which is generally quite ignorant of wildlife,
ecology and conservation values, who leave the refuge no wiser than when they came in.
Leaving behind for good measure the detritus of their presence: plastic bags, cigarette
packets, bottle, paper, a lot of which is nonbiodegradable and toxic. Add to this is the fact that
wildlife guards and rangers are often diverted from their normal and actual work which is
monitoring and managing the wildlife and the ecosystem —and are made to guide tourists and
generally be at the back and call of people, irrelevant to the priorities of the wildlife-refuge.

SubQuestion No : 16

Q.16 According to the passage, which of the following given statements is incorrect?

Ans X A. Interpretations is the method of providing information and knowledge through
photographic, written and audio-visual exhibits supplemented by fré&\of priced literature and
a person on hand to answer the queries of visitors.

«" B. The reason of an unsatisfactory tourist experience jsayeyworked, pressurized and
confused wildlife staff, and occasional man-animal confrortetion crises such as man-killing
by tigers.

2 C. This past decade has seen an increase in the'wildlife tourism that has doubled and
tripled the tourism load in many of the several aceessible national parks and reserves.

< D. Itis an important function of wildlife refuges to encourage tourism.

Question ID : 2752286395
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Comprehension:
Read the following information carefully and answer the given questions.

This past decade has witnessed a surge in wildlife tourism that has doubled and tripled the
tourist load in several of the more accessible national parks and reserves. But serious
infrastructural shortcomings have brought us precariously close to a breakdown of the
ecosystem'’s capacity to absorb this load. The result is an unsatisfactory tourist experience
(and an opportunity to impart conservation values lost), overworked, pressurized and
confused wildlife staff, and occasional man-animal confrontation crises such as man-killing
by tigers. Not to speak of the ecosystem that is being battered by humans.

An important function of wildlife refuges is to encourage tourism. Recognizing that it forms
an ideal —hands-on method of orienting, educating and winning the hearts and minds of the
general public to follow conservation values and concepts. This can only be achieved by
communicating with tourists before and during their visits to a wildlife refuge.

This is referred to as —interpretation. Interpretations is properly done by having an
interpretation centre which consists of photographic, written and audio-visual exhibits
supplemented by free or priced literature and a person on hand to answer the queries of
visitors. Tourists should be routed through this facility while their entry permits are being
prepared. The general message should be the history of the wildlife refuge as a conservation
microcosm, interesting facts of some of the species it supports, and an explanation of the
mechanics of an ecosystem and its relevance to man, plus codes of conduct specific to the
area and wildlife and jungles in general. This should be backed up by a cadre of trained
naturalist guides, preferably from the local population, who should accompany the tourists in
the refuge. In some of our wildlife refuge, very poor interpretation centres exist while in most,
none exists at all. The result is tourist traffic, which is generally quite ignorant of wildlife,
ecology and conservation values, who leave the refuge no wiser than when they came in.
Leaving behind for good measure the detritus of their presence: plastic bags, cigarette
packets, bottle, paper, a lot of which is nonbiodegradable and toxic. Add to this is the fact that
wildlife guards and rangers are often diverted from their normal and actual work which is
monitoring and managing the wildlife and the ecosystem —and are made to guide tourists and
generally be at the back and call of people, irrelevant to the priorities of the wildlife-refuge.

SubQuestion No : 17
Q.17 What is actual work of the wildlife guards and rangers?
Ans X A. To provide tourists with answers for all their queries on wildlife,

5 B. To act as a tourist guide for the tourists.
5 C. To inform and make aware about the preservation of.the wildlife.

«# D. To protect, manage and monitor the wildlife refude and the ecosystem.

Question ID : 2752286396
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Comprehension:
Read the following information carefully and answer the given questions.

This past decade has witnessed a surge in wildlife tourism that has doubled and tripled the
tourist load in several of the more accessible national parks and reserves. But serious
infrastructural shortcomings have brought us precariously close to a breakdown of the
ecosystem'’s capacity to absorb this load. The result is an unsatisfactory tourist experience
(and an opportunity to impart conservation values lost), overworked, pressurized and
confused wildlife staff, and occasional man-animal confrontation crises such as man-killing
by tigers. Not to speak of the ecosystem that is being battered by humans.

An important function of wildlife refuges is to encourage tourism. Recognizing that it forms
an ideal —hands-on method of orienting, educating and winning the hearts and minds of the
general public to follow conservation values and concepts. This can only be achieved by
communicating with tourists before and during their visits to a wildlife refuge.

This is referred to as —interpretation. Interpretations is properly done by having an
interpretation centre which consists of photographic, written and audio-visual exhibits
supplemented by free or priced literature and a person on hand to answer the queries of
visitors. Tourists should be routed through this facility while their entry permits are being
prepared. The general message should be the history of the wildlife refuge as a conservation
microcosm, interesting facts of some of the species it supports, and an explanation of the
mechanics of an ecosystem and its relevance to man, plus codes of conduct specific to the
area and wildlife and jungles in general. This should be backed up by a cadre of trained
naturalist guides, preferably from the local population, who should accompany the tourists in
the refuge. In some of our wildlife refuge, very poor interpretation centres exist while in most,
none exists at all. The result is tourist traffic, which is generally quite ignorant of wildlife,
ecology and conservation values, who leave the refuge no wiser than when they came in.
Leaving behind for good measure the detritus of their presence: plastic bags, cigarette
packets, bottle, paper, a lot of which is nonbiodegradable and toxic. Add to this is the fact that
wildlife guards and rangers are often diverted from their normal and actual work which is
monitoring and managing the wildlife and the ecosystem —and are made to guide tourists and
generally be at the back and call of people, irrelevant to the priorities of the wildlife-refuge.

SubQuestion No : 18

Q.18 According to the passage, what is the cause of unsatisfactory tourist experience in the recent
decade in the wildlife tourism?

Ans X A. Less accessibility of national parks and reserves.
25 B. Surge in wildlife tourism.
25 C. Human battering of ecosystems.

«" D. Significant infrastructural shortcomings.

Question ID : 2752286392
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Comprehension:
Read the following information carefully and answer the given questions.

This past decade has witnessed a surge in wildlife tourism that has doubled and tripled the
tourist load in several of the more accessible national parks and reserves. But serious
infrastructural shortcomings have brought us precariously close to a breakdown of the
ecosystem'’s capacity to absorb this load. The result is an unsatisfactory tourist experience
(and an opportunity to impart conservation values lost), overworked, pressurized and
confused wildlife staff, and occasional man-animal confrontation crises such as man-killing
by tigers. Not to speak of the ecosystem that is being battered by humans.

An important function of wildlife refuges is to encourage tourism. Recognizing that it forms
an ideal —hands-on method of orienting, educating and winning the hearts and minds of the
general public to follow conservation values and concepts. This can only be achieved by
communicating with tourists before and during their visits to a wildlife refuge.

This is referred to as —interpretation. Interpretations is properly done by having an
interpretation centre which consists of photographic, written and audio-visual exhibits
supplemented by free or priced literature and a person on hand to answer the queries of
visitors. Tourists should be routed through this facility while their entry permits are being
prepared. The general message should be the history of the wildlife refuge as a conservation
microcosm, interesting facts of some of the species it supports, and an explanation of the
mechanics of an ecosystem and its relevance to man, plus codes of conduct specific to the
area and wildlife and jungles in general. This should be backed up by a cadre of trained
naturalist guides, preferably from the local population, who should accompany the tourists in
the refuge. In some of our wildlife refuge, very poor interpretation centres exist while in most,
none exists at all. The result is tourist traffic, which is generally quite ignorant of wildlife,
ecology and conservation values, who leave the refuge no wiser than when they came in.
Leaving behind for good measure the detritus of their presence: plastic bags, cigarette
packets, bottle, paper, a lot of which is nonbiodegradable and toxic. Add to this is the fact that
wildlife guards and rangers are often diverted from their normal and actual work which is
monitoring and managing the wildlife and the ecosystem —and are made to guide tourists and
generally be at the back and call of people, irrelevant to the priorities of the wildlifesrefuge.

SubQuestion No: 19
Q.19 According to the passage, what is the ultimate purpose of encouraging wildlife tourism?

Ans  «# A. To win the hearts and minds of the general public over consepyational values and
concepts.

5 B. To increase awareness about wildlife preservation.
/< C.To educate people about wildlife.

< D. To involve the general public in maintaining and conserving ecosystems.
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Comprehension:
Read the following information carefully and answer the given questions.

This past decade has witnessed a surge in wildlife tourism that has doubled and tripled the
tourist load in several of the more accessible national parks and reserves. But serious
infrastructural shortcomings have brought us precariously close to a breakdown of the
ecosystem'’s capacity to absorb this load. The result is an unsatisfactory tourist experience
(and an opportunity to impart conservation values lost), overworked, pressurized and
confused wildlife staff, and occasional man-animal confrontation crises such as man-killing
by tigers. Not to speak of the ecosystem that is being battered by humans.

An important function of wildlife refuges is to encourage tourism. Recognizing that it forms
an ideal —hands-on method of orienting, educating and winning the hearts and minds of the
general public to follow conservation values and concepts. This can only be achieved by
communicating with tourists before and during their visits to a wildlife refuge.

This is referred to as —interpretation. Interpretations is properly done by having an
interpretation centre which consists of photographic, written and audio-visual exhibits
supplemented by free or priced literature and a person on hand to answer the queries of
visitors. Tourists should be routed through this facility while their entry permits are being
prepared. The general message should be the history of the wildlife refuge as a conservation
microcosm, interesting facts of some of the species it supports, and an explanation of the
mechanics of an ecosystem and its relevance to man, plus codes of conduct specific to the
area and wildlife and jungles in general. This should be backed up by a cadre of trained
naturalist guides, preferably from the local population, who should accompany the tourists in
the refuge. In some of our wildlife refuge, very poor interpretation centres exist while in most,
none exists at all. The result is tourist traffic, which is generally quite ignorant of wildlife,
ecology and conservation values, who leave the refuge no wiser than when they came in.
Leaving behind for good measure the detritus of their presence: plastic bags, cigarette
packets, bottle, paper, a lot of which is nonbiodegradable and toxic. Add to this is the fact that
wildlife guards and rangers are often diverted from their normal and actual work which is
monitoring and managing the wildlife and the ecosystem —and are made to guide tourists and
generally be at the back and call of people, irrelevant to the priorities of the wildlife-refuge.

SubQuestion No : 20

Q.20 According to the passage, how can a wildlife refuge educate and impart knowledge to the
general public regarding conservation values and concepts?

Ans X A. By closely monitoring the wildlife behaviour and its preservation schemes.
< B. By increasing accessibility of national parks and reseryes.
5 C. By overcoming infrastructural shortfalls.

«" D. By communicating with the tourists before and\during the wildlife visits through
interpretation centres.

Question ID : 2752286394

Q.1 ol usr d, aR Rl 7 9, 39 Rerea &1 999 &1 St Wiaarae S &1 @) e 78 21
Ans X A ©eucise

< B.#El

& C. dredre

« D.<gd

Question ID : 2752286399




Join Telegram Group "HaryanaJobs.in"
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Comprehension:
ffaifea meriar @t eargde dfey ofk fig g g & S &gl

HTfec I MY T T Goh AaY0l U &1 ST+ T a7 AT ot =TT AifecaehR T &t a &g et
Rt & +ft g et 8t urew &t Al ok sifeRf e Tehar 82 or: 18 off wfddr sa
g uRA & Toot T WR Sieh Tg! IasTT Ul T8 e Jehd! St ST 37U II-THIA o SR i gHit|
R g & Uit 3= &l HRUT IE & foh a7g, aRfRIfaT 3k waety aae & a1y g ursal &t
AT R SifHRfa off Saeh a< & | Tifged Sl AsdT AT 8 Ik AT STeRyUT T SR 781 & | ITh!
AT T IR YR 8, T Sea-e a1 3! 1 dhelTereh Sifveafh St o dhl wdaram Jor
IR A4 faehr o forg uer-vraeies o1 s vt 81 R Afey ot dhaet et off-wied gar uea ghm
St 7 Sftem-reat & foeera & Tftha TgahT & srurar R & # Tgrae 8t §© i aifed &t
ISR Ufdagdl el SEEehR ehid &1 A4 & foh arfgcienr fAvder gldr & 3R 39 W i ot earg
SRITT T g1 =AY fehg & o3t ST & foh Tnfecd o Fafor &ht get ko arer it & &t farerr gt
2l
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Comprehension:

frffad e Y eryde ufey ofk gy weit & SR &Sl

TfeT i MY T T Teh Agaqul Ut &1 S1u= T a1 it o fAmfar anfecierr @ &t aef &g <t
gRfRfaat e +ff g it gt uTees Sl AMfiear oiR sifeef aaa Tehar 82 o1 g off i sraa
qfAes gRAN & Feet ST TR Sl Tat S<otT UaT Tg! e Tehd! SIl IT 37T TTEhTA oh &R1 bl gRfl|
R TIfe & ufay srefa ot ot ag & s T, uRfefoat ofk sraety agem & a1 & urseh! Y

A RAeRar 3R fAef off gt @l &1 Ty Y 28dr a1 &) IS A ATRSUT & 3R el &1 IThT
ST T GIRGIA SR &, T SHeH-Hed qT Ih! ST hellceh Sifveafth St 78 chl weiardm JT
IeaaR {1d faehre & forg uer-gesfes ol el &1 QR A1fe ol dhael ael sit-Tied garR arga ghm
S e Sfe-He o faera # afeha IgahT & sruar R 8 H Jgrae 811 T anT iigd &
TSR Ufdegdl ol SR ehed &1 & A4 & foh Irfgcrenk fAvder gldT & 3k 39 W &S oft cara
RIS 7TEl g T1fgy| fohg 3 ot ot & o wnfger & fAwfor Y e ko w1 Sfta= & € faeram wgeht
H

SubQuestion No : 17
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Comprehension:

ffafea merisr @ eamgde ufey ofk fig g g & s &Syl

Hife I AT T T Goh Agaqol U &1 37U+ T a1 T ot FHmfdT difecgehiy T &t auf &g et
uRfRfaat e off g Fmfar gt utee & amficar ok sifeef aae aehar 82 ord: i oft wfar era
g URA & Teel ST UR Sk dat ISl Ul Tl e Gehd! STt Y 31U TTehTA b SR 6l gliftl
R Hifged & Uit 3= &l HRUT I8 & o a7a, aRRfET $iik wastasaces & ary & ursal &t
AT 3R SifHefar oft Saeht &< & | Tifged Sl ST AT 8t 3T AT STeRYUT T SR 781 & | ITh!
AT BT RPN YR &, T Se-e a7 3! ST helTcHen SifSeafh St 7w i Tdardm Jour
IR A4 faehr o forg uer-vraeies o1 s vt 81 R Ife sy ot dhaet et off-gied gar uea ghm
St 7 Sfrem-reat & faeera  Tftha TgahT & srurar fRfa e # ggrae gt §© o aifec &t
gTISIeh UfdagdT i SR ehid &1 d AT ¢ o AifecaahR fARUeT gidr & 3R 39 R &S oft gama
SR 78! g1 T1eq | fohg & o ST & foh wnfgar o fwfor &Y w3 ko /=g Sftee # 8 feerm &t
2l
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Comprehension:

ffaifea merisr @ eamgde ufey ofk fig g usif & s &gl

HTfe I AT T T Goh Agaqol U &1 370+ T a1 T ot FmfdT dnfecaehR T &t af &g et
uRfRfaat e off g Fmfar gt utee & amfiear ok sifeef aae dehar 82 ora: i oft wfar era
qfAes gRART & Feet ST TR &l Tat SorT Ul Tg! R Tehel! Sif IT 37U TTERTA o GRT hl ghft|
R Hifged & Uit 3= &l HRUT I8 & o a7g, aRfRIfaT $iik waety aee & a1y & ursa! &t
AT 3R SifHefa oft saeht a<t & | Tifged Sl ST AT 8t Ieh AT STeRoT &1 STTeR 781 & | ITh!
BT T PRI TR 8, T SHa--ed dAT ITeh! STdd Thellceh SHfHefth ST 7SI Sl Wdadr gl
IR A4 faehr o forg uer-vraeies o1 s vt 81 QR A1fey ot dhaet et off-gied gar uea ghm
St 7 Sftem-reat & faeera # Tftha TgahT & srurar fRAfT & § ggrae gt §® o aifed &t
TSR Tfdagdl ht SEThR hid &1 & A & foh IfgcaehR ARTer gidT & ok 39 R &l oft g
SR 8! g1 =1eq | fohg & o ST & foh wnfgear o fwfor &Y w3 ko /=g Sftew # € feerm st
2l

SubQuestion No : 19
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Comprehension:

frfafad e # ergde ufgy ofk gy meit & SR Sl

Hifged ST YT T U2 Tob HEaqUl Ut &1 S10= I3 a1 gil ol fAafeT Sifgcdeniy orm &t I & &l
RIefaT a1 +ff g FAmTaT 81 Ut Y AMTRiehdT SR SIf9e i e ehdT 82 &id: 1S +ft shfdar sra
rfies gRARN & Feet ST WR Sk Tgt S<otT Ul Tg! R Tehal! ST I ST ThTEhTA o &1 hl ghfl|
R T & Ui 31 1 HRoT I8 & 3 a0, uRffeat si swastyace & a1 & urse! &Y
ARAeRar ok tfASf off st @l &1 T1fgey Y S8dT A &) ST ATRT0T T MR Tl &1 ITHT
ST T G SR &, T SHeH-ed qT Ich! ST ThellcHeh Sifveafth St 78 el TeardT JT
eI A4 faehr o foIg Uer-vreeies ot s el 81 R Fife T ot Shaet Tt off-died gaR urea ghm
Y T ShteH-eat & fJera & afthg gaiT & siuyar f[RAfden & 9gre gt o @ aifec ol
TSR Ufdeegdl ol SEhR ehid &1 3 A4 & foh. Afgcrenk fAvder gldT & 3k 39 W &S oft gara
RIS 71El g Tnfgy| fohg 3 ot o € o wnfger & Fwfor Y et rom w19 St & € faeram wght
2l
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Section : General Ability1

Q.1 Out of the given options, three are similar in a certain manner. However, one option is NOT
like the other three. Select the option which is different from the rest.

Ans  &# A Hoot: Cow
#< B. Roar: Lion
25 C. Chirp : Bird
£5 D. Hiss : Snake
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. M
Q.2 In a certain code language, N\
por jor mor means father and son % N
nor tor por means son with mother 60
jor nor lor means mother and sister 5
what is the code for father? (b.

Ans X A jor ®Q
«” B. mor 6

25 C. por \2\®
2 D. lor $
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Q.3 Out of the given options, three are similar in a certain manner. However, one option is NOT
like the other three. Select the option which is different from the rest.

Ans X A LPT
« B.ZDG
% C.Quy
< D.GKO

Question ID : 2752286442

Q.4 Arrange the following in a logical sequence:

1. Alphabets
2. Paragraphs
3. Books

4. Sentences
5. Essays

Ans X A.524,3,1
< B.54,3,21
& C.1,4,2,53
X D.1,24,35

Question ID : 2752286455
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Q.5 If P # Qmeans P is the son of Q; P @ Q means P is the mother of Q and P * Q means P is the
daughter of Q, which of the following shows that D is father of A?

Ans X AA@B#C*D
X B.A#B*C@D
X C.A#B@C*D
& D.A*B@C#D

Question ID : 2752286457

Q.6 Select the pair that is related on the same basis to the pair given in the question.

Labourer : Wages :: ?
Ans o A. Entrepreneur : Profit
#< B. Interest : Loan
#< C.Business : Worker
#5 D. Manager : Clerk

Question ID : 2752286446

Q.7 Out of the given options, three are similar in a certain manner. However, one option is NOT
like the other three. Select the option which is different from the rest.

Ans X A WUR
X B.PNK
C. OMK .
‘ N

X D.1GD
Q@

(b}’ Question ID : 2752286445

Q.8 Find the missing number in the following series: *

da_d_aadda_d \2\®
Ans X A add $ .

#< B.aaa $

< C.dda
«” D. ada

Question ID : 2752286439

Q.9 Select the pair that is related on the same basis to the pair given in the question.
MSY:QWC::?
Ans X A EKY:JUNC
< B.LDT:OHV
o« C.OVY:SZC
& D.NDZ: OFC

Question ID : 2752286449
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Q.10 Find the wrong term in the following series:
TR PN,LK
Ans X AN
X B.P
o C.K
25 DL

Question ID : 2752286438

Q.11 Shashi is 16th from the right end in a row of 52 boys. What is his position from the left side?
Ans X A 38

X B.35
o C.37
< D.36

Question ID : 2752286454

Q.12 Arrange the given words in the sequence in which they occur in the dictionary.

1. TRAGEDY
2. TRAFFIC
3. TRACTOR
4. TRANSIT
5. TRAINER

Ans A.2,1,5,4,3 .
x N
X B.3,1,54,2

2 C.231,54 5
& D.3,21,54
,bi\

\}\(ﬁ Question ID : 2752286441

Q.13 Select the option that is related to the third term o ‘same basis as the second term is
related to the first term. $

Thread : Cloth :: Words : ?
Ans X A.School

#< B. Author
o C. Sentence
25 D. Classroom

Question ID : 2752286448

Q.14 If bucket is plate, plate is fork, fork is spoon, spoon is cup, cup is saucer, saucer is knife,
then which among the following can be used to drink coffee?

Ans X A fork
25 B. knife
«” C. saucer

< D.cup

Question ID : 2752286450
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Q.15 If GRIND is coded as LMNII, then what is the code for BLEACH?
Ans X A GIKUGE

75 B. HJGDFK
o C. GGJVHC
#< D. HIKUGD

Question ID : 2752286452

Q.16 Select the option that is related to the third term on the same basis as the second term is
related to the first term.

I0A : GLW :: DMG : ?
Ans X A. COH
75 B. AKE
«# C.BJC
2< D.FPJ

Question ID : 2752286447

Q.17 Out of the given options, three are similar in a certain manner. However, one option is NOT
like the other three. Select the option which is different from the rest.

Ans X A Biology
#5 B. Chemistry
«# C. Geography .
<

25 D. Physics &
AS)

’ Question ID : 2752286443

Q.18 Five friends are standing in a row facing the south direction. é:s to the immediate
right to Disha. Binita is between Aasha and Disha. Mani h e extreme right end of the
row. Who is standing in the exact middle? \}\

#< B. Binita $

#< C. Simran
#< D. Aasha

Ans o A Disha

Question ID : 2752286456

Q.19 Complete the following letter series:
RQP, TSR, VUT, XWV,
Ans X A ZYB
& B. WYX
25 C.Uuvw
o D. ZYX

Question ID : 2752286440

Q.20 Ifl =8, ICE = 16, then what is the code for IDEA?
Ans X A 20

X B.19
o C.18
X D.17

Question ID : 2752286451
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Section : General Ability2

Q.1 In the question two statements are given, followed by two conclusions, | and II. You have to
consider the statements to be true even if it seems to be at variance from commonly known
facts. You have to decide which of the given conclusions, if any, follows from the given
statements.

Statement 1 : No dancers are singers.
Statement 2 : No singers are painters.

Conclusion | : No painters are dancers.
Conclusion Il : Some singers are dancers.

Ans X A.Only conclusion | follows
5 B. Both conclusions | and Il follow
&# C. Neither conclusion | nor Il follows

25 D. Only conclusion Il follows

Question ID : 2752286458

Q.2 Which of the following answer figure patterns can be combined to make the question
figure?

~J

O
}
|
o y
O
<

Ans

O

o A
[]
L]
X B o
O
L]
X c <
O
O
X D o
1

Question ID : 2752286475
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Q.3 Which of the following answer figure completes the series of the question figure?

Ans

SOed L D GLOd

L2 GO0
GO0 R et
o — e

« B.

Seoo
LR ]
SOo4o
Ll

2oL e
LR eReRe

SLOoL

OO0
&

QOO0
Lo

CodG
S
Loo0
Gooo

— || |— || |— 8] [— |8

Question ID : 2752286473
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Q.4 If a mirror is placed on the line MN, then which of the answer figures is the right image of
the given figure?

AO X

Ans

vz IXOA

&< C.

>OX| [XOD

Question ID : 2752286476

Q.5 In the following figure, triangle represents graduates, square represents French-speaking
individuals, circle represents females. Which area represents females who are graduates
but do not know how to speak French?

Ans o A B
& B.C
K CA
X D.F

Question ID : 2752286468




Join Telegram Group "HaryanaJobs.in"

Q.6 The H.C.F. of two numbers is 5 and their L.C.M. is 2280. If one of the numbers is 95, then
the other is:

Ans X A 280
X B.225

& C.120
< D.360

Question ID : 2752286463

Q.7 Which of the following Venn diagrams best represents the relationship between doctors,
poets and men?

XA @

Ans

' B.

©
&
O
&

% Question ID : 2752286469

~

Q.8 The sum of monthly salary of Ajay & Vijay is Rs@o & that of difference is Rs. 18,000.
Ajay earns more than Vijay. Find the monthly gh of Vijay.

Ans X A.Rs.20,000
2< B.Rs. 48,000
« C.Rs. 18,000
2< D.Rs. 36,000

Question ID : 2752286465

Q.9 If42@6=27,24@ 8 =20,36 @ 12 = 30, then 54 @16 = ?
Ans X A.35

o B.43

X C.54

X D.70

Question ID : 2752286464
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Q.10 Which of the following Venn diagrams best represents the relationship between rice, wheat

and maize?
Ans
x A. @
X B. .
x D. @

Question ID : 2752286466

Q.11 Select the option that is related to the third term on the same basis as the second term is
related to the first term.

0.0169:0.13::0.0016?

Ans X A.0.002 6\
" B.0.04 %‘
o

X C.04 5

#< D.0.004 (b

\
\\Q}
\2\‘6& Question ID : 2752286462

2

Q.12 Which of the following options is the wrong ﬁgu@e‘ series?
L\
0 VIO
L] L] [] L]
O Al O >
(&)

(8} (c (D)

Ans X A ImageB
25 B.Image A
o” C.Image C
#< D.lmage D

Question ID : 2752286470
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Q.13 The given Venn diagram shows the number of students in a batch pursuing MBA, CFA and
CA. How many of these students are pursuing MBA and CFA only?

MBA A CFA
.

CA

Ans X A.30
& B.11
2 C.19
< D.49

Question ID : 2752286467

Q.14 In the following question, four position of the same dice is given. Which number will be at
the face opposite to the face having the R?

Z E C Pl,
v c E Z
Cc v R C
Ans X A.C
X B.E
o C.V
XDz

Question ID : 2752286477

Q.15 In the question one statement is given, followed by two conclusions, | and Il. You have to
consider the statement to be true even if it seems to be at variance from commonly known
facts. You have to decide which of the given conclusions, if any, follows from the given
statement.

Statement: Few good dancers are invited to the fest organised by HBC College.

Conclusion | : Those who are not invited, are bad dancers.
Conclusion Il. All the good dancers are invited to all the fests arranged by various
institutions.

Ans o A Neither conclusion I nor Il follows
2% B. Both conclusions | and Il follows
#< C. Only conclusion | follows

#< D. Only conclusion Il follows

Question ID : 2752286461
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Q.16 Out of the given options, three are similar in a certain manner. However, one option is NOT
like the other three. Select the option which is different from the rest.

Ans

©
@
O
),

Question ID : 2752286472

Q.17 Select the option that is related to the third image on the same basis as the second image is
related to the first image.

A L] @ e -\7’ -
O° /'\\\“ O:l“

Ans

Question ID : 2752286471
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Q.18 In the question, one statement is given, followed by two arguments | and II. You have to
consider the statement to be true even if it seems to be at variance from commonly known
facts. You have to decide which of the given arguments, if any, supports the given
statement.

Statement: Should Government charge the same amount of tax to all the individuals?

Arguments:

I. Yes, it will reduce the burden of work of government officials.

Il. No, it will lead to inequitable distribution of income in the society as poor and rich will pay
same amount.

Ans X A.Only argument | is strong
25 B. Neither argument | nor argument Il is strong
&# C. Only argument Il is strong

25 D. Both argument | and argument Il is strong

Question ID : 2752286459

Q.19 In the question two statements are given, followed by three conclusions, I, Il and Ill. You
have to consider the statements to be true even if it seems to be at variance from
commonly known facts. You have to decide which of the given conclusions, if any, follows
from the given statements.

Statement 1 : All pineapples are apples.
Statement 2 : All bananas are apples.

Conclusion | : Some bananas are pineapples.
Conclusion Il : Some apples are pineapples.
Conclusion Il : Some apples are bananas.

Ans X A. Only conclusion Il follows
25 B. All conclusions |, Il and Ill follow
&” C. Only conclusion Il and Ill follows

#< D. Only conclusion Il follows

Question ID : 2752286460

Q.20 How many maximum number of triangles are there in\the given question figure?

Ans o A7
X B.12
& C.15
< D.8

Question ID : 2752286474

Section : General Awareness1
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Q.1 Amongst the following, which was the first country to adopt Goods and Services Tax (GST)?
Ans X A ltaly

#< B.Russia
«” C. France
25 D. Germany

Question ID : 2752286483

Q.2 As of 2020, amongst the following, which country is India's largest export partner?
Ans X A.lran

«” B. United States of America
#< C. South Korea
#< D. Japan

Question ID : 2752286484

Q.3 Indian economy is which one of the following types?
Ans X A. Socialist economy

«# B. Mixed economy
#< C. Communist economy

#< D. Capitalist economy

\Q Question ID : 2752286482

V'S
r~—
Q.4 Which is the largest river of India that does not flow into the sea? 50
Ans X A Mithi (b.
«” B. Yamuna (bg\
2 C. Luni (06
#< D.Son \2\

§ Question ID : 2752286492

Q.5 Amongst the following, which living organisms shares characteristics with both plants and
animals?

Ans X A.Paramecium
«” B. Euglena
#< C. Rhizopus
75 D. Amoeba

Question ID : 2752286489

Q.6 Amongst the following, Rajasthan is most famous forthe _______fair.
Ans X A Madhavpur

25 B. Nauchandi
#< C. Sonepur Cattle
o# D. Pushkar

Question ID : 2752286478
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Q.7 Which one of the following was not written by Kalidasa?
Ans X A.Malavikagnimitram

#< B. Vikramorvasiyam
#< C. Abhijnanasakuntalam
«” D. Mudrarakshasa

Question ID : 2752286496

Q.8 Which one of the following connects Rameswaram to mainland India?
Ans X A. Mahatma Gandhi setu

25 B. Nehru setu
«” C. Pamban bridge
#5 D. Bogibeel bridge

Question ID : 2752286495

Q.9 Bubbles seen in alcoholic beverages are due to the presence of which one of the following
gases?

Ans  o# A. Carbon dioxide
#< B. Hydrogen

< C. Helium
75 D. Oxygen
2 A
AN
. Question ID : 2752286488

\(\%

N\
7
Q.10 In which of the following states is the Buddha Nullah located, which }b;najor source of

pollution there? (\
Ans X A.Uttarakhand {0'
«# B. Punjab aé
25 C. Uttar Pradesh $ \

25 D. Haryana $
&

Question ID : 2752286490

Q.11 The combination of the light of three colours - red, blue, and green yields which one of the
following colour light?

Ans X A Black
« B. White

75 C. Grey
#< D. Charcoal

Question ID : 2752286487

Q.12 Amongst the following, name the notable Mandolin player.
Ans X A Asad Ali Khan

«” B. Uppalapu Srinivas
25 C. Pannalal Ghosh
#< D. Braj Bhushan Kabra

Question ID : 2752286479
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Q.13 As of April 2021, how many companies are listed on the SENSEX index of the Bombay Stock
Exchange (BSE)?

Ans X A.15
« B.30
X c.20
X D.25

Question ID : 2752286486

Q.14 Amongst the following, what best describes the repo rate in banking?
Ans o A. Rate of lending of RBI

75 B. Rate of interest
#< C. Rate of investment

75 D. Rate of taxation

Question ID : 2752286485

Q.15 In which one of the following states is Luddi dance performed?
Ans X A.Haryana

«” B. Punjab
#< C. Himachal Pradesh

#5 D. Uttarakhand
N aN

AN
32

Question ID : 2752286480

"4
\J
Q.16 Which one of the following describes the council of eight ministers f%.hlized by
Chhatrapati Shivaji? (\

Ans X A. Ashta mantri (0'
Q
>

#% B. Ashta subedar

#< C. Ashta peshwa $ \
&# D. Ashta pradhan $

R

Question ID : 2752286497

Q.17 Amongst the following, what best describes biomagnification?
Ans & A. Increase in contaminant quantity in food chain

#< B. Increased growth of living organisms
#< C. Expansion of the biosphere

#< D. Increased application of biotechnology

Question ID : 2752286491

Q.18 Sedimentary rock formations in lakes are known as
Ans X A.Calamine

25 B. Magnetite
«” C. Lacustrine
#5 D. Bauxite

Question ID : 2752286494
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Q.19 Which one of the following monuments was not built by the Delhi Sultanate?
Ans o A Red Fort

#< B. Alai Minar
#< C. Moth ki Masjid
25 D. Quwwat-ul-lslam Mosque

Question ID : 2752286481

Q.20 Amongst the following, name the mountain range that is the source of the river Tapti.
Ans X A. Aravallirange

#< B. Saser Kangri
«” C. Satpurarange
#< D. Vindhya range

Question ID : 2752286493

Section : General Awareness2

Q.1 Amongst the following, B.R. Ambedkar was independent India's first

minister.
Ans & A. Law and Justice
#< B. Home X
| N
#< C. Finance S°
25 D. Defence 560
N\ Question ID ; 2752286501
R

S )
Q.2 Amongst the following, in the 2012 London Olympic Ga ho was Saina Nehwal's
opponent in the Bronze Medal Match?

Ans X A. Wang Shixian $ |
X B. Li Xuerui $$

/5 C. Lianne Tan
«” D. Wang Xin

Question ID : 2752286516

Q.3 Amongst the following, in which field did the late Nirmal Singh Khalsa win the Padma Shri?
Ans X A Writing

" B. Arts
25 C. Politics
25 D. Sports

Question ID : 2752286507

Q.4 Amongst the following, who was the last Emperor/Empress of India?
Ans X A GeorgeV

#5 B. Edward VII
#< C. Victoria
«” D. George VI

Question ID : 2752286498
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Q.5 Amongst the following, who is the first Indian female chef to be awarded a Michelin star?
Ans X' A. Madhur Jaffrey

#< B. Tarla Dalal
«# C. Garima Arora
25 D. Pankaj Bhadouria

Question ID : 2752286502

Q.6 Name the program launched in April 2020 by the Ministry of Civil Aviation for the transport
of medical equipment throughout the country?

Ans X A. Sanjivani Flight
& B. Lifeline Udan
75 C. Jeevan Med
X D. Shakii

Question ID : 2752286506

Q.7 As of April 2020, how many IPL editions have been held outside India and which were the
years?

Ans 25 A.3(2010,2012,2013)
#< B.5(2008,2009,2010,2011,2012)
#< C.4(2008,2011,2015,2016)

D. 2 (2009 and 2014)
Y n . \(\

‘Q Question ID : 2752286514

A\

~F
Q.8 In March 2020, the Prime Minister of India set up which one of th@wing funds for
Coronavirus relief?

Ans X A.PM Relief Fund 6
« B. PM CARES Fund 4
X C.PM National Relief Fund § |

25 D. PM Corona Fund $

Question ID : 2752286508

Q.9 The failed attempt by the British Government to secure full Indian cooperation for Word War
Il is known as the mission.

Ans X A.Rowlatt
«” B. Cripps
25 C.Simon
#< D. Dyer

Question ID : 2752286500

Q.10 What is the significance of National Science Day being celebrated on 28 February each
year?

Ans  «# A. The day of the discovery of the Raman effect
#< B. Sir C.V. Raman's knighthood
#5 C. The day Sir C.V. Raman was awarded the Nobel Prize

#5 D. Sir C.V. Raman's birth anniversary

Question ID : 2752286504
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Q.11 Amongst the following, where was the first Ramakrishna Math founded?
Ans X A. Aurangabad

#< B. Bhubaneswar
«” C. Baranagar
#< D. Dhaleswar

Question ID : 2752286499

Q.12 As of April 2020, Sania Mirza was the first Indian woman to win which one of the following
events in 2003?

Ans X' A.US Open single girls
&# B. Wimbledon Championships girls' doubles
25 C. French Open mixed doubles junior
25 D. Australian Open girls singles

Question ID : 2752286515

Q.13 Amongst the following, which article of the Constitution provides for the convening of the
joint session of Parliament?

Ans X A Article 250
«” B. Article 108
25 C. Article 175

#< D. Article 300
AQ) Question ID : 2752286511
\v
~F
Q.14 As of April 2020, which one of the following books by Chetan Bhafibés been adapted into
a film?

Ans X A. Revolution 2020 6(0'
«” B. Five Point Someone %
#< C. What Young India Wants $ |
25 D. The Girl in Room 105 $$

Question ID : 2752286503

Q.15 Article 368 of the Indian Constitution provides the power for which one of the following?
Ans & A. Constitutional amendment

#% B. Elections for Rajya Sabha
#< C. Elections for Lok Sabha
#< D. Appointment of Supreme Court judge

Question ID : 2752286512

Q.16 Amongst the following, whose record did Roger Federer break to win the most number of
Grand Slam singles amongst male tennis players?

Ans X A.John McEnroe
#< B. Andre Agassi
#< C. Bjorn Borg
o D. Pete Sampras

Question ID : 2752286517
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Q.17 As of April 2020, the elections to the Parliament and State Assemblies are conducted by
which constitutional authority?

Ans o A. Election Commission of India
#< B. President of India
25 C. Governor
25 D. Prime Minister

Question ID : 2752286509

Q.18 In April 2020, by how much were the salaries of the Union Cabinet, MPs, Prime Minister,
President, Vice-President and Governor reduced in the wake of the coronavirus pandemic?

Ans  &# A.30 percent
25 B. 50 percent
#< C. 40 percent
#< D. 60 percent

Question ID : 2752286505

Q.19 As of April 2020, how many Olympic Gold Medals has Michael Phelps won till date?
Ans X A 26

X B.29
X C.15

D. 23
v o

v

‘Q Question ID : 2752286513

\v

~F
Q.20 Amongst the following, name the Comptroller and Auditor Genera@) of India as of April
2020.

>
Ans o A Rajiv Mehrishi 6
< B. AK. Roy %
#< C. V. Narahari Rao § |

#5 D. Gyan Prakash $

Question ID : 2752286510

Section : Arithmetic Ability1

Q.1 0.8 of a number equals 0.12 of another number. What is the ratio of these numbers?
Ans X A 20:3

& B.3:20

2 C.10:3

X D.3:10

Question ID : 2752286532

Q.2 What must be added to each term of the ratio 17 : 23 so that the ratio becomes 3 : 4?
Ans X A 4

X B.3
& C.1
X D.2

Question ID : 2752286533
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Q.3 The ratio between the ages of Ram and Srinivas is 13 : 7 and the sum of their ages is 80
years. The ratio of their ages after 2 years will be:

Ans X A.15:27
X B.23:11

& C.9:5
X D.11:23

Question ID : 2752286535

Q.4 The average consumption of petrol for a car for five months is 76 litres and for next seven
months it is 112 litres. What is the average monthly consumption for the twelve months?

Ans X A 112litres
75 B. 86 litres
o” C. 97 litres
25 D. 79 litres

Question ID : 2752286522

Q.5 In an examination, 58 percent of the total examinees passed. If the number of failures is
588, then how many total number of examinees are there?

Ans X A 1600

« B. 1400
X C.1100
X D.1200 O
N\
‘t\%’
{O Question ID : 2752286526

(&

Q.6 When the price of toys was increased by 40 percent, the numberﬁys sold fell by 30
percent. What is the effect on the sale of the shop?

Ans X A.2percentincrease ®$
25 B. 4 percent increase $ A

$$

£ C. 4 percent decrease

o” D. 2 percent decrease

Question ID : 2752286530

Q.7 H.C.F of three numbers is 7. If they be in the ratio 5 : 2 : 3, What are these numbers?
Ans X A.3521,14

X B.14,35,21
X C.14,21,35
o D.35,14,21

Question ID : 2752286518

Q.8 Two litre of water is evaporated from 8 litres of a solution containing 4 percent salt. What is
the percentage of salt in the remaining solution?

Ans X A 4.22 percent
«” B. 5.33 percent
#< C. 6.33 percent
#5 D. 8.22 percent

Question ID : 2752286528
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Q.9 Which of the following fractions is the smallest?
Ans X A 6/7

o B.23/29
X C.12/13
X D.17/11

Question ID : 2752286519

Q.10 Ram buys an article with 15 percent discount on its marked price. He makes a profit of 8
percent by selling it at Rs. 1836. What is the marked price ?

Ans X A.Rs.1,000
X B.Rs. 2,200
& C.Rs. 2,000
2 D.Rs. 2,600

Question ID : 2752286531

Q.11 A man spends 80 percent of his income. His income is increased by 18 percent and he
increased his expenditure by 10 percent. By how much have his savings increased ?

Ans X A.100 percent
25 B. 75 percent
«” C. 50 percent

25 D. 25 percent
<
‘Q Question ID : 2752286527
=
~F
Q.12 A man has some hens and cows. If the total number of heads of h{@nd cows together be
56 and number of feet equals 210, then number of hens are ,
Ans X A 12 Q
o B.7 Q@b

C.11 $
§D.9 $$

Question ID : 2752286534

Q.13 1f v(0.02 x 9.8 x b) = (4.6 x 0.6 x vd), then (b/d) = ?
Ans o A 3886

< B.388.60
X C.038
X D.3.88

Question ID : 2752286521

Q.14 If we multiply the fraction by itself and divide the product by its reciprocal, the fraction thus
obtained is (12167/1331). What is the original fraction?

Ans o A 23/11
X B.31/11
X C.13/26
X D.23/13

Question ID : 2752286520
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Q.15 Rs. 8,200 amounts to Rs. 9,430 in 3 years at simple interest. If the interest rate is increased
by 2 percent, it would amount to how much?

Ans X A Rs. 9,622
X B.Rs.9,122
2 C.Rs. 9,522
«” D.Rs. 9,922

Question ID : 2752286537

Q.16 Ravi bought a toy for Rs. 2000, which he decided to mark-up by 20 percent. After selling it
at a discount of x percent, he still made a profit of 10.4 percent. What is the value of x?

Ans X A. 6 percent
#< B. 4 percent
#< C. 2 percent
«” D. 8 percent

Question ID : 2752286524

Q.17 The average weight of 32 students is 36 kg. By the admission of a new student the average
weight is reduced to 35.6 kg. What is the weight of new student?

Ans o A 228kg

X B.24.8kg
X C.32.8kg
< D.26.8kg \(\
)
{O Question ID : 2752286523

o

Q.18 A sold a watch at a gain of 6 percent to B and B sold it to C at a gﬁ)f 8 percent. If C paid
Rs. 105 for it, then what is the price paid by A ?

Ans X A Rs.89.7 ®$
X B.Rs.19.7 .
o C.Rs.917 §

< D.Rs.93.7 $

Question ID : 2752286529

Q.19 The simple interest on a certain sum for 4 years at 12 percent per annum is Rs. 1056. What
is the sum?

Ans X A Rs.2000
7 B.Rs. 1200
& C.Rs. 2200
 D.Rs. 2400

Question ID : 2752286536

Q.20 If 28 percent of a number is 70, What is the number?
Ans X A 150

& B. 250
< C.200

& D.100

Question ID : 2752286525
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Section : Arithmetic Ability2

Q.1 If aman covers 14.4 km in 4 hours, What is the distance covered by him in 7 hours?
Ans X A 152km

X B.22.2km
X C.24.2km
o D.25.2km

Question ID : 2752286540

Q.2 The curved surface areas of two spheres are in the ratio 4 : 9. Find the ratio of their
volumes.

Ans X A 9:8
X B.27:8

X cC8:9
o D.8:27

Question ID : 2752286549

Q.3 A sum of money becomes Rs. 8,000 after three years and Rs. 12,000 after six years on
compound interest. What is the sum?

Ans o« A Rs.53333.33
#< B.Rs.7,3333.53
#5 C.Rs. 6,3333.33 ‘\Q

% D.Rs. 4,3333.53 \Q@'
Q

(N Question ID : 2752286538

s

Q.4 A sumis invested at compound interest payable annually. interest of the first two
successive years was Rs. 725 and Rs. 783. What is th

Ans X A Rs.8062.5 $ .
 B.Rs.9,052.5 N\
o C.Rs. 9,062.5 $
25 D.Rs.9,082.5

Question ID : 2752286539

Q.5 The following table gives the information of the number of students from class 6 to class
10. The number of girls in class 10 is what percent more than the number of girls in class 6?

Class Girls Boys
6 44 12
7 = i)
8 43 86
-] =13 92
10 54 38

Ans X A 26.72 percent
#% B. 20.72 percent
o# C.22.72 percent
25 D. 18.72 percent

Question ID : 2752286550
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Q.6 The pie chart gives the data of the number of people in a city, who take different modes of
transport to go to work. If the number of people taking train are 4,500, how many people
take the cab?

Mode of transport

Ans 7 A 3,000
X B.3,200
X C. 2,000
2< D. 4,000

Question ID : 2752286551
\0

— A
Q.7 A man, on tour, travels first 360 km at 80 km/hr and the next 360 km at 1 ‘a/hr. What is
the average speed for the first 720 km of the tour? 5
Ans o A. 96 km/hr (\fb

X B.86 km/hr

< C. 106 km/hr \2\(&*
 D.76 km/hr :
Q

§ Question ID : 2752286541

Q.8 If 5 men or 8 women can construct a wall in 60 days. Find the number of days that 10 men
and 12 women take to construct it.

Ans X A 12.54days
" B.17.14 days
5 C.16.21 days
< D.14.82 days

Question ID : 2752286545

Q.9 If the length of diagonal of a cube is 12v3 cm. What is the surface area?
Ans X A.232sqcm

25 B.432sqcm
«” C.864sqcm
< D.632sgcm

Question ID : 2752286547
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Q.10 The graph shows the number of students passed and failed in an examination from the year
2017 to 2020. Find the year in which, pass percentage is maximum?

160 -

m Pass m Fail 140

120 A 110

Number of students
a8
=

25
20 -+

2017 2018 2015 2020
Year

Ans X A 2020
< B.2018
& C.2019
X D.2017

Question ID : 2752286557

Q.11 The bar graph shows the number of people who likes to watch differént movies. Which
category of movie is highly preferred as per the survey?

100 -

Number of people
o6 B8888 388

Thriller Comedy Drama Hormror

Movie category

Ans o A Comedy
#< B. Horror
< C.Drama
Z5 D. Thriller

Question ID : 2752286554
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Q.12 A can do a certain work in 12 days which B alone can do in 10 days. A started the work and
was joined by B after 2 days. Find the number of days the work lasted.

Ans X A.10.42 days
/25 B.8.42 days
5 C.5.62 days
o” D. 6.54 days

Question ID : 2752286544

field?
Ans  * A 180,000 sg.m

2% B. 120,000 sq. m
25 C. 150,000 sq. m
25 D. 160,000 sq. m

Q.13 A man walking at 4 km/hr crosses a square field diagonally in 9 min. What is the area of the

Question ID : 2752286542

Q.14 The following table gives the number of different types of animals in a zoo. Which anima
has seen the highest growth in numbers from 2016 to 2017 ?

Animal 2016 2017
Peacock 1240 1280
Lion 450 380
Tiger 560 585
Elephant 1050 1180
Ans 25 A. Lion
25 B. Peacock
25 C. Tiger
«” D. Elephant

Question ID : 2752286552




Join Telegram Group "HaryanaJobs.in"

Q.15 The graph shows the number of products produced in a company, from the year 2017 to
2020. Find the average of the 3 products produced in the year 2019.

® Product X ® Product¥ © ProductZ

Number of preducts produced
cBB88E33888

2017 2018 2019 2020
Year

Ans X A. 68
 B.72
X C.86
X D.56

\Q\ Question ID : 2752286556

Q.16 A can do a certain work in 12 days while B can do it in 24 days. In how days can A and
B working together do the work? %

Ans o A 8days
o

75 B. 6 days 6
X C.5days \2\(0

725 D. 10 days

$ Question ID : 2752286543
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Q.17 The graph shows the temperature variance of a city in degree Celsius. What is the
percentage change in temperature from January to May?

Ans

45
40
35
30
25
20
13
10

5

0

Temperature

23

az

3s

January February

36
March

Month

April

41
May

2 A.18.37 percent

75 B. 28.74 percent

#< C. 36.42 percent

«” D. 41.38 percent

Question ID : 2752286555

Q.18 The pie chart shows, monthly expenditure of Srinivas. Food expenses is
percentage more than his savings?

Ans

Monthly expenditure of Srinivas

25 A. 36.46 percent

#< B. 44.28 percent

o” C. 38.46 percent

25 D. 32.62 percent

Question ID : 2752286553
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Q.19 8 men and 12 women finish a job in 10 days, while 6 men and 8 women finish it in 15 days.
Find the number of days, 10 women working together will finish it.

Ans o A 12 days
#< B. 8 days
25 C.10days
25 D. 14 days

Question ID : 2752286546

Q.20 The sum of length, breadth and depth of a cuboid is 21 cm and its diagonal is 6v5 cm. What
is its surface area?

Ans X A.161cucm
«# B.261 cucm
25 C.361cucm
725 D.231cucm

Question ID : 2752286548

Section : General English1

Q.1 Fillin the blank with appropriate word.

The danger of dying a horrible death in that recluse state was inevitable. It
wasn't a question if, it was a question of when.

Ans o A imminent
2% B.baron
7% C.vexatious

25 D.remote

Question ID : 2752286568

Q.2 The question below consist of a set of labelled sentences. Out of four options given, select
the most logical order of the sentences whichform a paragraph.

Napoleon Bonaparte (1769-1821), also known as Napoleon I, was a French military leader
and emperor who conquered much of Europe in the early 19th century.

P. Shrewd, ambitious and a skilled military strategist, Napoleon successfully waged war
against various coalitions of European nations and expanded his empire.

Q. However, after a disastrous French invasion of Russia in 1812, Napoleon abdicated the
throne two years later and was exiled to the island of Elba.

R. After seizing political power in France in a 1799 coup d’état, he crowned himself emperor
in 1804.

S. Born on the island of Corsica, Napoleon rapidly rose through the ranks of the military
during the French Revolution (1789-1799).

In 1815, he briefly returned to power in his Hundred Days campaign but after a crushing
defeat at the Battle of Waterloo, he abdicated once again and was exiled to the remote
island of Saint Helena, where he died at 51.

Ans X A SQRP
«” B. SRPQ
X C.SPQR
2 D.SQPR

Question ID : 2752286571
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Q.3 Select the word that is closest in meaning (SYNONYM) to the word given below
Falliable

Ans o A Errant

#5 B. Chauvinist

#< C. Anarchist

25 D. Despotic

Question ID : 2752286577

Q.4 Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully. Select the option 'no correction required' if the

sentence is correct as given.

The growth of science and technology (has conferred obvious and immense) benefits upon
the community.

Ans  «# A No corrections required
#< B. had been conferring obviously and immense
25 C. has been conferred obvious but immense

25 D. has been conferring obvious but immensely

Question ID : 2752286566

Q.5 Fillin the blank with appropriate word.

The communist party, unjustifiably ______ itself the right to rule the state, (\
Ans o A. arrogated %.

25 B. vitiated
75 C. deracinated 5

25 D. abrogated
Q

% Question ID : 2752286567

\ o

Q.6 Select the word segment that substitutes (repl @ the bracketed word segment correctly
and completes the sentence meaningfully. Se@ the option 'no correction required' if the

sentence is correct as given.

For the collective good of everyone, (we must haste this decision if) the general consensus
approves it or not.

Ans X A. No corrections required
#5 B. we must haste this decision either
«# C. we must haste this decision whether

25 D. we must haste this decision should

Question ID : 2752286565

Q.7 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

The general consensus of the U.N. (1)/ conventions seems to have been in the favour (2)/ of
the anti-nuclear weaponry states. (3) No Error (4)

Ans X A. of the anti-nuclear weaponry states.
#< B. No error
#5 C. The general consensus of the U.N.

&# D. conventions seems to have been in the favour

Question ID : 2752286562
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Q.8 Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully. Select the option 'no correction required' if the
sentence is correct as given.

He was believed to be the best amongst us(, yet he had deliberately sabotaged the plan)
along with everyone's trust, conclusively proving that each man here is on his own.

Ans X A.but he had deliberately sabotaged the plan
75 B. and yet he deliberate sabotaged the plan
#< C. No corrections required

«” D. and yet he deliberately sabotaged the plan

Question ID : 2752286564

Q.9 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

As soon as he called, the dog ran (1)/ to the door upon hearing (2)/ the sound of his
masters' voice after so long. (3)/ No Error (4)

Ans o A.the sound of his masters' voice after so long.
25 B. No error
25 C. to the door upon hearing
#< D. As soon as he called, the dog ran

Question ID : 2752286561

Q.10 Fill in the blank with appropriate word. . (\

In 1918 Kaiser Wilhelm _____________ as the German Emperor and led y for Hitler's
rule.

Ans X A. acceded 50
#< B.usurped Q(b
>

#5 C. alleged @6
«” D. abdicated \2\

&.

$ Question ID : 2752286569

N

Q.11 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

She had to move a few (2)/ things to make room, but (2)/ that wasn't to hard. (3)/ No Error
4
Ans X A things to make room, but

25 B. She had to move a few
25 C. No error
o” D. that wasn't to hard.

Question ID : 2752286559

Q.12 Select the word that is closest in meaning (SYNONYM) to the word given below

Scrutinize
Ans X A Tuft

«# B. Inspect

25 C. Suppress
25 D. Croquis

Question ID : 2752286575
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Q.13 Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the
option that gives the correct sequence in which these parts can be rearranged to form a
meaningful and grammatically correct sentence.

There in the soap-scented

P. they sorted, washed, dried, and
Q. air and the glare of the neon,
R. folded up to

S. 20 loads of

clothes.
Ans X A. QRPS

< B.QRSP
X C.QPSR
«" D. QPRS

Question ID : 2752286572

Q.14 The question below consist of a set of labelled sentences. Out of four options given, select
the most logical order of the sentences which form a paragraph.

The History of India begins with the Indus Valley Civilization and the coming of the Aryans.

P. The earliest literary source that sheds light on India's past is the Rig Veda.

Q. These two phases are generally described as the pre-Vedic and Vedic periods.

R. It is difficult to date this work with any accuracy on the basis of tradition and ambiguous
astronomical information contained in the hymns.

S. Indus valley civilization, which flourished between 2800 BC and 1800 BC, had an
advanced and flourishing economic system.

The Indus valley people practiced agriculture, domesticated animals, made tools ‘and
weapons from copper, bronze, and tin and even traded with some Middle East-countries.

Ans X A QPSR
X B.QSPR
X C.QRSP
«” D.QPRS

Question ID : 2752286574

Q.15 Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully. Select the option 'no correction required' if the
sentence is correct as given.

("Do everyone understand the instructions of the principal"), asked the teacher.
Ans X A "Does everyone understand the instructions of the principal”

25 B. No corrections required
«” C.'Does everyone understand the instructions of the principal?"

25 D. "Have everyone understood the instructions of the principal"

Question ID : 2752286563

Q.16 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

The annual rainfall received this (1)/ year dropped by 35 percent from last year causing (2)/
an extremely shortage of water in the state. (3)/ No Error (4)

Ans X A.The annual rainfall received this
«” B. an extremely shortage of water in the state.
#< C. year dropped by 35 percent from last year causing
25 D. No error

Question ID : 2752286558
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Q.17 Select the word that is opposite in meaning (ANTONYM) to the word given below

Partisan
Ans X A. Addressor

25 B. Inequitable
25 C. Separatist
«” D. Impartial

Question ID : 2752286576

Q.18 Fill in the blank with appropriate word.

His___________ theories; let alone be applicable, they couldn't even be properly
understood.

Ans X A. elaborated
«” B. convoluted
25 C.inconspicuous

25 D. abortifacient

Question ID : 2752286570

Q.19 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

Economist and Chief Executive Officer of the (1)/ Economic Growth Welfare, Charan Singh,
(2)/ shared his views on the dip in country’s GDP growth to 4.5 percent. (3)/ No, E(qr 4)

Ans X' A Economist and Chief Executive Officer of the 6.
«” B. shared his views on the dip in country’s GDP growth to 4.5 percg
7% C. No error 5

25 D. Economic Growth Welfare, Charan Singh,

,00\

Question ID : 2752286560

s\ *
Q.20 Some parts of a sentence have been jumbled u labelled P, Q, R and S. Select the
option that gives the correct sequence in whi ese parts can be rearranged to form a

meaningful and grammatically correct sentence.
"In his interaction with chief ministers

P. last week, Prime Minister Narendra Modi asked

Q. them for suggestions for an exit strategy

R. on March 24 to contain novel coronavirus outbreak."
S. to end the nationwide lockdown enforced

the reporter reported.
Ans X A PSRQ

X B.PQRS
«” C.PQSR
2 D.PRSQ

Question ID : 2752286573

Section : General English2
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Q.1 Four words are given, out of which only one word is spelt correctly. Choose the correctly
spelt word.

Ans X A.Imponderebel
#< B. Imponsterable
#< C.Impondarable
«” D. Imponderable

Question ID : 2752286584

Q.2 Select the word that is closest in meaning (SYNONYM) to the word given below

Vegetate
Ans X A.Modular

«” B. Languish

#< C. Decay
#5 D. Desire

Question ID : 2752286579

Q.3 Select the most appropriate meaning of the given idiom

To get into a scrape
Ans X A To surrender or give up a contest.

25 B. To be completely baffled by a particular event.
«” C. To find oneself in an awkward predicament. ‘\(\

#< D. To indulge in over refined arguments. 60

{\(bﬂ Question ID : 2752286587
K75

Q.4 Select the most appropriate meaning of the given idiom @S\\

To pour oil on troubled water $ .
Ans X A Things which do not mix and match. $

& B. To calm quarrels with pacifying word
25 C. To make matters worse

25 D. To tip carelessly

Question ID : 2752286586

Q.5 Four words are given, out of which only one word is spelt correctly. Choose the correctly
spelt word.

Ans X A.Chaffeur
«# B. Chauffeur
#< C. Chauffuer
#5 D. Chauffur

Question ID : 2752286580

Q.6 Four words are given, out of which only one word is spelt correctly. Choose the correctly
spelt word.

Ans X A Jurisprudense
#< B. Jurisprudanse
#< C. Jurisprudance
&# D. Jurisprudence

Question ID : 2752286582
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Q.7 Select the most appropriate meaning of the given idiom
Will o' the wisp
Ans X' A.Animpractical person.
#5 B. Quarrelling over trivial matters.
" C. Anything which eludes or deceives.

25 D. Alover of women's company.

Question ID : 2752286588

Q.8 Select the most appropriate 'one word' for the expressions given below

A person or state signing a treaty or other document jointly with others.
Ans X A Frater

#< B. Pauper
«” C. Cosignatory
#5 D. Cogent

Question ID : 2752286592

Q.9 Four words are given, out of which only one word is spelt correctly. Choose the correctly
spelt word.

Ans X A. Prespicisious
«# B. Perspicacious

25 C. Prespicaciuos ‘\(\
75 D. Prespicaious 60

(\(bﬂ Question ID : 2752286581

4
Q.10 Select the most appropriate ‘one word' for the expressi\o%.zﬁ@} below

ments or replies.

>

Conversation or speech characterized by quick, wiﬂ§o

Ans X' A. Matricide $
«” B. Repartee $
#< C. Groan
75 D. Aphasia

Question ID : 2752286589

Q.11 Select the word that is opposite in meaning (ANTONYM) to the word given below

Resplendent
Ans X A. Opaque

«” B. Lustreless
#< C. Brilliant

25 D. Transparent

Question ID : 2752286578
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Q.12 Select the most appropriate meaning of the given idiom

To pay off old scores
Ans X A To lead a life of dissipation

75 B. To be humble
25 C. To be a role model
«” D. To take revenge

Question ID : 2752286585

Q.13 Four words are given, out of which only one word is spelt correctly. Choose the correctly
spelt word.

Ans X A.Addandum
«” B. Addendum
#< C. Addanddum
#< D. Addenddum

Question ID : 2752286583

Q.14 Select the most appropriate ‘one word' for the expressions given below

One who spends money recklessly.
Ans X A Folio
«” B. Prodigal
25 C. Protégé ‘\(\

25 D. Rostrum 60

{\(bﬂ Question ID : 2752286591

2
Q.15 Select the most appropriate ‘one word' for the expressi 5(8@ below
Pleasant or sharp taste. \2\
Ans o A Piquant $$
#< B. Impious $
25 C. Saccharin
25 D. Siesta

Question ID : 2752286590
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Comprehension:
Read the following information carefully and answer the given questions.

By 5,000 BC the people of Egypt had begun farming. They also wove linen and made pottery.
Later they learned to use bronze. About 3,200 BC the Egyptians invented writing. The first
Egyptian in history was King Menes aka Narmer who lived shortly before 3,100 BC. At that
time Egypt was divided into northern (lower) Egypt and southern (upper Egypt). In 3118 BC
Menes managed to unite the two. He made Memphis his capital. Ancient Egypt was a highly
organized society. The country was divided into 42 areas called nomes. Each one was
governed by nomarch. Farmers paid part of their crops in taxes.

The first period of Egyptian history, which ended in 2181 BC is called the Old Kingdom. During
it the pharaohs-built pyramids. The first pyramid, the step pyramid was built by Zoser about
2665 BC. Others were built by the following pharaohs Sneferu and Khufu.

However central authority in Egypt eventually weakened. After about 1281 BC Egypt split into
parts and there were civil wars between the rival areas. This period of civil disorder is called
the First Intermediate Period and it lasted until 2055 BC. Finally, Mentuhotep Il succeeded in
reuniting Egypt and he founded the Middle Kingdom.

The Middle Kingdom lasted until 1650 BC. It was a great period of art and literature in Egypt.
Furthermore, the pharaohs carried out successful military campaigns and more pyramids
were built. However, the Middle Kingdom was followed by the Second Intermediate Period. At
about 1650 BC Palestinian people called the Hyksos seized power in northern Egypt. They
ruled from the city of Avaris. However native Egyptians continued to rule southern Egypt and
in 1550 BC they drove out the Hyksos and reunited Egypt. So began the New Kingdom. It
lasted from 1550 to 1070 BC. During this era, Egypt was rich and powerful once again. Egypt
controlled Nubia, the land to the south and invaded Palestine and Syria. Meanwhile, great new
temples were built at Thebes and pharaohs were buried in the Valley of the Kings. Then about
1364 BC, Akhenaten became pharaoh. He worshiped only the sun god Aten. However, his son
Tutankhamen worshiped the old gods.

SubQuestion No : 16

Q.16 When was Menes able to unite the two halves of Egypt?

Ans

X A.3200BC
< B.2181BC
o C.3118 BC
2 D.3100BC

Question ID : 2752286594
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Q.17
Ans

Comprehension:
Read the following information carefully and answer the given questions.

By 5,000 BC the people of Egypt had begun farming. They also wove linen and made pottery.
Later they learned to use bronze. About 3,200 BC the Egyptians invented writing. The first
Egyptian in history was King Menes aka Narmer who lived shortly before 3,100 BC. At that
time Egypt was divided into northern (lower) Egypt and southern (upper Egypt). In 3118 BC
Menes managed to unite the two. He made Memphis his capital. Ancient Egypt was a highly
organized society. The country was divided into 42 areas called nomes. Each one was
governed by nomarch. Farmers paid part of their crops in taxes.

The first period of Egyptian history, which ended in 2181 BC is called the Old Kingdom. During
it the pharaohs-built pyramids. The first pyramid, the step pyramid was built by Zoser about
2665 BC. Others were built by the following pharaohs Sneferu and Khufu.

However central authority in Egypt eventually weakened. After about 1281 BC Egypt split into
parts and there were civil wars between the rival areas. This period of civil disorder is called
the First Intermediate Period and it lasted until 2055 BC. Finally, Mentuhotep Il succeeded in
reuniting Egypt and he founded the Middle Kingdom.

The Middle Kingdom lasted until 1650 BC. It was a great period of art and literature in Egypt.
Furthermore, the pharaohs carried out successful military campaigns and more pyramids
were built. However, the Middle Kingdom was followed by the Second Intermediate Period. At
about 1650 BC Palestinian people called the Hyksos seized power in northern Egypt. They
ruled from the city of Avaris. However native Egyptians continued to rule southern Egypt and
in 1550 BC they drove out the Hyksos and reunited Egypt. So began the New Kingdom. It
lasted from 1550 to 1070 BC. During this era, Egypt was rich and powerful once again. Egypt
controlled Nubia, the land to the south and invaded Palestine and Syria. Meanwhile, great new
temples were built at Thebes and pharaohs were buried in the Valley of the Kings. Then about
1364 BC, Akhenaten became pharaoh. He worshiped only the sun god Aten. However, his son
Tutankhamen worshiped the old gods.

SubQuestion No : 17
According to the passage, which of the following given option is an incorrect statement?
& A. Nomes were governed by Nomarches.
" B. After the First Intermediate Period, the native Egyptians continued ¥§ Wffe upper Egypt
and in 1550 BC they drove out the Hyksos and reunited Egypt which beggfithe New Kingdom.
< C. The Middle Kingdom was founded by Mentuhotep Il and it lastedtill 1650 BC.

25 D. The Middle Kingdom unification was ended by Hyksos who)sieged the Northern Egypt
at about 1650.

Question ID : 2752286598




Join Telegram Group "HaryanadJobs.in"

Comprehension:
Read the following information carefully and answer the given questions.

By 5,000 BC the people of Egypt had begun farming. They also wove linen and made pottery.
Later they learned to use bronze. About 3,200 BC the Egyptians invented writing. The first
Egyptian in history was King Menes aka Narmer who lived shortly before 3,100 BC. At that
time Egypt was divided into northern (lower) Egypt and southern (upper Egypt). In 3118 BC
Menes managed to unite the two. He made Memphis his capital. Ancient Egypt was a highly
organized society. The country was divided into 42 areas called nomes. Each one was
governed by nomarch. Farmers paid part of their crops in taxes.

The first period of Egyptian history, which ended in 2181 BC is called the Old Kingdom. During
it the pharaohs-built pyramids. The first pyramid, the step pyramid was built by Zoser about
2665 BC. Others were built by the following pharaohs Sneferu and Khufu.

However central authority in Egypt eventually weakened. After about 1281 BC Egypt split into
parts and there were civil wars between the rival areas. This period of civil disorder is called
the First Intermediate Period and it lasted until 2055 BC. Finally, Mentuhotep Il succeeded in
reuniting Egypt and he founded the Middle Kingdom.

The Middle Kingdom lasted until 1650 BC. It was a great period of art and literature in Egypt.
Furthermore, the pharaohs carried out successful military campaigns and more pyramids
were built. However, the Middle Kingdom was followed by the Second Intermediate Period. At
about 1650 BC Palestinian people called the Hyksos seized power in northern Egypt. They
ruled from the city of Avaris. However native Egyptians continued to rule southern Egypt and
in 1550 BC they drove out the Hyksos and reunited Egypt. So began the New Kingdom. It
lasted from 1550 to 1070 BC. During this era, Egypt was rich and powerful once again. Egypt
controlled Nubia, the land to the south and invaded Palestine and Syria. Meanwhile, great new
temples were built at Thebes and pharaohs were buried in the Valley of the Kings. Then about
1364 BC, Akhenaten became pharaoh. He worshiped only the sun god Aten. However, his son
Tutankhamen worshiped the old gods.

SubQuestion No : 18

Q.18 What is the period of first civil disorder known as?

Ans

" A. The First Intermediate Period
< B. The Second Intermediate Period
25 C. Middle Kingdom

< D. Old Kingdom

Question ID : 2752286595
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Comprehension:
Read the following information carefully and answer the given questions.

By 5,000 BC the people of Egypt had begun farming. They also wove linen and made pottery.
Later they learned to use bronze. About 3,200 BC the Egyptians invented writing. The first
Egyptian in history was King Menes aka Narmer who lived shortly before 3,100 BC. At that
time Egypt was divided into northern (lower) Egypt and southern (upper Egypt). In 3118 BC
Menes managed to unite the two. He made Memphis his capital. Ancient Egypt was a highly
organized society. The country was divided into 42 areas called nomes. Each one was
governed by nomarch. Farmers paid part of their crops in taxes.

The first period of Egyptian history, which ended in 2181 BC is called the Old Kingdom. During
it the pharaohs-built pyramids. The first pyramid, the step pyramid was built by Zoser about
2665 BC. Others were built by the following pharaohs Sneferu and Khufu.

However central authority in Egypt eventually weakened. After about 1281 BC Egypt split into
parts and there were civil wars between the rival areas. This period of civil disorder is called
the First Intermediate Period and it lasted until 2055 BC. Finally, Mentuhotep Il succeeded in
reuniting Egypt and he founded the Middle Kingdom.

The Middle Kingdom lasted until 1650 BC. It was a great period of art and literature in Egypt.
Furthermore, the pharaohs carried out successful military campaigns and more pyramids
were built. However, the Middle Kingdom was followed by the Second Intermediate Period. At
about 1650 BC Palestinian people called the Hyksos seized power in northern Egypt. They
ruled from the city of Avaris. However native Egyptians continued to rule southern Egypt and
in 1550 BC they drove out the Hyksos and reunited Egypt. So began the New Kingdom. It
lasted from 1550 to 1070 BC. During this era, Egypt was rich and powerful once again. Egypt
controlled Nubia, the land to the south and invaded Palestine and Syria. Meanwhile, great new
temples were built at Thebes and pharaohs were buried in the Valley of the Kings. Then about
1364 BC, Akhenaten became pharaoh. He worshiped only the sun god Aten. However, his son
Tutankhamen worshiped the old gods.

SubQuestion No : 19

Q.19 Under which Pharaoh's rule was the first pyramid built?

Ans

25 A. Sneferu
< B. Menes
25 C. Khufu
" D. Zoser

Question ID : 2752286596
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Comprehension:
Read the following information carefully and answer the given questions.

By 5,000 BC the people of Egypt had begun farming. They also wove linen and made pottery.
Later they learned to use bronze. About 3,200 BC the Egyptians invented writing. The first
Egyptian in history was King Menes aka Narmer who lived shortly before 3,100 BC. At that
time Egypt was divided into northern (lower) Egypt and southern (upper Egypt). In 3118 BC
Menes managed to unite the two. He made Memphis his capital. Ancient Egypt was a highly
organized society. The country was divided into 42 areas called nomes. Each one was
governed by nomarch. Farmers paid part of their crops in taxes.

The first period of Egyptian history, which ended in 2181 BC is called the Old Kingdom. During
it the pharaohs-built pyramids. The first pyramid, the step pyramid was built by Zoser about
2665 BC. Others were built by the following pharaohs Sneferu and Khufu.

However central authority in Egypt eventually weakened. After about 1281 BC Egypt split into
parts and there were civil wars between the rival areas. This period of civil disorder is called
the First Intermediate Period and it lasted until 2055 BC. Finally, Mentuhotep Il succeeded in
reuniting Egypt and he founded the Middle Kingdom.

The Middle Kingdom lasted until 1650 BC. It was a great period of art and literature in Egypt.
Furthermore, the pharaohs carried out successful military campaigns and more pyramids
were built. However, the Middle Kingdom was followed by the Second Intermediate Period. At
about 1650 BC Palestinian people called the Hyksos seized power in northern Egypt. They
ruled from the city of Avaris. However native Egyptians continued to rule southern Egypt and
in 1550 BC they drove out the Hyksos and reunited Egypt. So began the New Kingdom. It
lasted from 1550 to 1070 BC. During this era, Egypt was rich and powerful once again. Egypt
controlled Nubia, the land to the south and invaded Palestine and Syria. Meanwhile, great new
temples were built at Thebes and pharaohs were buried in the Valley of the Kings. Then about
1364 BC, Akhenaten became pharaoh. He worshiped only the sun god Aten. However, his son
Tutankhamen worshiped the old gods.

SubQuestion No : 20
Q.20 When was the Middle Kingdom founded?
Ans X A 1650 BC

X B.2665BC
& C.2055BC
< D.2181BC

Question ID : 2752286597

Section : General Hindi1

Q.1 F=fafEd us A, IR faweul & @, 39 fAerea o1 9+ 1 51t faeia = o1 999 sres1 fAeeu 21
3
Ans X A TH
X B.ufag
o C.37d
< D. =

Question ID : 2752286608

Q.2 fA=fafad uw A, IR fereul & @, 39 faereq &1 == =2 it R 71T 2reg &1 dga =u gl
e
Ans X A. TifRad
25 B.T1Y
o C. e
X D=

Question ID : 2752286605
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Q.3 fA=fafaa uu d, arR Reeal 3 9, 39 fAeea o1 997 R St ucag @ 99 20 1 9t e gt
Ans X A fRug

< B. s
o C. 3eigH
X D. et

Question ID : 2752286603

Q.4 f=fafad usr §, ar el & |, 39 fRhea o1 999 &R St F A &1 98l faewea 81
Ans o A STEdl

X B. amar
72X C. améar
25 D. 3irdegn

Question ID : 2752286613

Q.5 f=fafaa us d, ar Rl § @, 39 T ey o1 wg= &1 it arain & fog g o 6
farerea gt
ISGEIEGISE R G

Ans X A IfOgh

«" B. e

25 C. 313=h .
< D. ey §\
&

Q

Question ID : 2752286609

&

Q.6 fA=faf@a uy A, aR fAereul # 4, 39 T faerea o1 aa9 2 - AeE-giH & o1 1 HE
faerea gt ®$

Ans o A Ty SR IfAfd $
25 B. 1y ofk uftr $
2 C. Iofem ok wfafy
< D. 1 3R 21k

Question ID : 2752286615

Q.7 fA=fafad uw d, ar faereul & @, 39 faerea &1 == &2 it Ry 7Y 2reg & yafger= e &1
T e 81 81

HAA

Ans X A SRUT
«” B. 3ifYE
25 C. =

25 D. YRy

Question ID : 2752286607
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Q.8 fA=fafad us A, IR el § @, 39 faereu &1 T &2 it Ry 7Y 2reg & gar=meff 2reg &1
e g g1

icE
Ans o A TOM
25 B. doUMaRel

25 C.arug
25 D. garewern

Question ID : 2752286614

Q.9 FafafEa ust A, 9r el & @, 36 ferea 1 aa7 FR St v aga= FU 1 999 =s1
faerea 81
Ans X A fefaar

o B.T@
X C.ad

&< D.

Question ID : 2752286617

Q.10 fA=fafaa us &, ar Reeal 7 @, 39 9 fawen &1 aa= & St Ry 71 21ez & T orf o1 sfa
faerea gt

RARR RS
Ans o A TR SR S°

25 B. TR 3R I 560

X C.5 iR amg (b.

X D. g 3R aTe (b.{\

Question ID : 2752286610

\o

Q.11 ﬁqﬁ@ausrﬁ,mhwﬁﬁ,mﬁmmg@waimmammmwau
CILG
Ans o A grex
X B.gfy
F
< D. fgor

Question ID : 2752286604

Q.12 Fr=fafEd un & 9R fereal & @, 39 frereq o1 oa= &3 5t Ry g ol 9fY fiede hr dfdy ar
gl faerea gt

it + SraER
Ans X A @R
X B. WifarR
o C. TR
25 D. TferamR

Question ID : 2752286599
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Q.13 f=fof@e usr 8, TR fereul 7 9, 30 Reed o1 wa7 & it 9a gfceit & aren fRaea 78 &1

Ans X A femm
& B. #qaEH
25 C.grH
«” D. Rifran

Question ID : 2752286616

Q.14 fA=faf@d us &, o Rereal 7 @, 39 ferea &1 Ta= R SiY 3207 20 1 Tt fRAerea g1
Ans o A T

75 B. WGER
X C.Fa®
K D.&R

Question ID : 2752286606

Q.15 f=fef@e vsr , oR fereul 7 9, 39 fased o1 w9+ & 51t Fivs J Ry 77 21 & SR s
Y aTHch T T Has 37T faehed 81

Ans X A. (SUR) BARY GERICT chl Ik folT Y=iae|
X B. (g3 31T €1 g Terd OR1 AR % &1 &
o C. (3T) M O I &1 =1y o
X D. (89) el oft i S 81 \(\

60 Question ID : 2752286618

A

Q.16 FA=afafad usr &, IR faereal 9 @, 39 9} ey w1 9ga R S ﬁﬁqm:ﬁm
gl faerea 21

Q
iR T G FRO AR g@maE \2\"0
Ans X A d &.

K\

& B. @ $

o C.9Id
< D. e

Question ID : 2752286611

Q.17 Fr=fafRa us &, aR Rereat d @, 39 Rerea &1 w7 R &t Rg g 21z & forg 9 agshif?
gAY & faug o1 faerea gt

St
Ans X A TR & TSt
X B.arR @St
o” C. IR § Afesar oraehl
#< D. TR S gt

Question ID : 2752286601
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Q.18 f=foifAa usr d, R el d 9, 39 fravea o1 991 R 51t 5 215 1 Tt Rhea g1
Ans o A TETEST

75 B. TS

X C.zuas

#< D. Zammeast

Question ID : 2752286612

Q.19 fA=faf@d usr &, aR fereal A 9, 39 fere &1 =a9 &R S U § a4 2reg &1 98 fAerea gt
Ans X A g

X B. fsem

o C. SifyeRzor

75 D. fereft

Question ID : 2752286602

Q.20 fF=fafE@d us & TR faereal # &, 39 farereq o1 wg= &3 it f2u 71Q 2ree & &) &Y =B &1
faerea gt

qeaTaret
Ans X A U + Tl
75 B. U + 37Taett
25 C.gear + areft ‘Q
o D. QT + 31ac! %§

Question ID : 2752286600

Section : General Hindi2

Q.1 fa=fafad uw A, ar et § 9, 39 farea &1 éﬁﬂnéamaiaﬂmﬂardmﬁm
8l $
TR T Gl gHT
Ans X A Y gamHT
75 B. g&I =T
X C. g
o D. ATTar g

Question ID : 2752286631

Q.2 fAm=fafad usr &, ar feedl & |, 39 Rdea &1 7= &R 5t & 71 ggrer o1 T oref are fwea
gl

T &1 AT
Ans o A T §31T 3:W TH: I1G 37T
25 B. 9gIIdT &heAT
72X C. dgeeht &
X D. 9qg g

Question ID : 2752286632
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Q.3 fA=fafaa uu d, arR el 3 Q, 39 faeeq o1 997 w2 it Ry 7y diels @1 agh aref arern
farea 81

JERY Y gl Sy Mars
Ans X A & forar war
X B. =2 armeH} ol i w@awT TE gl @
X C. 3w oft 7 drg ur
o D. Tmef et ot gl i et oA &

Question ID : 2752286629

Q.4 fF=faf@« vs d, IR fOredl & 9, 39 fAehed &1 99+ &R St g TR T Ha9 3=aT fAdhey 81
Ans X A SO grexaT ofR AR & hRoT drered IR Y & ufdg &1

25 B. 3701 graxdT 3R HhRARI & kU1 dremed O fay Rd 8 Ufng 8l

o C. 31O grexaT SR R & Ul aremgd IR sy & ufdng 81

75 D. 310t grexar ofR R R dremed IR sy 7 ufdng 81

Question ID : 2752286622

Q.5 fm=fafad usr #, ar el § 9, 39 fweu @1 9aa & 1t form Rig g+ ara &1 9 Reea
Gl
Ans X A 3 gl § IR §| g0 e, Hel 3R fohT avE ST 918 8, 7 e |

o B. 3 A og, "H R EI gA o, gl SR fohd aRg o1 91ed 8, ag =« l”
X C. 3 e, A AR E, g v, e R B RS R AR G, AR
75 D. & 7 Fg1 & FIR § gF e el iR fohe dxg @& a18d &, a8 e ol 606

(b'w Question ID : 2752286627
X

Q.6 ﬁwﬁ@auﬂﬁ,wﬁmﬁﬂ,wﬁmaﬂmaﬁa}%&)ﬁawmmaﬁﬁm
gl
Ans o A "Wl@ﬁmﬁﬂﬁﬁéaﬁ?@ﬁl"aﬁu@wl
#< B. 3g g o ) 7Y At Y seR T8 &' & ]|
X C. "o g o T i) S € ek B @ R s A e
25 D. "3Mg! gA at It 1Y S & 7k @ g <l wrEa 7 el

Question ID : 2752286626

Q.7 fA=fafad us & ar el & |, 39 Rieheu o1 aa= &R ot & 1< ggrer o1 Tg oref arer e
gl

i€} et
Ans X A ¢i@d gs
X B U fRAmgE
25 C. 3T § SaTeT & BT
o” D. gF TG SeT

Question ID : 2752286633
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Q.8 fA=fafaa uy A, arR el & @, 39 fAeeq o1 997 R it Ry 7y diels @1 agh oref arern
e g1

&t fee =R & gen e argaR &
Ans X A uRf&fq &t 7 gwgmn
o B. T Tk 7 Ueh R gt &) el @
X C.gosftadaum

75 D. g & TFR &1

Question ID : 2752286628

Q.9 fAmfafad usr &, ar Reeal & Q, 39 fAeea =1 9= & it form Rig g+ arewa &1 9 Reea
gl
Ans X A R5R Srrga idT, "SresT AMIgH T6! aaxl| | 39 d@a ST § ?

o B. IR Srergane ateT, "sr<e1 A1) gA 981 o3| & I9 @ STTar gl
& C. IR srehee SieTT- 3ot AMIgH T8t 363 & I8 W STTaT §
X D. RAGR 3rehga st 3resT A7 qH T6! 363 A I Saeh Tl §|

Question ID : 2752286625

Q.10 fA=faf@d us &, 9 fRereal 7 |, 39 faereu &1 =a= &= St T arera AW a1 faeheu gl

STt SfiRet g &1 & 9t A AT 81
Ans o A g T

X B.dgw A %\(\
X C. usraree are 60
5 D. = iRy 5
&
’b{\
6 Question ID : 2752286623
N2

Q.11 ﬁnﬁf@au&ﬁ,mﬁamﬁﬁﬂ,wﬁmmm@ié&qwahﬂﬁsmaﬂaﬁm
faerea 81 $

et orer 1 e @ T N\
Ans o A THS T EH T BT
X B. BI& AN &1 98 e & AT
X C. ifaa g
75 D. ST e i T8} T e §

Question ID : 2752286630

Q.12 fF=afoaf@d s &, TR faereal & |, 39 faerey o1 og= &3 St fey 71Q are & fAg uar & A &1
a9 a1 ey &1

11 foha=TT srest fora @I 8!
Ans X A fRcameids
75 B. SRl
X C. snargeides
& D. Srawetys

Question ID : 2752286621
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Q.13 f=faf@d usr d, arR Rereal 7 @, 39 Rievea o1 7= & sit g 7¢ arag & g gy & A @
a9 a1 faeeu g1

PUT ATSTR Tk ST 2T AT TAT1SC
Ans o A faemed
X B. wgrS
X C. Tdparef
75 D. R

Question ID : 2752286620

Q.14 fA=faf@d us &, 9 fRereal 7 @, 39 fereu &1 Ta= &R St Tt arera 3 a1 faereu gl

# ggd a1 &Yt iR off a9 78 uers T
Ans o A GYhH AR
< B. s arery
25 C. TRd arel

75 D. fQemarres arery

Question ID : 2752286624

Q.15 fA=fafaa us &, ar RAeeal 7 9, 39 RQeeu 1 9g= &R it Y 719 arery & et o1 gt fRAerea
gl

gg T at & oft R . (\
Ans X A 9= JfsgeRTed N
. %o

25 B. 31184 Ydhra 560

25 C. 9= ydere (b

o D. 3R qHE HiesgehTet @Q

,00\
\2\ Question ID : 2752286619

%\.
N

Comprehension:
ﬁw%@amaraﬁmﬁujmtr%qaﬁ?ﬁqmmﬂ&miﬁﬁm

B 31U T Rl A S IRl &1 hl hYIel UR HTehe I i Tad ST, I8 dgd IRId 8, 9§ X 8,
R g1 399 a3ft Tthel g1 STd deh &7 31U= 221 & it <2t At Sich-3Teh 7 THeT o | §AR 320 i &t aTdl
Y FoIY SITET TR ¢ | Top Afh-are 3R gurT Hicd-atey! 99, 6 98 THE o [oh gHART Gis off e gar
B STt &1 H hEeiikt i oa=T ot gt & | 57al g9 et oftf Ot waf o & fF AR A H ag 6l g1 @7 8, a8
TET 81 T@T &1 37U 32 Bl 1 3R g2k 327 ot 918 g vl €1 377 T hraf & g 320 o <1feh aiter ot
TRy I UEdT Y@ & SR 3 & T[S Ak ScT ol g1 &1 Y81 &1 5Td 87 Hg & 7 Usal T IuaiT
I | YT TR, TR, Tt 7141 & 3| Ta aehx | Q1 7ol et SfR St g fonelt oft =0 o 59 gefar
3R Tied ot gaR fohel sy & 39 oTelt &1 Ot 8HR GIRT 237 & Hig-aie ehY Sehs JITHTT o1 T@T & SR
BHR R 221 &l HEGpfd T el =1e ug 26T 81

SubQuestion No : 16
Q.16 39 @ I - T A& U T THETAT 212 81 87
Ans X A e
/< B.TER
X C.9k

o D. 3Tgf

Question ID : 2752286638
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Comprehension:

fr=farfEa merier et ermgdes ufey ofk iRy Mg weit & IR Sl

BH 10 T Bl I S IIEHA B I SEIET TR HHIR I el HEd STet, Ig Igd S1<d &, 96 YR &,
R g9 398 aft TRt g7 STaT Ak g9 31T &1 et oftast 21 ht Sich-3Teh T THST o | §HIR 32T oht &F aTdll
hT T TTET TR & | Gop Aoh-aie 3R guer Hied-atey! 99, g7 a8 99 o foh gART 1S oft sy g A
Bl ST 321 & SHESRY Y 9aT il 5 & oie g7 ot oft Tt maf d E fF gR S A ag el g1 @1 8, 7%
TE1 81 BT &1 70 32 I 81 3R gER 327 ot 918 g vl €1 371 9 hral © g9 3 & 1f<h &ty &t
WRIRR Tte TgdT @ & ofiR 321 ok Arfae AIHIRIch el T g1 &1 X1 & | 59 &H Hg ¥ 7S Uea} T Sy
A & | ST BR, SRR, Tt 71T 3@ 8| 9 dane ot ORT Te] ahel SR Seft ke fonelt oft 0 o o9 g
3R Hied ot gAR fohel) ST § 39 oTct &1t 8HR GIRT 237 & Tied-aie ehl SRR AT o1 @7 & SR
EHR ZRT 221 Y T At medt A g @ R

SubQuestion No : 17
Q.17 9 I1J<3T I his SuYwh Mefeh:
Ans X A 23R aT

X B. 31 it Rt
< C. e R gan
o D. BRI 321 3R g1 I

Question ID : 2752286639

Comprehension:

freffaa merer @t eamydes ufdy ok Ry mg s & 3R Sl

& 37U T ol 42T h SJhel BI Sl I TR U Tl hl 3Ted STdl, I8 Tgd SHd &, 9§ Yax &,
R g 399 aft Gthel gIT 519 deh &H 31U 327 T e} @x1T et Steh-oTeh 7 THE of | §HIR 330 ehl &t STl
T G SITET SR & | Teh Ah-arer 3R gErT Hicd-atey! 99, 6 98 THE o 1oh §HRT s, o] e 89T
Bl ST 31 H ShHSTIRY chl HTaAT ot ot | 59 g9 el oft Oft T aed & o AR 2 A ug =gl 81 @I §, a8
TET 81 BT &1 3704 32 ol 17 3R g2k 327 ot 918 g el €1 377 T hraf & g 331k Rifeh aiter ot
YRR Fe UgT 38 & SR 3 & TTfEh AT It T g1 &1 6T &1 STd 7 g Q97 AT ol IuFNT
R | SUAT R, TR, Tt 7161 & & Ta aehx T Q1 el el SfR St e foneht oft =0 o 519 g
3R Tigd ot gaR fohel) Sy T 39 oTelt &1 Ot 8HR GIRT 237 o Gigd-a1Y st Sehs JTHTd o1 T§T & SR
BHR GIRT &1 el LRI ol g4 I Ugd &l &l

SubQuestion No : 18
Q.18 &9 3uA 221 & AfF-aty A o TepR FeraT ugama 82
Ans X A. 231 T HHSTIRY hl 9T i et T S

o B. 3 I HATT Pl AT IR 27 F I hH
X C. foreht oft yopR Y ==l 7 oheeh
7< D. ag 221 I IR AT

Question ID : 2752286636
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Comprehension:

frafafad merier ot eagdes ufey SfiR Xy g usit & IR &g

& 37U T Bl 27 & IIH B Y B TR HID T Y 3HTed STel, Tg Igd 34 8, I5d YR 8,
R A G0 aft Gthel g7 STa deh &H 310X 227 T fiast €T &l Sich-aTeh 7 THeT of | §ATR 320 &l &t aral
H T ST T &1 Geh ATeh-aie 3R guer died-atey! a9, g1 ag a9 o foh gart iS oft vy gar A
B STt 31 H hASiRt bl AT bl ot | el g9 el off Oeft waf o & fF sAR A A ag el g1 T 8, 78
T2 81 BT &1 37U 32 i 8 3R gER 327 ot 918 g v €1 377 T hraf & g4 31 & 1fxh ater ot
PieRR de UgdT 38 & SfR 3 o TR ATeh It o1 g1 &) T8T &1 5id §H Hg & TS QUea} ehl JuanT
R § 1 SUAT R, TR, TTet 716} T & a9 S oft gt 1t o) ofik geft g fonelt oft w0 & oa gy
3R Tied ot gAR fohed) Sy T 3T T 1 It 8HR GIRT 330 & Tied-ate ehi Wdehs ST &7 28T & 3R
TR ERI 221 &l TG ! e e ug <& 2l

SubQuestion No : 19
Q.19 3173 & U FIAT ol 32T Fl FHIET TR FHA - T T 7Y 82
Ans X A 37U SIR i AT

7< B. GaQ Ugat 3 fd ot e
2 C. U el ol et o 1 &t arfga gt
«” D. TT et oY e et FOa S 31 o aifga gt

Question ID : 2752286635

Comprehension:

frffa merer s eamydes ufdy ok Ry mg msi & IR S

BH 37U ch1al chl 327 S SJchel B el Shf1d] TR ThEehy et hi 3MTed STel, Ig Igd IId &, 95 Yex &,
R g1 399 aft Tthet g7 STd deh &5 31U 327 h ofiast <7 Rl Sich-BTeh 7 THeT of | §AR &7 I &l a1l
& Y SATET SR 3| Yeh Aeh-aly 3R guvr died-aly! 39, g9 U8 THH o [oh GHRT hig, HI &hrd Qa1 7
Bl ST 321 & ShESTRY Y 9T il g &1 o1 g7 hoft oft St waf ad € fh R S A ag Agi g1 @1 8, 7%
T8 &Y BT &1 3 A7 Rt A 3R g 227t Rt A Rig v &1 5 T kil @ & 231 & Rifh st Rt
R Tie U I & 3R 221 o TrfReh HHRich oo o g1 1 38T 81 Sfel &6 He W ie; ereal ot Iugh
S 1 ST TR, U, TTelt 71t T &) e e off o1 gl e 3R gt g R oft w0 5w gl
3R died ot gAR fohel) ST & 39 Tt &1 Ot 8HR GIRT 237 & Gied-ale chY FFehs AT o1 @7 & SR
FHR GRT 22 &l Tepfal ot Mgl die uge @ 2|

SubQuestion No : 20
Q.20 321 F TRl ol Mg Ae wa wwredt g2
Ans X A. SIS 231 & 21f<h e cht YR dle A7t §

#< B. T4 &1 U 1T Bl FAREY T B &
X C. 59 99gS Sieh-STeh Ieidl &
o D. 5Ta1 321 o icd-ae ohl “Rieh SATETd UgTaT &

Question ID : 2752286637
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